FRGET] A

2025

BEBNBIETIREETR

YOU AROUND THE CNC TOOL EXPERTS

8




SHRINK FIT TOOL HOLDER SERIES

?&T}jmgﬂ

BE/NT

|
)

y lﬁ“ "

5
8




5 O0-N-w®

— E i CONTENT

‘HSK #A48JTJ# A Hsk SHRINK FIT TOOL HOLDER SERIES

-SBT A48 JIWHEH  SBT SHRINK FIT TOOL HOLDER SERIES

‘BT RETIHR R BT SHRINK FIT TOOL HOLDER SERIES

X %

62-63 64-71 72-77 78-84

SK 4TI AT sk SHRINK FIT TOOL HOLDER SERIES

LSRN

86-93 94-98 99-103




HIETINR

48

BETTHFES  [HEn

-2 EZ%¥  REFERENCE DETAILS

DIN 69893A

z

w2

e

m%

% 2

42 d3 d4 . b1 b2 b3 5l &

H10 H11 . in. J1  +0.04 H10 H10 @
HSK32A 32 | 24.007 | 17 [205]| 19 | 26 37 4 | 16 | 3.2 | 35 | 20 16 | 7205 | 9 | 7
HSK40A 40 | 30.007 | 21 |25.5| 23 | 34 45 4 | 20 4 35 | 20 16 | 805 |11 | 9
HSK50A 50 | 38.009| 26 | 32 | 29 | 42 59.3 7 | 25 5 42 | 26 18 | 10.54 | 14 | 12
HSK63A 63 | 48.010 | 34 | 40 | 37 53 72.3 7 | 32 | 63| 42 | 26 18 | 1254 | 18 | 16
HSK80A 80 | 60.012| 42 | 50 | 46 | 67 88.8 7 | 40 8 42 | 26 18 | 16.04 | 20 | 18
HSK100A 100 | 75.013 | 53 | 63 58 | 8 |109.75| 7 | 50 10 | 45 | 29 | 20 | 20.02 | 22 | 20

ST

pa

OHERE: < AT3

OEAHE: 20CrMnTi/15CrMo

OfEE: HRC56° BHIRE > 0.8mm

OERE: < 0.8um

OFMEMEME: Ra < 0.5um

O NINETIRARERNTE G6.3, TRIMESEREBHNTE G2.5
OZYKR#SE: DIN 69893-1

Features:

© Taper tolerance < AT3.

© Basic Material:20CrMnTi/15CrMo.

© Hardness > HRC56° Carbon depth > 0.8mm.
© Roundness < 0.8um.

© Surface roughness:Ra < 0.5um.
© The shank has pre-balance at G6.3, and can provide percision balance at G2.5, made by request.
© Shank body standard:DIN69893-1.




HIZTIN

ciﬁgﬁs BLETI 5 FE 5

-Z2EZ%#  REFERENCE DETAILS

DIN 69893E

d2

Bl

8 7]

ERL]

CE

2 31
HSK25E 25 19 14 16.4 15 20 28.5 2 13 2.5 20 10 4.5
HSK32E 32 24 17 21 19 26 37 3 16 3.2 35 20 16
HSK40E 40 30 21 25.5 23 34 45 4 20 4 35 20 16
HSK50E 50 38 26 32 29 42 59.3 7 25 5 42 26 18
HSK63E 63 48 34 40 37 53 72.3 7 32 6.3 42 26 18

R

E:

OEIEE: < AT3

OEAME: 20CrMnTi/15CrMo

OEE: HRC56° EHFRE > 0.8mm

OHREE: < 0.8um

OFMEMMEE: Ra < 0.5pm

O TIFETIRIRERN T G6.3, TBIMEERZHFEE G2.5
©ZA{AM3E: DIN 69893-5

Features:

© Taper tolerance < AT3.

© Basic Material:20CrMnTi/15CrMo.

© Hardness > HRC56° Carbon depth > 0.8mm.

© Roundness < 0.8um.

© Surface roughness:Ra < 0.5um.

© The shank has pre-balance at G6.3, and can provide percision balance at G2.5, made by request.
© Shank body standard:DIN69893-5.



HIETINR

HETIHFESY cﬁﬁﬁs

-BEER REFERENCE DETAILS

DIN 69893F

£

2

%3

(]

A

5%
HSK50F 50 30.007 21 25.5 23 42 59.3 7 20 4 42 26 18
HSK63F 63 38.009 26 32 29 53 72.3 7 25 5 42 26 18
HSK8OF 80 48 34 40 37 67 88.8 7 32 6.3 42 26 18

ST

i

OHERE: < AT3

OEARHBE: 20CrMnTi/15CrMo

OE: HRC56° BHFE > 0.8mm

OHEEE: < 0.8um

OFMEMME: Ra < 0.5pm

O TIFETIRIRERN T G6.3, TBIMEERZHMEE G2.5
OZA{AM5E: DIN 69893-6

Features:

© Taper tolerance < AT3.

© Basic Material:20CrMnTi/15CrMo.

© Hardness > HRC56° Carbon depth > 0.8mm.

© Roundness < 0.8um.

© Surface roughness:Ra < 0.5pum.

© The shank has pre-balance at G6.3, and can provide percision balance at G2.5, made by request.
© Shank body standard:DIN69893-6.




TR

ciﬁgﬁs BLETI 5 FE 5

-HSK40E-SLK #A 4 B it A HSK40E-SLK SEMI-FINISHED SHRINK FIT CHUCK

HSK. NO D i

#M 1% Model

45 HSK40E-SLK12-85 105 85 65 20 43 38 40 38 34 34 0.6
/

Z

o T

w
I
=
=
~
I
=
=
o
[s]
=
=
o
=
=]
m
o
w
m
=
m
wn

? $Ll KE Length (L1)
[\ Connection size
Ih8

BEfLS Holder type
SEFRFZ T Taper size

-HSK50E-SLK #A 48 EL fit % HSK50E-SLK SEMI-FINISHED SHRINK FIT CHUCK

#M 1% Model L L1 L2 L3 L4 D D1 d =8 KGS
HSK50E-SLK12- 75 100 75 49 26 31.5 50 41 38 0.8
=120 145 120 94 26 31.5 50 41 38 1.3
Mg RA:

? ?Ll E Length (L1)
# A\ Connection size
If

#ELS Holder type
HEFRAZ T Taper size

__ 04



HIETINR

48

BETTHFES  [HEn

-HSK40A-SLK A 45 & Gl ik HSK40A-SLK SEMI-FINISHED SHRINK FIT CHUCK

HSK. NO D 3°

c‘.c

o

L4
L3 L2
L1
L
#M 4% Model L L1 L2 L3 L4 D D1 D2 d EE KGS
HSK40A-SLK12- 90 110 90 70 20 45 40 38 34 34

L]
7
UiZ]
=

(%)
e
=
=z
=
)
=
=
o
@
-
x
o
=
o
m
o
)
m
2
m
h

MR EER:

$Ll £ Length (L1)
#£[OK/)\ Connection size

IHEERS Holder type
SRR Taper size

=

-HSK50A-SLK # 45 & Gl ik HSK50A-SLK SEMI-FINISHED SHRINK FIT CHUCK

HSK. NO D

L3
L1
L
# #% Model L2 L3 L4 D D1 d FE KGS
HSK50A-SLK12- 75 100 75 49 26 31.5 50 41 38 0.8
=120 145 120 94 26 31.5 50 41 38 1.3

A EER:

T FLl K E Length (L1)
[ A/)\ Connection size
I

8EXS Holder type
$# K]\ Connection size




HIZTIN

ciﬁgﬁs BLETI 5 FE 5

-HSK63A-SLK #A45E M  Hske3A-SLK SEMI-FINISHED SHRINK FIT CHUCK

S
8 7]
ERL]
CE
2 51
@ HSK. NO D
3°
) e P — R
s |
o [ L5
L3 T L4
L2
L1
L
# % Model () D D1 D2 d FIG E= KGS
HSK63A-SLK12- 75 107 75 49 26 - - 63 42.5 - 38 1 1.2
=135 167 135 109 26 86 - 63 47 - 38 2 2
=165 197 165 139 26 86 - 63 47 - 38 2 2.4
=200 232 200 174 26 145 86 63 47 52 38 3 2.9
=225 257 225 199 26 145 86 63 47 52 38 3 3.2
=255 287 255 229 26 175 86 63 47 52 38 3 3.8
=285 317 285 259 26 205 86 63 47 52 38 3 4.5
=315 347 315 289 26 235 86 63 47 52 38 3 4.5
AL A
?Ll KE Length(L1)
&)\ Collect model
I8E1XS Holder type
RS, Shank size



HIETINR

48

BETTHFES  [HEn

-HSKT100A-SLK A4 Bt A HSK100A-SLK SEMI-FINISHED SHRINK FIT CHUCK

FlG. 2

HSK. NO
12°
- - - M- =S 7 2
45 3
(@) 7] 2
L= e
L4 % E
L3 5l 3
# 4% Model L L1 L2 L3 L4 D D1 D2 DE} d FIG = KGS
HSK100A-SLK12=-105 155 105 76 29 33 100 42 65 78 38 1 3.8
=135 185 135 106 29 33 100 45 65 78 38 1 4.2
-165 215 165 136 29 33 100 48 65 78 38 2
=225 275 225 196 29 33 100 55 65 78 38 2 5.4
=265 315 265 236 29 33 100 59 65 78 38 2 6.5
=315 365 315 286 29 33 100 65 65 78 38 2

MR

T E L1 #EE Length (L1)
%[0k Collect model

IHEEfLS Holder type
SEFRAZ T Shank size




HIZTIN

c?%(%%s BLETI 5 FE 5

‘CR ?&?ﬁﬂﬁﬁ (*I'T‘;E%x ) CR HEAT SHRINKABLE EXTENSION ROD (STANDARD)

FIG. 1 ) 3°
—
-#*— N
——— M10%1. 5

FIG. 2

e e e ————

e t—— "

#
S
)|
iZ]
ES
il

w
I
=
=
=
I
=
=
o
[s]
=)
=
o
=
=]
m
=
w
m
=
m
wn

L4 ESafety sign =E o

l— Thickness
. ,

L ) o}
Z a BESRKE
L5 Minimum clamping length
TIERRBAKE

L6 Maximum insertion depth

M 1 Model L L1 L2 L3 L4 L5 ) L7 D D1 d t FIG EEKGS
CR12- 3- 35 80 35 22 3.5 9.5 12 = = 7.5 9.9 3 2.25 1 0.2
= 55 100 55 42 3.5 9.5 12 = = 7.5 12 3 2.25 1 0.2
- 80 125 80 67 3.5 9.5 12 = = 7.5 14.6 3 2.25 1 0.2
- 4- 35 80 35 22 3.5 9.5 16 = = 10 12.4 4 3 1 0.2
= 55 100 55 42 3.5 9.5 16 = = 10 14.5 4 3 1 0.2
- 80 125 80 67 3.5 9.5 16 = = 10 171 4 3 1 0.2
=110 155 110 97 3.5 9.5 16 = = 10 20.2 4 3 1 0.25
= 5= 35 80 35 22 3.5 9.5 18 = = 11 13.3 5 3 1 0.2
= 55 100 55 42 3.5 9.5 18 = = 11 15.4 5 3 1 0.2
= 80 125 80 67 3.5 9.5 18 = = 11 18.1 5 3 1 0.2
=110 155 110 97 3.5 9.5 18 = = 11 21.2 5 3 1 0.25
= 6= 35 80 35 22 3.5 9.5 23 = = 12 14.4 6 3 1 0.2
= 55 100 55 42 3.5 9.5 23 = = 12 16.5 6 3 1 0.2
= 80 125 80 67 3.5 9.5 23 = = 12 19.1 6 3 1 0.2
=110 155 110 97 3.5 9.5 23 - - 12 22.2 6 3 1 0.25
- 8- 35 80 35 22 3.5 9.5 27 = = 14 16.4 8 3 1 0.2
= 55 100 55 42 3.5 9.5 27 = = 14 18.5 8 3 1 0.2
= 80 125 80 67 3.5 9.5 27 = = 14 21.1 8 3 1 0.3
=110 155 110 97 3.5 9.5 27 - - 14 24.2 8 3 1 0.35
-10- 35 80 35 22 3.5 9.5 32 42 = 16 18.4 10 3 1 0.2
= 55 100 55 42 3.5 9.5 32 42 = 16 20.5 10 3 1 0.2
= 80 125 80 67 3.5 9.5 32 42 = 16 23.1 10 3 1 0.3
=110 155 110 97 3.5 9.5 32 42 86 16 25.1 10 3 2 0.35
-12- 35 80 35 22 3.5 9.5 37 48 - 20 22.4 12 4 1 0.2
= 55 100 55 42 3.5 9.5 37 48 = 20 24.5 12 4 1 0.2
- 80 125 80 67 3.5 9.5 37 48 48 20 25.5 12 4 2 0.3
=110 155 110 97 3.5 9.5 37 48 48 20 25.1 12 4 2 0.35




HIETINR

48

BETRES e

-CS AYEAEHF (GEEEER)  HEAT SHRINKABLE EXTENSION ROD (THIN WALL STYLE)

,_
=

FIG. 1 ) 3°
— =
-M—Wh— M10*1.5
& I
-"w
- — . = .'- '__\_--—"'V—a— —
8 / FIG. 2
fainSsatety o M10%1. 5 |
Z4id SSafety sign ey )
Thickness n
A i z
L PR .
Z 72 RIS 45 3
L5 Minimum clamping length 7 E
TIRBRKEAKE e
L6 Maximum insertion depth ,z-fig
2

D d

CS12- 3- 35 80 35 22 3.5 9.5 12 = = 6 8.4 3 1.5 1 0.2
= 55 100 55 42 3.5 9.5 12 = = 6 10.5 3 1.5 1 0.2

- 80 125 80 67 3.5 9.5 12 - - 6 13.1 3 1.5 1 0.2
=110 155 | 110 97 3.5 9.5 12 = = 6 16.2 3 1.5 1 0.25

- 4- 35 80 35 22 3.5 9.5 16 = = 7 9.4 4 1.5 1 0.2
= 55 100 55 42 3.5 9.5 16 = = 7 11.5 4 1.5 1 0.2

- 80 125 80 67 3.5 9.5 16 - - 7 14.1 4 1.5 1 0.2
=110 155 | 110 97 3.5 9.5 16 = = 7 17.2 4 1.5 1 0.25

- 5- 35 80 35 22 3.5 9.5 18 = = 8 10.4 5 1.5 1 0.2
= 55 100 55 42 3.5 9.5 18 = = 8 12.5 5 1.5 1 0.2

- 80 125 80 67 3.5 9.5 18 = = 8 15.1 5 1.5 1 0.2
=110 155 | 110 97 3.5 9.5 18 = = 8 18.2 5 1.5 1 0.25

- 6- 35 80 35 22 3.5 9.5 23 = = 9 11.4 6 1.5 1 0.2
= 55 100 55 42 3.5 9.5 23 o = 9 13.5 6 1.5 1 0.2

- 80 125 80 67 3.5 9.5 23 = = 9 16.1 6 1.5 1 0.2
=110 155 | 110 97 3.5 9.5 23 - - 9 19.2 6 1.5 1 0.25
-7- 35 80 35 22 3.5 9.5 25 = = 10 12.4 7 1.5 1 0.2
- 55 100 55 42 3.5 9.5 25 = = 10 14.5 7 1.5 1 0.2

- 80 125 80 67 3.5 9.5 25 = = 10 171 7 1.5 1 0.2
=110 155 | 110 97 3.5 9.5 25 = = 10 20.2 7 1.5 1 0.25

- 8- 35 80 35 22 3.5 9.5 27 = = 11 13.4 8 1.5 1 0.2
- 55 100 55 42 3.5 9.5 27 = = 11 15.5 8 1.5 1 0.2

- 80 125 80 67 3.5 9.5 27 = = 11 18.1 8 1.5 1 0.2
=110 155 | 110 97 3.5 9.5 27 = = 11 21.2 8 1.5 1 0.25
-9-35 80 35 22 3.5 9.5 29 42 = 12 14.4 9 1.5 1 0.2
- 55 100 55 42 3.5 9.5 29 42 = 12 16.5 9 1.5 1 0.2

- 80 125 80 67 3.5 9.5 29 42 = 12 19.1 9 1.5 1 0.2
=110 155 | 110 97 3.5 9.5 29 42 = 12 22.2 9 1.5 1 0.25
=10- 35 80 35 22 3.5 9.5 32 42 = 13 15.4 10 1.5 1 0.2
- 55 100 55 42 3.5 9.5 32 42 = 13 17.5 10 1.5 1 0.2

- 80 125 80 67 3.5 9.5 32 42 = 13 20.1 10 1.5 1 0.2
=110 155 | 110 97 3.5 9.5 32 42 = 13 23.2 10 1.5 1 0.25
=11- 35 80 35 22 3.5 9.5 34 44 = 14 16.4 11 1.5 1 0.2
- 55 100 55 42 3.5 9.5 34 44 = 14 18.5 11 1.5 1 0.2

- 80 125 80 67 3.5 9.5 34 44 = 14 21.1 11 1.5 1 0.2
=110 155 | 110 97 3.5 9.5 34 44 = 14 24.2 11 1.5 1 0.25
=12- 35 80 35 22 3.5 9.5 37 48 = 15 17.4 12 1.5 1 0.2
- 55 100 55 42 3.5 9.5 37 48 = 15 19.5 12 1.5 1 0.2

- 80 125 80 67 3.5 9.5 37 48 = 15 22.1 12 1.5 1 0.2
=110 155 | 110 97 3.5 9.5 37 48 95 15 25 12 1.5 2 0.25




TR

c&(%fs BLETI 5 FE 5

-HSK32A-SF A48 J1#A (4.5 FEARMERY)  oksaa-SF SHRINK FITTOOL HOLDER (4.5° STANDARD VERSION)

FIG. 1
HSK. NO

—T=ig

D2

L1

g éjfjﬁ 5 e —'GI o a
EX ]
s &
% 1l
# 4% Model L L1 L2 L3 L4 L5 D D1 D2 d T T1 FIG ZE= KGS
HSK32A-SF03-65 81 65 | 45 | 20 12 = 32 15 | 20 3 = = 1 0.2
=SF04-65 81 65 | 45 | 20 16 = 32 15 | 20 4 = = 1 0.2
=-SF05-65 81 65 | 45 | 20 18 = 32 15 | 20 5 = = 1 0.2
=SF06-75 91 75 55 | 20 | 26 36 32 | 21 26 6 M5*0.8P M6*1.0P 2 0.3
=SF08-75 91 75 55 | 20 | 26 36 32 | 21 26 8 M6*1.0P M6*1.0P 2 0.3
=SF10-75 91 75 55 | 20 32 | 42 32 | 24 | 29 10 M8*1.0P M6*1.0P 2 0.4
=-SF12-80 96 | 80 | 60 | 20 37 | 47 32 | 24 | 29 12 | M10*1.0P M6*1.0P 2 0.4
A% RE:

@Ll K Length(L1)
JIFFE 1R Diameter
Ih8

BE{X S Holder type
$ARAZ T, Taper size



HIETINR

48

BETTHES  [HEmn

-HSKA40A-SF A48 71 1#A (4.5 FEARMEEY)  Hokaoa-5F SHRINK FITTOOL HOLDER (4.5 STANDARD VERSION)

FlG. 1

HSK. NO D

i 2
5 3
o
A
514
# # Model L L1 L2 L3 L4 D D1 D2 o] R FIG B2 KGS
HSK40A-SF03- 60 80 60 40 20 12 40 15 20 3 5 1 0.3
=120 140 120 100 20 12 40 15 20 3 5 2 0.4
=160 180 160 140 20 12 40 15 25 3 5 2 0.5
=SF04- 60 80 60 40 20 16 40 15 20 4 5 1 0.3
=120 140 120 100 20 16 40 15 20 4 5 2 0.4
-160 180 160 140 20 16 40 15 25 4 5 2 0.5
=-SF05- 60 80 60 40 20 18 40 15 20 5 5 1 0.3
=120 140 120 100 20 18 40 15 20 5 5 2 0.4
=160 180 160 140 20 18 40 15 25 5 5 2 0.5
FAS 5L RE:

? @Ll KE Length (L1)
JIMFE 1R Diameter
Lf

IHRE{X S Holder type
SERRAZT, Taper size




HIZTIN

4

CNCTOOLS

-HSK40A-SF A48 7]HR (4.5 EiRER)

1%
I
=
=4
A&
- 45
g7
8
I
3
xR
o
§§|J
a

HETIHFE S

HSK40A-SF SHRINK FIT TOOL HOLDER (4.5° STANDARD VERSION)

—
r\f
4.5"!_

L1

# & Model d T T1 FIG =& KGS

HSK40A-SF06- 80 100 | 80 60 20 26 36 40 21 27 6 M5*0.8P M6*1.0P 1 0.4
=120 140 | 120 | 100 | 20 26 36 40 21 27 6 M5*0.8P M6*1.0P 2 0.6

=160 180 | 160 | 140 | 20 26 36 40 21 27 6 M5*0.8P M6*1.0P 2 0.7

=SF08- 80 100 | 80 60 20 26 36 40 21 27 8 M6*1.0P M6*1.0P 1 0.4

=120 140 | 120 | 100 | 20 26 36 40 21 27 8 M6*1.0P M6*1.0P 2 0.6

=160 180 | 160 | 140 | 20 26 36 40 21 27 8 M6*1.0P M6*1.0P 2 0.7

=SF10- 80 100 | 80 60 20 32 | 42 | 40 24 32 10 M8*1.0P M6*1.0P 1 0.5

=120 140 | 120 | 100 | 20 32 42 40 24 32 10 M8*1.0P M6*1.0P 2 0.7

=160 180 | 160 | 140 | 20 32 42 40 24 32 10 M8*1.0P M6*1.0P 2 0.8

=SF12- 90 110 | 90 70 20 37 47 40 24 32 12 M10*1.0P M6*1.0P 1 0.5

=120 140 | 120 | 100 | 20 37 47 40 24 32 12 M10*1.0P M6*1.0P 2 0.7

=160 180 | 160 | 140 | 20 37 47 40 24 32 12 M10*1.0P M6*1.0P 2 0.8

=SF14- 90 110 | 90 70 20 37 47 40 27 34 14 M10*1.0P M6*1.0P 1 0.6

=120 140 | 120 | 100 | 20 37 47 40 27 34 14 M10*1.0P M6*1.0P 2 0.8

=160 180 | 160 | 140 | 20 37 47 40 27 34 14 M10*1.0P M6*1.0P 2 0.9

=SF16- 90 110 | 90 70 20 40 50 40 27 34 16 M12*1.0P M6*1.0P 1 0.5

=120 140 | 120 | 100 | 20 40 50 40 27 34 16 M12*1.0P M6*1.0P 2 0.7

=160 180 | 160 | 140 | 20 40 50 40 27 34 16 M12*1.0P M6*1.0P 2 0.8

g RE:

F Diameter

@_l {E Length (L1)

IhE ﬁ-g Holder type

AR Taper size




HIETINR

HETIHFESY cﬁﬁﬁs

-HSK50A-SF A48 JI4R (4.5 EHREERY)  oksoa-SF SHRINK FITTOOL HOLDER (4.5 STANDARD VERSION)

FIG. 1
HSK. NO ‘ D
L4
9 — <158
L2
L1
KA» §
=4
I
< gﬁg‘
L2 E4
L1 5l 8
L a
# 1% Model D2 d R FIG EE KGS
HSK50A-SF03- 80 105 | 80 | 54 | 26 12 50 15 20 3 5 1 0.4
=120 145 | 120 | 94 | 26 12 50 15 20 3 5 2 0.5
-160 185 | 160 | 134 | 26 12 50 15 25 3 5 2 0.6
-SF04- 80 105 | 80 | 54 | 26 16 50 15 20 4 5 1 0.5
-120 145 | 120 | 94 | 26 16 50 15 20 4 5 2 0.6
-160 185 | 160 | 134 | 26 16 50 15 25 4 5 2 0.7
-SF05- 80 105 | 80 | 54 | 26 18 50 15 20 5 5 1 0.5
-120 145 | 120 | 94 | 26 18 50 15 20 5 5 2 0.6
=160 185 | 160 | 134 | 26 18 50 15 25 5 5 2 0.7

MR

@Ll {E Length (L1)
JI#FE 1R Diameter
I8

BEX S Holder type
$EARFZ T, Taper size




HIZTIN

4

CNCTOOLS

‘HSK50A-SF #A4857]HR (4.5 EiRER)

FIG. 1

HETIHFE S

HSK. NO

L3

T1 L5

L4

_||
45°

D2

L2

L1

HSK50A-SF SHRINK FIT TOOL HOLDER (4.5 ° STANDARD VERSION)

L5
L4
. e
¥ =
871
I
% 5l
#1#& Model 15 D D1 D2 d T T1 FIG ZE= KGS
HSK50A-SF06- 80 105 | 80 | 54 | 26 | 26 | 36 | 50 | 21 | 27 | 6 M5*0.8P M6*1.0P | 1 0.7
-120 145|120 | 94 | 26 | 26 | 36 | 50 | 21 | 27 | 6 M5*0.8P M6*1.0P | 2 0.8
-160 185|160 | 134 | 26 | 26 | 36 | 50 | 21 | 27 | 6 M5*0.8P M6*1.0P | 2 0.9
-SF08- 80 105 | 80 | 54 | 26 | 26 | 36 | 50 | 21 | 27 | 8 M6*1.0P M6*1.0P | 1 0.6
-120 145|120 | 94 | 26 | 26 | 36 | 50 | 21 | 27 | 8 M6*1.0P M6*1.0P | 2 0.8
-160 185|160 | 134 | 26 | 26 | 36 | 50 | 21 | 27 | 8 M6*1.0P M6*1.0P | 2 0.9
-SF10- 85 110 | 85 | 59 | 26 | 32 | 42 | 50 | 24 | 32 | 10 | M8*1.0P M6*1.0P | 1 0.7
=120 145 | 120 | 94 | 26 | 32 | 42 | 50 | 24 | 32 | 10 | M8*1.0P M6*1.0P | 2 0.8
-160 185|160 | 134 | 26 | 32 | 42 | 50 | 24 | 32 | 10 | M8*1.0P M6*1.0P | 2 0.9
-SF12- 90 115| 90 | 64 | 26 | 37 | 47 | 50 | 24 | 32 | 12 | M10*1.0P | M6*1.0P | 1 0.7
-120 145|120 | 94 | 26 | 37 | 47 | 50 | 24 | 32 | 12 | M10*1.0P | M6*1.0P | 2 0.8
-160 185 | 160 | 134 | 26 | 37 | 47 | 50 | 24 | 32 | 12 | M10*1.0P | M6*1.0P | 2 0.9
-SF14- 90 115| 90 | 64 | 26 | 37 | 47 | 50 | 27 | 34 | 14 | M10*1.0P | M6*1.0P | 1 0.7
-120 145|120 | 94 | 26 | 37 | 47 | 50 | 27 | 34 | 14 | M10*1.0P | M6*1.0P | 2 0.8
-160 185|160 | 134 | 26 | 37 | 47 | 50 | 27 | 34 | 14 | M10*1.0P | M6*1.0P | 2 0.9
-SF16- 95 120 | 95 | 69 | 26 | 40 | 50 | 50 | 27 | 34 | 16 | M12*1.0P | M6*1.0P | 1 0.7
=120 145|120 | 94 | 26 | 40 | 50 | 50 | 27 | 34 | 16 | M12*1.0P | M6*1.0P | 2 0.8
-160 185 | 160 | 134 | 26 | 40 | 50 | 50 | 27 | 34 | 16 | M12*1.0P | M6*1.0P | 2 0.9
-200 185 | 160 | 134 | 26 | 40 | 50 | 50 | 27 | 34 | 16 | M12*1.0P | M6*1.0P | 2 0.9
-SF18- 95 120 | 95 | 69 | 26 | 40 | 50 | 50 | 33 | 42 | 18 | M12*1.0P | M6*1.0P | 1 0.9
=120 145|120 | 94 | 26 | 40 | 50 | 50 | 33 | 42 | 18 | M12*1.0P | M6*1.0P | 2 1
-160 185|160 | 134 | 26 | 40 | 50 | 50 | 33 | 42 | 18 | M12*1.0P | M6*1.0P | 2 11
-200 185 | 160 | 134 | 26 | 40 | 50 | 50 | 33 | 42 | 18 | M12*1.0P | M6*1.0P | 2 1.1
-SF20-100 125|100 | 74 | 26 | 42 | 52 | 50 | 33 | 42 | 20 | M16*1.0P | M6*1.0P | 1 0.9
=120 145|120 | 94 | 26 | 42 | 52 | 50 | 33 | 42 | 20 | M16*1.0P | M6*1.0P | 2 1
=160 185 | 160 | 134 | 26 | 42 | 52 | 50 | 33 | 42 | 20 | M16*1.0P | M6*1.0P | 2 11
AL A

T

BE1XS Holder type

$HFRAZ I Taper size

L1 4£E Length (L1)
12 Diameter




HIETINR

48

BETTHES  [HEmn

‘HSK63A-SF A48 JI4A (4.5 FEAREERY)  Hokean-SF SHRINK FITTOOL HOLDER (4.5° STANDARD VERSION)

FIG. 1

4

NI =%

S3RI3S ¥IATOH 100L LI4 XNRIHS

=

# # Model L L1 L2 L3 L4 D D1 D2 d R FIG ZE=KGS

HSK63A-SF03- 80 112 80 54 26 12 63 15 20 3 5 1 0.7
=120 152 | 120 94 26 12 63 15 20 3 5 2 1.1

-160 192 | 160 134 26 12 63 15 25 3 5 2 1.3

-SF04- 80 112 80 54 26 16 63 15 20 4 5 1 0.7

=120 152 | 120 94 26 16 63 15 20 4 5 2 1.1

=160 192 | 160 134 26 16 63 15 25 4 5 2 1.3

-SF05- 80 112 80 54 26 18 63 15 20 5 5 1 0.7

-120 152 | 120 94 26 18 63 15 20 5 5 2 1.1

-160 192 | 160 134 26 18 63 15 25 5 5 2 1.3

A% BE:

@Ll K[E Length(L1)
JI¥FE 1 Diameter
1)

IhEEfX S Holder type
SEAZI Taper size




HIZTIN

i&%ﬂiﬁﬁi”ﬁ%ﬂ

‘HSK63A-SF A4 JI4A (4.5 FEARMERY)  Hokeaa-SF SHRINK FITTOOL HOLDER (4.5° STANDARD VERSION)

FI1G. 1

FIG. 2

FIG. 3  Hsk.NO . D

S3R43S ¥IATOH 100L LH XNRIHS
SN

D2

i

HSK63A-SF06- 80 [112|80 | 54 | 26 | 26 | 36 = 63|21|27| - | 6 | M5*0.8P M6*1.0P | 3 1 0.8
=120 [152|120| 94 | 26 | 26 | 36 - 63 (21|27 - | 6 | M5*0.8P M6*1.0P | 10 2 1.1
=160 [192|160|134| 26 |26 36| 79 |63 |21 |27|40| 6 | M5*0.8P M6*1.0P | 6 3 1.4
=200 [232|200|174| 26 |26 |36 | 119 |63 |21 |27 |40| 6 | M5*0.8P M6*1.0P | 6 3 1.8
-250 |282|250|224| 26 |26 |36 | 169 |63 |21 |27 |40| 6 | M5*0.8P M6*1.0P | 6 3 2.2
=300 [332|300|274| 26 |26 |36 | 219 |63 |21 |27 40| 6 | M5*0.8P M6*1.0P | 6 3 2.6

=SF08- 80 (11280 |54 | 26| 26| 36 = 632127 - | 8 M6*1.0P M6*1.0P | 3 1 0.8
=120 [152(120| 94 | 26 | 26 | 36 = 63|21(27| - | 8 M6*1.0P M6*1.0P | 10 2 1.1
=160 [192|160[134| 26 |26 |36 | 79 |63 |21|27]|40]| 8 M6*1.0P M6*1.0P | 6 3 1.4
=200 [232|200({174| 26 |26 |36 | 119 |63 |21 |27 40| 8 M6*1.0P M6*1.0P | 6 3 1.8
=250 [282|250(224| 26 |26 |36 | 169 |63 |21 |27 40| 8 M6*1.0P M6*1.0P | 6 3 2.2
=300 [332|300(274| 26 |26 |36 | 219 |63 |21 |27]|40]| 8 M6*1.0P M6*1.0P | 6 3 2.6

=SF10- 85 [117/85 |59 |26 |32 |42 = 63|24|32| - | 10| M8*1.0P M6*1.0P | 2 1 0.9
=120 [152|120{ 94 | 26 | 32 | 42 = 63 (24|32 - | 10| M8*1.0P M6*1.0P | 8 2 1.2
=160 |192|160|134| 26 |32 |42| 79 |63|24|32|39|10| M8*1.0P M6*1.0P | 7 3 1.5
=200 |232|200|174| 26 |32 |42| 119 |63|24|32|39|10| M8*1.0P M6*1.0P | 7 3 1.9
=250 |282|250|224| 26 |32 |42 | 169 |63|24|32|39|10| M8*1.0P M6*1.0P | 7 3 2.3
=300 [332|300|274| 26 |32 |42 | 219 |63|24|32|39|10| M8*1.0P M6*1.0P | 7 3 2.7

=SF12- 90 [122|90 | 64 | 26 | 37 | 47 = 6324 [32| - | 12| M10*1.0P | M6*1.0P | 3 1 0.9
=120 [152|120| 94 | 26 | 37 | 47 = 63(24(32| - | 12| M10*1.0P | M6*1.0P | 8 2 1.2
=160 [192|160|134| 26 |37 |47 | 79 |63|24|32[39|12| M10*1.0P | M6*1.0P | 7 3 1.5
=200 [232|200|174| 26 |37 |47 | 119 |63 2432|3912 | MI10*1.0P | M6*1.0P | 7 3 1.9
=250 |282|250|224| 26 |37 |47 | 169 |63|24|32[39|12| M10*1.0P | M6*1.0P | 7 3 2.3
=300 [332|300|274| 26 |37 |47 | 219 |63 |24 |32|39|12| M10*1.0P | M6*1.0P | 7 3 2.7

=SF14- 90 [122|/90 | 64 | 26 | 37 | 47 = 63|27 |34| - | 14| MI0*1.0P | M6*1.0P | 3 1 0.9
=120 [152|120| 94 | 26 | 37 | 47 = 63|27 |34 | - | 14| M10*1.0P | M6*1.0P | 8 2 1.2
-160 [192|160(134| 26 |37 |47 | 78 |63 |27 |34|42|14| M10*1.0P | M6*1.0P | 5 3 1.5
=200 [232|200|174| 26 |37 |47 | 118 |63 |27 | 34|42 |14 | MI10*1.0P | M6*1.0P | 5 3 1.9
=250 |282|250|224| 26 |37 |47 | 168 |63 |27 |34 |42 |14 | M10*1.0P | M6*1.0P | 5 3 2.3
=300 [332(300|274| 26 |37 |47 | 218 |63 |27 34|42 |14 | MI10*1.0P | M6*1.0P | 5 3 2.7

A& EA:

? @Ll £ Length (L1)
JIFFE 1 Diameter
AR, Taper size



HIETINR

48

BETRES e

‘HSK63A-SF A48 714R (4.5 FEAREEEY)  Hoke3a-SF SHRINK FIT TOOL HOLDER (4.5° STANDARD VERSION)

FlG. 2

4

NI =%

(%)
e
=
=z
=
i)
=1
=
o
@
=
x
o
=
o
m
ol
w
m
2
m
1%

T
O\ o 2
Fleg 732
Lé
L2
L
##% Model R
HSK63A-SF16- 95 127/ 95|69 (26 |40 |50 | - |63 |27 |34 | - |16 | M12*1.0P | M6*1.0P | 3 1 0.9
=120 152(120{ 94 |26 |40 |50 | = |63 |27 |34 | = |16 | M12*1.0P | M6*1.0P | 8 2 1.2
=160 192|160(134| 26 |40 |50 | 78 | 63 | 27 | 34 | 42 | 16 | M12*1.0P | M6*1.0P | 5 3 1.5
=200 232|200(174| 26 | 40 | 50 (118 63 | 27 | 34 | 42 | 16 | M12*1.0P | M6*1.0P | 5 3 19
=250 282(250(224| 26 | 40 | 50 |168| 63 | 27 | 34 | 42 | 16 | M12*1.0P | M6*1.0P | 5 3 2.3
=300 332(300(|274| 26 | 40 | 50 |218| 63 | 27 [ 34 | 42 | 16 | M12*1.0P | M6*1.0P | 5 3 2.7
=SF18- 95 127/ 95|69 (26 |40 |50 | - |63 |33 |42| - |18 | M12*1.0Pp | M6*1.0P | 4 1 1.1
=120 152|120/ 94 | 26 |40 |50 | - |63 |33 |42| - | 18| M12*1.0P | M6*1.0P | 5 2 1.3
=160 192|160(134| 26 |40 |50 | = |63 |33 |42 | - | 18| M12*1.0P | M6*1.0P | 5 2 1.6
=200 232|200(174| 26 |40 |50 | - |63 33|42 - | 18| M12*1.0P | M6*1.0P | 5 2 2.1
=250 282|250(224| 26 |40 |50 | - |63 33|42 - | 18| M12*1.0P | M6*1.0P | 5 2 2.6
=300 332(300(274| 26 |40 |50 | - [ 63|33 (42| - [ 18| M12*1.0P | M6*1.0P | 5 2 3.1
=SF20-100 132|100 74 | 26 |42 | 52| - |63 |33 |42| - | 20| M16*1.0P | M6*1.0P | 5 1 1.1
=120 152|120/ 94 | 26 |42 |52 | - |63 (33 |42| - | 20| M16*1.0P | M6*1.0P | 5 2 1.3
=160 192|160(134| 26 |42 |52 | - |63 |33 |42| - | 20| M16*1.0P | M6*1.0P | 5 2 1.6
=200 232(200(174| 26 |42 | 52| - |63 |33|42| - | 20| M16*1.0P | M6*1.0P | 5 2 2.1
=250 282(250(224| 26 |42 |52 | - |63 |33|42| - | 20| M16*1.0P | M6*1.0P | 5 2 2.6
=300 332(300(|274| 26 |42 |52 | - [ 63|33 (42| - | 20| M16*1.0P | M6*1.0P | 5 2 3.1
=SF25-115 147|115/ 89 | 26 |48 |58 | - |63 |44 |53 | = | 25| M16*1.0P | M6*1.0P | 1 1 1.9
=130 162|130|104| 26 |48 |58 | - |63 |44 |53 | - | 25| M16*1.0P | M6*1.0P | 1 2 2.1
=160 192|160(134| 26 |48 |58 | - |63 |44 |53 | - | 25| M16*1.0P | M6*1.0P | 1 2 2.2
=200 232|200(174| 26 |48 |58 | - |63 |44 |53 | - | 25| M16*1.0P | M6*1.0P | 1 2 2.6
=250 282(250(224| 26 |48 |58 | - |63 |44 |53 | - [ 25| M16*1.0P | M6*1.0P | 1 2 3
=300 332(300(|274| 26 |48 |58 | - [ 63|44 |53 | = [25| M16*1.0P | M6*1.0P | 1 2 3.4
=SF32-120 152|120/ 94 | 26 |52 |62 | - |63 |44 |53 | - | 32| M16*1.0P | M6*1.0P | 1 1 1.9
=130 162|130(104| 26 |52 |62 | = |63 |44 |53 | = | 32| M16*1.0P | M6*1.0P | 1 2 2.2
=160 192|160(134| 26 |52 |62 | - |63 |44 |53 | - | 32| M16*1.0P | M6*1.0P | 1 2 2.3
=200 232|200(174| 26 |52 |62 | - |63 |44 |53 | - | 32| M16*1.0P | M6*1.0P | 1 2 2.7
=250 282|250(224| 26 |52 |62 | - |63 |44 |53 | - | 32| M16*1.0P | M6*1.0P | 1 2 3.1
=300 332|300|274| 26 |52 | 62| - |63 |44 |53 | - | 32| M16*1.0P | M6*1.0P | 1 2 3.4
g E:
?Ll £ E Length (L1)
JIFFE 1R Diameter

IhEE{X S Holder type
SFRAZ T Taper size




HIZTIN

c?%(%%s BLETI 5 FE 5

-HSK80A-SF A48 JI4A (4.5 FEHREERY)  oksoa-SF SHRINK FIT TOOL HOLDER (4.5° STANDARD VERSION)

FIG. 1

FIG. 2

= - — - —| N
i <58
~

[=

1%
I
=
=4
A&
- 45
g7
8
I
3
xR
o
§§|J
a

FlG.3 HSK. NO

m LS

/ W L4
11 E %22_22_ LLsrry Mgy

4.5

A i
L6
13 L2
L1
L
# #% Model L L1 L2 L3 14 L5 L6 D D1 D2 D3 d T T1 FIG EE KGS

HSK80A-SF06- 85 |125| 85| 59 | 26 | 26 | 36 | - | 80 | 21 | 27 | - 6 M5*0.8P M6*1.0P | 1 1.4
=120 160|120 94 | 26 | 26 | 36 | - | 80 | 21 | 27 | - 6 M5*0.8P M6*1.0P | 2 1.5

=160 200 (160|134 | 26 | 26 | 36 | 61 | 80 | 21 | 27 | 39 | 6 M5*0.8P M6*1.0P | 3 2.1

=200 240 (200|174 | 26 | 26 | 36 |101| 80 | 21 | 27 | 39 | 6 M5*0.8P M6*1.0P | 3 2.2
-SF08- 85 125|185 | 59 | 26 | 26 | 36 | - | 80 | 21 | 27 | - 8 M6*1.0P M6*1.0P | 1 1.4
=120 160|120 95 | 26 | 26 | 36 | - | 80 | 21 | 27 | - 8 M6*1.0P M6*1.0P | 2 1.5

=160 200 (160|134 | 26 | 26 | 36 | 61 | 80 | 21 | 27 | 39 | 8 M6*1.0P M6*1.0P | 3 2.1

=200 240 (200|174 | 26 | 26 | 36 |101| 80 | 21 | 27 | 39 | 8 M6*1.0P M6*1.0P | 3 2.2
-SF10- 90 130| 90 | 64 | 26 | 32 |42 | - |80 |24 |32| - 10| M8*1.0P M6*1.0P | 1 1.5
=120 160|120 94 | 26 | 32 |42 | - |80 |24 |32| - |10 | M8*1.0P M6*1.0P | 2 1.6

=160 200 (160|134 | 26 | 32 | 42 | 72| 80 | 24 | 32 | 39 | 10 | M8*1.0P M6*1.0P | 3 2.1

=200 240(200|174| 26 | 32 | 42 |101| 80 | 24 | 32 | 44 | 10 | M8*1.0P M6*1.0P | 3 2.3
=-SF12- 95 135| 95 | 69 | 26 | 37 | 47 | - |80 (24 | 32| - [ 12| MI0*1.OP | M6*1.0P | 1 1.5
=120 160|120 94 | 26 | 37 | 47 | - | 80 |24 | 32| - | 12| MI0*1.OP | M6*1.0P | 2 1.6

=160 200 (160|134 | 26 | 37 | 47 | 72 | 80 | 24 | 32 | 39 | 12 | M10*1.0P | M6*1.0P | 3 2.1

=200 240|200|174| 26 | 37 | 47 [101| 80 | 24 | 32 | 44 | 12 | M10*1.0P | M6*1.0P | 3 2.3
-SF14- 95 135|195 | 69 | 26 | 37 | 47 | = | 80 |27 | 34| = [ 14 | MIO*1.OP | M6*1.0P | 1 1.5
=120 160120 94 | 26 | 37 | 47 | - | 80|27 | 34| - | 14 | M10*1.0P | M6*1.0P | 2 1.7

-160 200|160|134| 26 | 37 | 47 | 66 | 80 | 27 | 34 | 44 | 14 | M10*1.0P | M6*1.0P | 3 2.1

=200 240|200|174| 26 | 37 | 47 |101| 80 | 27 | 34 | 46 | 14 | M10*1.0P | M6*1.0P | 3 2.2




HIETINR

48

BETTHES  [HEmn

-HSK80A-SF A48 JI4A (4.5 FEAREERY)  Hoks0a-SF SHRINK FITTOOL HOLDER (4.5° STANDARD VERSION)

FIG. 1

IS

NS &

<

=

=

(%)
e
=
=z
=
i)
=
=
o
@
=
x
o
=
o
m
ol
w
m
2
m
1%

FlG. 3 HSK. NO D

cesizy =

:

[=

L6

L2

# # Model FIG EE£ KGS

HSK80A-SF16-100 140|100| 74 | 26 | 40 | 50 - 80 | 27 | 34 - 16 | M12*1.0P | M6*1.0P 1 1.5
=120 160(120| 94 | 26 | 40 | 50 - 80 | 27 | 34 - 16 | M12*1.0P | M6*1.0P 2 1.8

=160 200(160|134| 26 | 40 | 50 | 66 | 80 | 27 | 34 | 44 | 16 | M12*1.0P | M6*1.0P 3 2.1

=200 240 (200 |174| 26 | 40 | 50 [101| 80 | 27 | 34 | 46 | 16 | M12*1.0P | M6*1.0P 3 2.2
=SF18-100 140 |100| 74 | 26 | 40 | 50 - 80 | 33 | 42 - 18 | M12*1.0P | M6*1.0P 1 1.6
=120 160|120| 94 | 26 | 40 | 50 - 80 | 33 | 42 - 18 | M12*1.0P | M6*1.0P 2 1.9

=160 200 160|134 | 26 | 40 | 50 - 80 | 33 | 42 - 18 | M12*1.0P | M6*1.0P 3 2.2

=200 240(200|174| 26 | 40 | 50 - 80 | 33 | 42 - 18 | M12*1.0P | M6*1.0P 3 2.6
=SF20-105 145|105| 79 | 26 | 42 | 52 - 80 | 33 | 42 - 20 | M16*1.0P | M6*1.0P 1 1.6
=120 160|120| 94 | 26 | 42 | 52 - 80 | 33 | 42 - 20 | M16*1.0P | M6*1.0P 2 2.1

=160 200 (160|134 | 26 | 42 | 52 - 80 | 33 | 42 - 20 | M16*1.0P | M6*1.0P 3 2.3

=200 240(200|174| 26 | 42 | 52 - 80 | 33 | 42 - 20 | M16*1.0P | M6*1.0P 3 2.7
=SF25-115 155|115| 89 | 26 | 48 | 58 - 80 | 44 | 53 - 25 | M16*1.0P | M6*1.0P 1 2.5
=160 200 (160|134 | 26 | 48 | 58 - 80 | 44 | 53 - 25 | M16*1.0P | M6*1.0P 3 2.8

=200 240(200|174| 26 | 48 | 58 - 80 | 44 | 53 - 25 | M16*1.0P | M6*1.0P 3 3.6
=SF32-120 160(120| 94 | 26 | 52 | 62 - 80 | 44 | 53 - 32 | M16*1.0P | M6*1.0P 1 2.5
=160 200 160|134 | 26 | 52 | 62 - 80 | 44 | 53 - 32 | M16*1.0P | M6*1.0P 3 3.2

=200 240(200|174| 26 | 52 | 62 - 80 | 44 | 53 - 32 | M16*1.0P | M6*1.0P 3 3.5




TR

ciﬁgﬁs BLETI 5 FE 5

‘HSK100A-SF A48 7]#R (4.5 FEHREEY)  sk00a-SF SHRINK FIT TOOL HOLDER (4.5° STANDARD VERSION)

FIG.1 HSK. NO &L

o

WIS

==

24
|t

w
I
=
=
~
I
=
=
o
[s]
=)
=
o
=
=]
m
o
w
m
=
m
wn

# #%& Model L L1 L2 L3 L4 D D1 D2 d R FIG ZE& KGS

HSK100A-SF03- 85 135 85 56 29 12 100 15 20 3 10 1 2.2
=120 170 120 91 29 12 100 15 20 3 10 2 2.5

=160 210 160 131 29 12 100 15 25 3 10 2 2.8

=SF04- 85 135 85 56 29 16 100 15 20 4 10 1 2.2

=120 170 120 91 29 16 100 15 20 4 10 2 2.5

=160 210 160 131 29 16 100 15 25 4 10 2 2.8

-SF05- 85 135 85 56 29 18 100 15 20 5 10 1 2.2

=120 170 120 91 29 18 100 15 20 5 10 2 2.5

=160 210 160 131 29 18 100 15 25 5 10 2 2.8

AR ER:

%l K[E Length (L1)
JIFFE 1R Diameter
Lf)

IHEE S Holder type
SEIRAZT, Taper size



-HSK100A-SF #&48J11#% (4.5 EtrER)

,\‘.rf

£

.

HETIHFESY

HIETINR

48

CNCTOOLS

HSK100A-SF SHRINK FIT TOOL HOLDER (4.5 ° STANDARD VERSION)

FIG. 1

FIG. 2

HSK. NO D

- Fof 5|

D2

HSK. NO D

ol 5|

L5

L4

4

JNFS =

(%)
e
=
=z
=
I
=
=
o
o
-
x
o
=
o
m
ol
%)
m
2
m
h

D2

D1 D2 D3

# # Model L L1 L2 L3 14 L5 L6 D d T T1 R FIG ZF= KGS

HSK100A-SF06- 85 [135| 85 |56 |29 | 26 |36 | - [100| 21 | 27 | - | 6 | M5*0.8P | M6*1.0P| 7 | 1 2.2
-120 [170[120| 91 |29 |26 |36 | - |[100| 21 |27 | - | 6 | M5*0.8P | M6*1.0P | 10 | 2 2.5
-160 |210|160|131|29 | 26 | 36 | 61 |100| 21 | 27 | 39 | 6 | M5*0.8P | M6*1.0P | 20 | 3 2.8
=200 |250(200|171|29 | 26 | 36 [101|100| 21 | 27 | 39 | 6 | M5*0.8P | M6*1.0P | 20 | 3 3.2
=250 [300|250(221|29 | 26 | 36 [151|100| 21 | 27 | 39 | 6 | M5*0.8P | M6*1.0P | 20 | 3 3.6
=300 [350(300|271|29 | 26 | 36 [201|100| 21 | 27 | 39 | 6 | M5*0.8P | M6*1.0P | 20 | 3 4.0
-SF08- 85 [135| 85|56 |29 |26 |36 | - [100| 21 |27 | - | 8 | M6*1.0P [ M6*1.0P| 7 | 1 2.2
=120 [170(120| 91 |29 | 26 | 36 | - |100| 21 | 27 | - | 8 | M6*1.0P | M6*1.0P | 10 | 2 2.5
-160 |210|160|131| 29 | 26 | 36 | 61 |[100| 21 | 27 | 39 | 8 | M6*1.0P | M6*1.0P | 20 | 3 2.8
-200 [250(200|171| 29 | 26 | 36 |101|100| 21 | 27 | 39 | 8 | M6*1.0P | M6*1.0P | 20 | 3 3.2
=250 [300|250(221|29 | 26 | 36 [151|100| 21 | 24 | 39 | 5 | M6*1.0P | M6*1.0P | 20 | 3 3.6
-300 [350(300|271|29 | 26 | 36 [201|100| 21 | 24 | 39 | 5 | M6*1.0P | M6*1.0P | 20 | 3 4.0
-SF10- 90 [140| 90 | 61 | 29 | 32| 42| - |[100| 24 | 32| - | 10 | M8*1.0P | M6*1.0P| 5 | 1 2.3
=120 [170|120| 91 |29 | 32| 42| - |100| 24 | 32| - | 10 | M8*1.0P | M6*1.0P | 10 | 2 2.6
=160 |210|160|131| 29 | 32 | 42 | 72 |100| 24 | 32 | 39 | 10 | M8*1.0P | M6*1.0P | 20 | 3 2.9
=200 |250(200|171| 29 | 32 | 42 [101|100| 24 | 32 | 44 | 10 | M8*1.0P | M6*1.0P | 20 | 3 3.3
=250 [300|250(221| 29 | 32 | 41 [151|100| 24 | 32 | 44 | 10 | M8*1.0P | M6*1.0P | 20 | 3 3.7
=300 [350(300|271| 29 | 26 | 41 [201|100| 24 | 32 | 44 | 10 | M8*1.0P | M6*1.0P | 20 | 3 4.1
-SF12- 95 [145| 95 | 66 | 29 | 37 | 47 | - [100| 24 | 32 | - | 12 | M10*1.0P [ M6*1.0P | 5 | 1 2.3
=120 [170[120| 91 |29 | 37 [ 47| - |100| 24 | 32| - | 12 | M10*1.0P | M6*1.0P | 10 | 2 2.6
-160 [210[160|131| 29 | 37 | 47 | 72 |100| 24 | 32 | 39 | 12 | M10*1.0P | M6*1.0P | 20 | 3 2.9
-200 [250(200|171| 29 | 37 | 47 |101|100| 24 | 32 | 44 | 12 | M10*1.0P | M6*1.0P | 20 | 3 3.3
-250 [300|250(221| 29 | 37 | 47 [151|100| 24 | 32 | 44 | 12 | M10*1.0P | M6*1.0P | 20 | 3 3.7
=300 [350(300|271| 29 | 37 | 47 [201|100| 24 | 32 | 44 | 12 | M10*1.0P | M6*1.0P | 20 | 3 4.1
-SF14- 95 |145| 95 | 66 | 29 | 37 | 47 | - [100| 27 | 34 | - | 14 | M10*1.0P [ M6*1.0P | 5 | 1 2.3
=120 [170(120| 91 | 29 | 37 | 47 | - |100| 27 | 34| - | 14 | M10*1.0P | M6*1.0P | 10 | 2 2.6
-160 |210|160|131| 29 | 37 | 47 | 66 |100| 27 | 34 | 44 | 14 | M10*1.0P | M6*1.0P | 20 | 3 2.9
-200 [250(200|171| 29 | 37 | 47 |101|100| 27 | 34 | 46 | 14 | M10*1.0P | M6*1.0P | 20 | 3 3.3
-250 [300(250(221| 29 | 37 | 47 |151|100| 27 | 34 | 46 | 14 | M10*1.0P | M6*1.0P | 20 | 3 3.7
-300 [350/300(271| 29 | 26 | 41 [201|100| 24 | 32 | 46 | 14 | M10*1.0P | M6*1.0P | 20 | 3 41




HIZTIN

c?%(%%s BLETI 5 FE 5

‘HSK100A-SF A48 7]#R (4.5 FEHRIEEY)  ski00a-F SHRINK FIT TOOL HOLDER (4.5° STANDARD VERSION)

FIG. 1 HSK. NO D

T L5

L3 L2
L1

FIG. 2 HSK. NO 2

D2

N s

L3 L2
L1

FIG. 3

1%
I
2
=
]
D4
87
s
e
S
§§U
=

D2

# # Model L L1 L2 L3 14 L5 L6 D D1 D2 D3 d T T1 R FIG EEZ KGS

HSK100A-SF16-100 |150|100| 71 | 29 | 40 | 50 | - [100| 27 | 34| - | 16 | M12*1.0P | M6*1.0P | 5 | 1 2.3
=120 [170[120| 91|29 |40 |50 | - |100| 27 [ 34| - | 16 | M12*1.0P | M6*1.0P |10| 2 2.6
-160 [210|160|131| 29 | 40 | 50 | 66 |100| 27 | 34 | 44 | 16 | M12*1.0P | M6*1.0P | 20| 3 2.9
-200 |250(200(171| 29 | 40 | 50 {101 [100| 27 | 34 | 46 | 16 | M12*1.0P | M6*1.0P | 20| 3 3.3
=250 [300|250(221| 29 | 40 | 50 |151|100| 27 | 34 | 46 | 16 | M12*1.0P | M6*1.0P |20| 3 3.7
=300 [350(300|271| 29 | 40 | 50 |201|100| 27 | 34 | 46 | 16 | M12*1.0P | M6*1.0P |20| 3 4.1
-SF18-100 [150|100| 71 | 29 [ 40 | 50 | - |100| 33 | 42| - | 18 | M12*1.0P | M6*1.0P | 5 | 1 2.4
=120 [170[120| 91|29 | 40 | 50| - |100| 33 |42 | - | 18 | M12*1.0P | M6*1.0P |10| 2 2.7
-160 |210|160|131| 29 | 40 | 50 | 78 [100| 33 | 42 | 46 | 18 | M12*1.0P | M6*1.0P |20| 3 3.1
=200 (250(200|171| 29 | 40 | 50 |116|100| 33 | 42 | 46 | 18 | M12*1.0P | M6*1.0P |20| 3 3.4
=250 (300|250(221| 29 | 40 | 50 |166|100| 33 | 42 | 46 | 18 | M12*1.0P | M6*1.0P |20| 3 3.8
=300 [350(300|271| 29 | 40 | 50 |216|100| 33 | 42 | 46 | 18 | M12*1.0P | M6*1.0P | 20| 3 4.2
-SF20-105 |155|105| 76 | 29 | 42 | 52 | - |100| 33 [ 42| - | 20 | M16*1.0P | M6*1.0P | 5 | 1 2.4
-120 |170[120| 91 |29 | 42 |52 | - [100| 33 | 42| - | 20 | M16*1.0P | M6*1.0P |10| 2 2.7
-160 [210|160|131| 29 | 42 | 52 | 78 |100| 33 | 42 | 46 | 20 | M16*1.0P | M6*1.0P | 20| 3 3.1
=200 (250(200|171| 29 | 42 | 52 |116|100| 33 | 42 | 46 | 20 | M16*1.0P | M6*1.0P | 20| 3 3.4
=250 [300|250(221| 29 | 42 | 52 |166|100| 33 | 42 | 46 | 20 | M16*1.0P | M6*1.0P | 20| 3 3.8
=300 [350(300|271| 29 | 42 | 52 |216|100| 33 | 42 | 46 | 20 | M16*1.0P | M6*1.0P |20| 3 4.2
-SF25-115 |165|115| 86 | 29 | 48 | 58 | - |100| 44 [ 53| - | 25 | M16*1.0P | M6*1.0P | 5 | 1 3.2
-130 [180(130|101| 29 | 48 | 58 | - |100| 44 | 53 | - | 25 | M16*1.0P | M6*1.0P |10| 2 3.4
-160 |210|160(131| 29 | 48 | 58 | - [100| 44 | 53 | - | 25 | M16*1.0P | M6*1.0P |16| 2 3.6
-200 |250(200(171| 29 | 48 |58 | - [100| 44 | 53| - | 25 | M16*1.0P | M6*1.0P |16| 2 41
=250 (300|250(221| 29 |48 | 58| - |100| 44 | 53 | - | 25 | M16*1.0P | M6*1.0P |16 2 4.6
-300 [350(300|271| 29 |48 |58 | - |100| 44 |53 | - | 25 | M16*1.0P | M6*1.0P |16 2 5.1
-SF32-120 |170(120| 91 |29 |52 [ 62| - |100| 44 [ 53| - | 32 | M16*1.0P | M6*1.0P | 5 | 1 3.2
=140 [190(140|111| 29 | 52 | 62| - |100| 44 | 53| - | 32 | M16*1.0P | M6*1.0P |10| 2 3.4
=160 [210[160|131| 29 | 52 | 62 | - |100| 44 | 53 | - | 32 | M16*1.0P | M6*1.0P |16 2 3.6
-200 (250(200|171| 29 |52 |62 | - |100| 44 | 53| - | 32 | M16*1.0P | M6*1.0P |16 2 4.1
=250 (300(250(221| 29 |52 |62 | - |100| 44 |53 | - | 32 | M16*1.0P | M6*1.0P |16 2 4.6
-300 [350|300|271|29 |52 | 62| - |[100| 44 |53 | - | 32 | M16*1.0P | M6*1.0P |16| 2 5.1




HIETINR

48

BETTHES [T

-HSK25E-SF A 4EJIHH (4.5 BARMERY)  Hokose-sr SHRINK FITTOOL HOLDER (4.5° STANDARD VERSION)

FlG. 1 D
HSK. NO

3

NI =%

S3RI3S ¥IATOH 100L LI4 XNRIHS

=

#M 4% Model d FIG ZEE KGS
HSK25E-SF03-50 63 | 50|40 |10 | 12| - | 25|15 |19 | 3 - - 1 0.1
=SF04-50 63 | 50 |40 |10 |16 | - | 25| 15| 20 | 4 = = 1 0.1
-SF05-50 63 | 50 | 40 | 10 | 18 | = | 25 | 15| 20 | 5 = = 1 0.1
=SF06-50 63 | 50 | 40 | 10 | 23 | 37 | 25 | 21 | 26 | 6 M5*0.8P M6*1.0P 2 0.1
AR RA:

? @Ll K[E Length (L1)
JIFFE 1R Diameter
1]

IfEEFL S Holder type
SEZ T, Taper size




TR

ciﬁgﬁs BLETI 5 FE 5

-HSK32E-SF #R4ETIHA (4.5 EARMEEY)  Hoksar-sk SHRINK FITTOOL HOLDER (4.5° STANDARD VERSION)

FIG. 1 D
HSK. NO

D2

L2

L3

L1

FIG. 2 D

o

WIS

s
=

w
I
=
=
=
I
=
=
o
[s]
=)
=
o
=
=]
m
o
w
m
=
m
wn

# & Model d FIG === KGS
HSK32E-SF03-60 76 | 60 | 40 | 20 | 12 - 32 | 15 | 20 3 - - 1 0.2
=SF04-60 76 | 60 | 40 | 20 | 16 = 32 | 15 | 20 4 = = 1 0.2
=SF05-60 76 | 60 | 40 | 20 | 18 - 32 | 15 | 20 5 - - 1 0.2
-SF06-70 86 | 70 | 70 | 20 | 26 | 36 | 32 | 21 26 6 M5*0.8P M6*1.0P 2 0.3
=SF08-70 86 | 70 | 70 | 20 | 26 | 36 | 32 | 21 | 26 8 M6*1.0P M6*1.0P 2 0.3
=SF10-70 86 | 70 | 70 | 20 | 32 | 42 | 32 | 24 | 29 | 10 M8*1.0P M6*1.0P 2 0.4
=SF12-70 86 | 70 | 70 | 20 | 37 | 47 | 32 | 24 | 29 | 12 M10*1.0P M6*1.0P 2 0.4
A% AR

@Ll B Length (L1)
JIFFE {2 Diameter
If

BE1XS Holder type
$ERAZ TR Taper size



HETIHFESY

-HSK40E-SF 45T (4.5 EtnER)

FIG. 1

HSK. NO

HSK40E-SF SHRINK FIT TOOL HOLDER (4.5° STANDARD VERSION)

o

HIETINR

48

CNCTOOLS

o

NI =%

=

%)
I
)
=
=
I
=1
=
o
o
I
o
o
=
o
m
=
%)
m
2
m
0

# #& Model L L1 L2 L3 L4 D D1 D2 d R FIG =& KGS

HSK40E-SF03- 60 80 60 40 20 12 40 15 20 3 5 1 0.3
=120 140 120 100 20 12 40 15 20 3 5 2 0.4

=160 180 160 140 20 12 40 15 25 3 5 2 0.5

=SF04- 60 80 60 40 20 16 40 15 20 4 5 1 0.3

=120 140 120 100 20 16 40 15 20 4 5 2 0.4

=160 180 160 140 20 16 40 15 25 4 5 2 0.5

=SF05- 60 80 60 40 20 18 40 15 20 5 5 1 0.3

=120 140 120 100 20 18 40 15 20 5 5 2 0.4

-160 180 160 140 20 18 40 15 25 5 5 2 0.5

AR5 BR:

@_l K Length (L1)
JIFFE1Z Diameter
If

BE1L S Holder type
SERRAZTN Taper size




HIZTIN

4

CNCTOOLS

HETIHFE S

-HSKA40E-SF #A4E 71 (4.5 EtRER)

FIG. 1
HSK. NO

HSKA4OE-SF SHRINK FIT TOOL HOLDER (4.5° STANDARD VERSION)

é %ﬁ <zl
z 1
SRS
% 5l
L
# # Model L3 L4 L5 D D1 D2 d T T1 FIG == KGS

HSK40E-SF06- 80 100 80 | 60 | 20 | 26 | 36 | 40 | 21 | 27 | 6 M5*0.8P M6*1.0P 1 0.4

=120 140|120 |100| 20 | 26 | 36 | 40 | 21 | 27 6 M5*0.8P M6*1.0P 2 0.6

=160 180|160 |140| 20 | 26 | 36 | 40 | 21 | 27 6 M5*0.8P M6*1.0P 2 0.7

-SF08- 80 100| 80 | 60 | 20 | 26 | 36 | 40 | 21 | 27 8 M6*1.0P M6*1.0P 1 0.4

=120 140|120 |100| 20 | 26 | 36 | 40 | 21 | 27 8 M6*1.0P M6*1.0P 2 0.6

=160 180160 |140| 20 | 26 | 36 | 40 | 21 | 27 8 M6*1.0P M6*1.0P 2 0.7

=SF10- 80 1700| 80 | 60 | 20 | 32 | 42 | 40 | 24 | 32 | 10 M8*1.0P M6*1.0P 1 0.5

=120 140|120|100| 20 | 32 | 42 | 40 | 24 | 32 | 10 M8*1.0P M6*1.0P 2 0.7

=160 180|160 |140| 20 | 32 | 42 | 40 | 24 | 32 | 10 M8*1.0P M6*1.0P 2 0.8

=SF12- 90 110| 90 | 70 | 20 | 37 | 47 | 40 | 24 | 32 | 12 M10*1.0P M6*1.0P 1 0.5

=120 140|120|100| 20 | 37 | 47 | 40 | 24 | 32 | 12 M10*1.0P M6*1.0P 2 0.7

=160 180|160 |140| 20 | 37 | 47 | 40 | 24 | 32 | 12 M10*1.0P M6*1.0P 2 0.8

=SF14- 90 110| 90 | 70 | 20 | 37 | 47 | 40 | 27 | 34 | 14 M10*1.0P M6*1.0P 1 0.6

=120 140|120|100| 20 | 37 | 47 | 40 | 27 | 34 | 14 M10*1.0P M6*1.0P 2 0.8

=160 180|160 |140| 20 | 37 | 47 | 40 | 27 | 34 | 14 M10*1.0P M6*1.0P 2 0.9

=SF16- 90 110 90 | 70 | 20 | 40 | 50 | 40 | 27 | 34 | 16 M12*1.0P M6*1.0P 1 0.5

=120 140|120 |100| 20 | 40 | 50 | 40 | 27 | 34 | 16 M12*1.0P M6*1.0P 2 0.7

=160 180|160 |140| 20 | 40 | 50 | 40 | 27 | 34 | 16 M12*1.0P M6*1.0P 2 0.8

FAg SRR
@Ll K Length (L1)

JIFFE 1 Diameter

/I
I IhEE S Holder type

ARSI, Taper size




HIETINR

48

BETTHFES  [HEn

-HSK50E-SF #4571 (4.5 EARMEEEY)  HoKsor-Sr SHRINK FITTOOL HOLDER (4.5° STANDARD VERSION)

FIG. 1
HSK. NO

LA

e &
| Ij‘;/

L3

FIG. 2 D

# ¥ Model L L1 L2 L3 L4 D D1 D2 d R FIG &= KGS

HSK50E-SF03- 80 105 80 54 26 12 50 15 20 3 5 1 0.4
=120 145 120 94 26 12 50 15 20 3 5 2 0.5

-160 185 160 134 26 12 50 15 25 3 5 2 0.6

-SF04- 80 105 80 54 26 16 50 15 20 4 5 1 0.5

=120 145 120 94 26 16 50 15 20 4 5 2 0.6

=160 185 160 134 26 16 50 15 25 4 5 2 0.7

-SF05- 80 105 80 54 26 18 50 15 20 5 5 1 0.5

-120 145 120 94 26 18 50 15 20 5 5 2 0.6

=160 185 160 134 26 18 50 15 25 5 5 2 0.7

AR5 BA:

? @Ll KE Length (L1)
JIFFE 1 Diameter
IhEEHLS Holder type

$EIRAZT, Taper size

o

JNFS =h

%)
I
)
=
=
I
=1
=
o
o
-
o
o
=
o
m
=
%)
m
2
m
0




HIZTIN

c?%(%%s BLETI 5 FE 5

HSK50E-SF A 4571#R (4.5 BirER)

FlG. 1

HSK. NO

D

HSK50E-SF SHRINK FIT TOOL HOLDER (4.5 ° STANDARD VERSION)

=4
T T<f5|s
I
gﬁu
- L
# # Model L L1 L2 L3 14 L5 D DI D2 d T T1 FIG ZFE KGS
HSK50E-SF06- 80 105| 80 | 54 | 26 | 26 | 36 | 50 | 21 | 27 | 6 M5%*0.8P M6*1.0P 1 0.7
=120 145|120 94 | 26 | 26 | 36 | 50 | 21 | 27 | 6 M5*0.8P M6*1.0P 2 0.8
-160 185|160 |134| 26 | 26 | 36 | 50 | 21 | 27 | 6 M5*0.8P M6*1.0P 2 0.9
-SF08- 80 105| 80 | 54 | 26 | 26 | 36 | 50 | 21 | 27 | 8 M6*1.0P M6*1.0P 1 0.6
-120 145|120| 94 | 26 | 26 | 36 | 50 | 21 | 27 | 8 M6*1.0P M6*1.0P 2 0.8
=160 185|160 |134| 26 | 26 | 36 | 50 | 21 | 27 | 8 M6*1.0P M6*1.0P 2 0.9
-SF10- 85 110| 85 | 59 | 26 | 32 | 42 | 50 | 24 | 32 | 10 | M8*1.0P M6*1.0P 1 0.7
=120 145|120 | 94 | 26 | 32 | 42 | 50 | 24 | 32 | 10 | M8*1.0P M6*1.0P 2 0.8
-160 185|160 134 | 26 | 32 | 42 | 50 | 24 | 32 | 10 | M8*1.0P M6*1.0P 2 0.9
-SF12- 90 115| 90 | 64 | 26 | 37 | 47 | 50 | 24 | 32 | 12 | M10*1.0P M6*1.0P 1 0.7
=120 145[120| 94 | 26 | 37 | 47 | 50 | 24 | 32 | 12 | M10*1.0P M6*1.0P 2 0.8
-160 185|160 134 | 26 | 37 | 47 | 50 | 24 | 32 | 12 | M10*1.0P M6*1.0P 2 0.9
-SF14- 90 115| 90 | 64 | 26 | 37 | 47 | 50 | 27 | 34 | 14 | M10*1.0P M6*1.0P 1 0.7
=120 145[120| 94 | 26 | 37 | 47 | 50 | 27 | 34 | 14 | M10*1.0P M6*1.0P 2 0.8
=160 185|160 134 | 26 | 37 | 47 | 50 | 27 | 34 | 14 | M10*1.0P M6*1.0P 2 0.9
-SF16- 95 120 95 | 69 | 26 | 40 | 50 | 50 | 27 | 34 | 16 | M12*1.0P M6*1.0P 1 0.7
=120 145[120| 94 | 26 | 40 | 50 | 50 | 27 | 34 | 16 | M12*1.0P M6*1.0P 2 0.8
-200 185|160 |134| 26 | 40 | 50 | 50 | 27 | 34 | 16 | M12*1.0P M6*1.0P 2 0.9
-SF18- 95 120 95 | 69 | 26 | 40 | 50 | 50 | 33 | 42 | 18 | M12*1.0P M6*1.0P 1 0.9
-120 145|120| 94 | 26 | 40 | 50 | 50 | 33 | 42 | 18 | M12*1.0P M6*1.0P 2 1
-200 185|160|134| 26 | 40 | 50 | 50 | 33 | 42 | 18 | M12*1.0P M6*1.0P 2 1.1
-SF20-100 125|100 74 | 26 | 42 | 52 | 50 | 33 | 42 | 20 | M16*1.0P M6*1.0P 1 0.9
-120 145|120| 94 | 26 | 42 | 52 | 50 | 33 | 42 | 20 | M16*1.0P M6*1.0P 2 1
-160 185|160|134| 26 | 42 | 52 | 50 | 33 | 42 | 20 | M16*1.0P M6*1.0P 2 1.1
AL 5L RR:

@Ll +E Length (L1)
TJI#FE 18 Diameter
IngEfXS Holder type
AR Taper size




HIETINR

48

BETTHFES  [HEn

‘HSK63E-SF 45 7JHR (4.5 EARMEEEY)  oke3e-sr SHRINK FIT TOOL HOLDER (4.5° STANDARD VERSION)

FIG. 1
HSK. NO

D2

e
=0 h

L3

FIG. 2

B

NI =%

- ? — g i -
= u

=

%)
I
)
=
=
I
=1
=
o
o
-
o
o
=
o
m
=
%)
m
2
m
0

L2

L1

# ¥ Model L L1 L2 L3 L4 D D1 D2 d R FIG E= KGS

HSK63E-SF03- 80 112 80 54 26 12 63 15 20 3 5 1 0.7
-120 152 | 120 94 26 12 63 15 20 3 5 2 0.8

-160 192 | 160 | 134 26 12 63 15 25 3 5 2 0.9

-SF04- 80 112 80 54 26 16 63 15 20 4 5 1 0.7

=120 152 | 120 94 26 16 63 15 20 4 5 2 0.8

-160 192 | 160 | 134 26 16 63 15 25 4 5 2 0.9

-SF05- 80 112 80 54 26 18 63 15 20 5 5 1 0.7

-120 152 | 120 94 26 18 63 15 20 5 5 2 0.8

=160 192 | 160 | 134 26 18 63 15 25 5 5 2 0.9

AL RE:

? @Ll £ E Length (L1)
TJ#FE 12 Diameter
IHAETX S Holder type
$HFRAZ I Taper size




HIZTIN

c?%(%%s BLETI 5 FE 5

‘HSK63E-SF 45 7JHR (4.5 EARMEEEY)  oke3e-sr SHRINK AT TOOL HOLDER (4.5° STANDARD VERSION)

FIG. 1 D
HSK. NO

i
g 7]
z 1%
: )
_ L
#M # Model L L1 L2 L3 14 L5 L6 D D1 D2 D3 d T T1 FIG ZFE KGS

HSK63E-SF06- 80 112|180 |54 26|26 |36| - |[63|21|27| - | 6 M5*0.8P M6*1.0P 1 0.8

=120 152]1201 94 |26 |26 |36 | - |63 |21 |27 | - | 6 M5*0.8P M6*1.0P 2 0.9

-160 192|160(134| 26 |26 |36 | = |63 |21 |27 | - | 6 M5*0.8P M6*1.0P 2 1.1

-SF08- 80 112180 | 54|26 |26 36| - |63[21|27| - | 8 | M6"1.0P M6*1.0P 1 0.8

=120 152]120{ 94 |26 |26 |36 | - |63 |21 |27 | - | 8 M6*1.0P M6*1.0P 2 0.9

=160 192]160(134| 26 |26 |36 | - |63 |21 |27 | - | 8 M6*1.0P M6*1.0P 2 1.1

-SF10- 85 117| 85|59 263242 | - |[63|24|32| - | 10| M8*1.0P M6*1.0P 1 0.9

=120 152|120/ 94|26 32|42 | - |[63|24|32| - | 10| M8*1.0P M6*1.0P 2 1.1

=160 192]|160|134| 26 |32 42| - |63 24|32 | - |10 ]| M8*1.0P M6*1.0P 2 1.1

=SF12- 90 122|190 | 64|26 |37 |47 | - |63|24|32| - | 12| M10*1.0P M6*1.0P 1 0.9

-120 152|120/ 94|26 |37 |47 | - |63|24|32| - | 12| M10*1.0P M6*1.0P 2 1.1

=160 192|160|134| 26 |37 |47 | - | 63|24 |32 | - | 12| M10*1.0P M6*1.0P 2 1.1

=SF14- 90 122/ 90|64 |26 |37 |47 | - | 63|27 |34| - | 14| M10*1.0P M6*1.0P 1 1.1

=120 152|120/ 94|26 |37 |47 | - | 63|27 |34 | - | 14| M10*1.0P M6*1.0P 2 1.1

-160 192|160|134| 26 | 37 | 47 | 78 | 63 | 27 | 34 | 42 | 14 | M10*1.0P M6*1.0P 2 1.2

-SF16- 95 127|195 |169 |26 |40 | 50| - | 63|27 |34| - | 16| M12*1.0P M6*1.0P 1 1.1

=120 152|120/ 94|26 |40 |50 | - | 63|27 |34 | - |16 | M12*1.0P M6*1.0P 2 1.2

=160 192|160|134| 26 | 40 | 50 | 78 | 63 | 27 | 34 | 42 | 16 | M12*1.0P M6*1.0P 2 1.4

=SF18- 95 127/ 95169 |26 40 | 50| - |63 [33]|42| - |18 | M12*1.0P M6*1.0P 1 1.1

=120 152|120/ 94|26 |40 |50 | - |63 [33|42| - | 18| M12*1.0P M6*1.0P 2 1.3

=160 192|160|134| 26 | 40 |50 | - | 63|33 |42 | - | 18| M12*1.0P M6*1.0P 2 1.5

-SF20-100 132|100| 74 | 26 | 42| 52| - |63|33|42| - | 20| M16*1.0P M6*1.0P 1 1.1

=120 152(120| 94 |26 |42 |52 | - |63 |33|42| - |20 | M16*1.0P M6*1.0P 2 1.3

=160 192|160|134| 26 |42 | 52| - |63 |33|42| - | 20| M16*1.0P M6*1.0P 2 1.5

-SF25-115 147|115/89 | 26 | 48 |58 | - | 63|44 |53 | - | 25| M16*1.0P M6*1.0P 1 1.6

=130 162|130|104| 26 | 48 |58 | - | 63|44 |53 | - | 25| M16*1.0P M6*1.0P 2 1.7

=160 192|160|134| 26 | 48 |58 | - |63 |44 |53 | - | 25| M16*1.0P M6*1.0P 2 1.8

-SF32-120 152|120/ 94 |26 |52 | 62| - |63 44|53 | - | 32| MI6*1.0P M6*1.0P 1 1.6

=160 192/160/134| 26 | 52 | 62| - |63 |44 |53 | - [ 32| M16*1.0P M6*1.0P 2 1.7

ML RA:

@Ll KE Length(L1)
JIFFE 4R Diameter
If

BEX S Holder type
AR T, Taper size



HIETINR

48

BETTHFES  [HEn

-HSKA4OF-SF A48 714 (4.5 EHRMEEEY)  Hokaor-SF SHRINK FITTOOL HOLDER (4.5° STANDARD VERSION)

D

D2

<5

# #% Model d FIG ZE= KGS
HSK40F-SF03-60 80 | 60 | 40 | 20 | 12 - 40 | 15 | 20 3 - - 1 0.5
-SF04-60 80 | 60 | 40 | 20 | 16 - 40 | 15 | 20 4 - - 1 0.5
=SF05-60 80 | 60 | 40 | 20 | 18 = 40 | 15 | 20 5 = = 1 0.5
=SF06-65 85 | 65 | 45 | 20 | 26 | 36 | 40 | 21 27 6 M5*0.8P M6*1.0P 2 0.5
=SF06-80 100| 80 | 60 | 20 | 26 | 36 | 40 | 21 | 27 6 M5*0.8P M6*1.0P 2 0.8
-SF08-65 85 | 65 | 45 | 20 | 26 | 36 | 40 | 21 27 8 M6*1.0P M6*1.0P 2 0.5
=SF08-80 100 80 | 60 | 20 | 26 | 36 | 40 | 21 27 8 M6*1.0P M6*1.0P 2 0.8
=SF10-65 85 | 65 | 45 | 20 | 32 | 42 | 40 | 24 | 31 10 M8*1.0P M6*1.0P 2 0.6
=SF10-80 100 80 | 60 | 20 | 32 | 42 | 40 | 24 | 32 | 10 M8*1.0P M6*1.0P 2 0.9
-SF12-65 85 | 65 | 45 | 20 | 37 | 47 | 40 | 24 | 31 12 | M10*1.0P M6*1.0P 2 0.6
=SF12-90 110 90 | 70 | 20 | 37 | 47 | 40 | 24 | 32 | 12 | M10*1.0P M6*1.0P 2 0.9
=SF14-90 110 90 | 70 | 20 | 37 | 47 | 40 | 27 | 34 | 14 | M10*1.0P M6*1.0P 2 0.9
=SF16-90 110 90 | 70 | 20 | 40 | 50 | 40 | 27 | 34 | 16 | M12*1.0P M6*1.0P 2 0.9
A% RE:

@Ll K Length (L1)
JIMFE 1R Diameter
If

BE1X S Holder type
HEFRAZ I Taper size

o

SN 2%

%)
I
)
=
=
I
=1
=
o
o
-
o
o
=
o
m
=
%)
m
2
m
0




TR

j&%ﬂiﬁﬁi”ﬂ%ﬂ

‘HSK63F-SF A48 J14A (4.5 EHREEEY)  Hokear-SF SHRINK FIT TOOL HOLDER (4.5° STANDARD VERSION)

FIG. 1
HSK. NO

o

SN =

S3R43S ¥IATOH 100L LH XNRIHS

# & Model

HSK63F-SF03- 80 105 80 54 26 12 63 15 20 3 5 1 0.7
=120 145 120 94 26 12 63 15 20 3 5 2 0.8
=160 185 160 134 26 12 63 15 27 3 5 2 0.9
=SF04- 80 105 80 54 26 16 63 15 20 4 5 1 0.7
=120 145 120 94 26 16 63 15 20 4 5 2 0.8
=160 185 160 134 26 16 63 15 27 4 5 2 0.9
-SF05-80 105 80 54 26 18 63 15 20 5 5 1 0.8
=120 145 120 94 26 18 63 15 20 5 5 2 0.8
=160 185 160 134 26 18 63 15 27 5 5 2 0.9
MRS RA:

@Ll KE Length (L1)
JI#FE 1% Diameter
h

IEE{X S Holder type
HEARAZ T, Taper size



HIETINR

48

BETRES e

-HSK63F-SF #4510 (4.5 FEFREEY)  Hokear-SF SHRINK FIT TOOL HOLDER (4.5° STANDARD VERSION)

FIG. 1
HSK. NO
L5
L4
— T ——<Ta|a
=
i
L2
L
FlG. 2 D
HSK. NO
T L5

-\ 4

4

o
Y

4

7
i
%

(%)
e
=
=z
=
i)
=
=
o
@
=
x
o
=
o
m
ol
w
m
2
m
1%

Q)
=
g

L3

L1

# #% Model L L1 L2 L3 14 L5 D DI D2 d T R FIG EE= KGS

HSK63F-SF06- 80 105| 80 | 54 | 26 | 26 | 36 | 63 | 21 | 27 | 6 M5*0.8P 10 1 0.8
=120 145|120 | 94 | 26 | 26 | 36 | 63 | 21 | 27 | 6 M5*0.8P 10 2 0.9

-160 185|160 |134| 26 | 26 | 36 | 63 | 21 | 27 | 6 M5*0.8P 10 2 1

-SF08- 80 105| 80 | 54 | 26 | 26 | 36 | 63 | 21 | 27 | 8 M6*1.0P 10 1 0.8
-120 145|120 94 | 26 | 26 | 36 | 63 | 21 | 27 | 8 M6*1.0P 10 2 0.9

-160 185|160 |134| 26 | 26 | 36 | 63 | 21 | 27 | 8 M6*1.0P 10 2 1

-SF10- 85 110| 85 | 59 | 26 | 32 | 42 | 63 | 24 | 32 | 10 | M8*1.0P 10 1 0.8
-120 145|120 | 94 | 26 | 32 | 42 | 63 | 24 | 32 | 10 | M8*1.0P 10 2 0.9

-160 185|160 |134| 26 | 32 | 42 | 63 | 24 | 32 | 10 | M8*1.0P 10 2 1

-SF12- 90 115| 90 | 64 | 26 | 37 | 47 | 63 | 24 | 32 | 12 | M10*1.0P 10 1 0.8
=120 145|120 | 94 | 26 | 37 | 47 | 63 | 24 | 32 | 12 | M10*1.0P 10 2 1

-160 185|160 |134| 26 | 37 | 47 | 63 | 24 | 32 | 12 | M10*1.0P 10 2 1.2

-SF14- 90 115| 90 | 64 | 26 | 37 | 47 | 63 | 27 | 34 | 14 | M10*1.0P 10 1 0.8
-120 145|120 | 94 | 26 | 37 | 47 | 63 | 27 | 34 | 14 | M10*1.0P 10 2 1

-160 185|160 134 | 26 | 37 | 47 | 63 | 27 | 34 | 14 | M10*1.0P 10 2 1.2

-SF16- 95 120 95 | 69 | 26 | 40 | 50 | 63 | 27 | 34 | 16 | M12*1.0P 10 1 0.9
-120 145|120 | 94 | 26 | 40 | 50 | 63 | 27 | 34 | 16 | M12*1.0P 10 2 1

-160 185|160 |134| 26 | 40 | 50 | 63 | 27 | 34 | 16 | M12*1.0P 10 2 1.3

-SF18- 95 120 95 | 69 | 26 | 40 | 50 | 63 | 33 | 42 | 18 | M12*1.0P 10 1 0.9
-120 145|120 | 94 | 26 | 40 | 50 | 63 | 33 | 42 | 18 | M12*1.0P 10 2 1

-160 185|160 |134| 26 | 40 | 50 | 63 | 33 | 42 | 18 | M12*1.0P 10 2 1.4
-SF20-100 125|100 | 74 | 26 | 42 | 52 | 63 | 33 | 42 | 20 | M16*1.0P 10 1 1
-120 145|120 | 94 | 26 | 42 | 52 | 63 | 33 | 42 | 20 | M16*1.0P 10 2 1.1

-160 185|160 |134| 26 | 42 | 52 | 63 | 33 | 42 | 20 | M16*1.0P 10 2 1.5
-SF25-115 140|115| 89 | 26 | 48 | 58 | 63 | 44 | 53 | 25 | M16*1.0P 10 1 1.6
-120 145|120 | 94 | 26 | 48 | 58 | 63 | 44 | 53 | 25 | M16*1.0P 10 2 1.7

-160 185|160 |134| 26 | 48 | 58 | 63 | 44 | 53 | 25 | M16*1.0P 10 2 2
-SF32-120 145|120 | 94 | 26 | 52 | 62 | 63 | 44 | 53 | 32 | M16*1.0P 10 1 1.6

AL A

? L1 ¥ Length (L1)
JIFFE 1R Diameter

XS Holder type
$HRF Taper size




HIZTIN

ﬁ%ﬁ BLETI 5 FE 5

-HSK32A-SFS #4571 (3 BHI<EY)  1sK32A-SFS SHRINK CHUCK (3° C SLENDER TYPE)

FIG. 1 D
HSK. NO _ r L4

J I ’-uT 3 a
)
@
L1
L
2 FIG. 2 D
z r L5
g HSK. NO
S L4
8 7]
ERL]
£ 7 _ @ | <5 =
m ¢ J“/
® \I
L1
L

# % Model d RAEIN FIG Z=FEKGS

HSK32A-SFS03-40 56 40 20 20 12 - 32 9 13 3 - 10 1 015
=70 86 70 50 20 12 - 32 9 16 3 - 10 1 0.2

=SFS04-40 56 40 20 20 16 - 32 10 14 4 - 10 1 0.15

=70 86 70 50 20 16 = 32 10 17 4 = 10 1 0.2

=SFS05-40 56 40 20 20 18 - 32 11 15 5 - 10 1 015

=70 86 70 50 20 18 - 32 11 18 5 - 10 1 0.2

=SFS06-50 66 50 30 20 26 36 32 12 17 6 M5*0.8P 10 2 0.2

=80 96 80 60 20 26 36 32 12 20 6 M5*0.8P 10 2 0.3

=SFS08-50 66 50 30 20 26 36 32 14 19 8 M6*1.0P 10 2 0.2

-80 96 80 60 20 26 36 32 14 22 8 M6*1.0P 10 2 0.3

=SFS10-55 71 55 35 20 32 42 32 16 21 10 M8*1.0P 10 2 0.2

=80 96 80 60 20 32 42 32 16 22 10 M8*1.0P 10 2 0.3

MRS BR:

% @Ll K Length(L1)
JJ#FE1& Diameter
IHEEfLS Holder type
$EFRAZ TR Taper size



HIETINR

48

BETTHES  [HEmn

-HSK40A-SFS #4571 (3 EMI<E!)  Hska0a-SFS SHRINK CHUCK (3° C SLENDER TYPE)

FIG. 2 HsK. NO ) D

L
# #& Model L L1 L2 L3 L4 D D1 D2 d R KB FIG E (e
HSK40A-SFS03- 60 80 60 40 20 12 40 9 13 3 10 1 0.3
=70 90 70 50 20 12 40 9 14 3 10 1 0.3
=80 | 100 80 60 20 12 40 9 15 3 10 1 0.3
=120 | 140 120 100 20 12 40 9 18 3 10 2 0.4
=140 | 160 140 120 20 12 40 9 21 3 10 2 0.6
=SFS04- 60 80 60 40 20 16 40 10 14 4 10 1 0.3
=70 90 70 50 20 16 40 10 15 4 10 1 0.3
-80 | 100 80 60 20 16 40 10 16 4 10 1 0.3
=120 | 140 120 100 20 16 40 10 19 4 10 2 0.4
=140 | 160 140 120 20 16 40 10 22 4 10 2 0.6
=SFS05- 60 80 60 40 20 18 40 11 15 5 10 1 0.3
=70 90 70 50 20 18 40 11 16 5 10 1 0.3
- 80 | 100 80 60 20 18 40 11 17 5 10 1 0.3
=120 | 140 120 100 20 18 40 11 20 5 10 2 0.6
=140 | 160 140 120 20 18 40 11 23 5 10 2 0.8

A& ER:

@Ll K Length (L1)
JIFFE 1 Diameter
IjEEXS Holder type

$EFRAZ T, Taper size

4

SN 2%

%)
I
)
=
=
I
=
=
o
o
=
o
o
=
o
m
=
[
m
2
m
0




HIZTIN

c?%(%%s BLETI 5 FE 5

-HSK40A-SFS #4571 (3 BHI<E)  HskaoA-SFS SHRINK CHUCK (3° C SLENDER TYPE)

FIG. 1
HSk. NO ‘ D

=1 a

#
4
7]
Uiz]
#
5l

w
I
=
=
=
I
=
=
o
[s]
=)
=
o
=
=]
m
=
w
m
=
m
wn

# & Model d RAEI FIG ZF=KGS

HSK40A-SFS06- 60 80 60 40 20 26 36 40 12 16 6 M5*0.8P 10 1 0.3
=70 90 70 50 20 26 36 40 12 17 6 M5*0.8P 10 1 0.3
- 80 | 100 | 80 60 20 26 36 40 12 18 6 M5*0.8P 10 1 0.3
=120 | 140 | 120 | 100 | 20 26 36 40 12 21 6 M5*0.8P 10 2 0.8

=140 | 160 | 140 | 120 | 20 26 36 40 12 24 6 M5*0.8P 10 2 1
=SFS08- 60 80 60 40 20 26 36 40 14 18 8 M6*1.0P 10 1 0.3
=70 90 70 50 20 26 36 40 14 19 8 M6*1.0P 10 1 0.3
- 80 | 100 | 80 60 20 26 36 40 14 20 8 M6*1.0P 10 1 0.3
=120 | 140 | 120 | 100 | 20 26 36 40 14 23 8 M6*1.0P 10 2 0.8

=140 | 160 | 140 | 120 | 20 26 36 40 14 26 8 M6*1.0P 10 2 1
=SFS10- 60 80 60 40 20 32 42 40 16 20 10 M8*1.0P 10 1 0.3
- 70 90 70 50 20 32 42 40 16 21 10 M8*1.0P 10 1 0.3
=80 | 100 | 80 60 20 32 42 40 16 22 10 M8*1.0P 10 1 0.3
=120 | 140 | 120 | 100 | 20 32 42 40 16 25 10 M8*1.0P 10 2 0.8

=140 | 160 | 140 | 120 | 20 32 42 40 16 28 10 M8*1.0P 10 2 1
-SFS12- 60 80 60 40 20 37 47 40 18 22 12 M10*1.0P 10 1 0.3
=70 90 70 50 20 37 47 40 18 23 12 M10*1.0P 10 1 0.3
- 80 | 100 | 80 60 20 37 47 40 18 24 12 M10*1.0P 10 1 0.4
=120 | 140 | 120 | 100 | 20 37 47 40 18 27 12 M10*1.0P 10 2 0.8

=140 | 160 | 140 | 120 | 20 37 47 40 18 30 12 M10*1.0P 10 2 1
=SFS14- 60 80 60 40 20 37 47 40 20 24 14 M10*1.0P 10 1 0.4
- 70 90 70 50 20 37 47 40 20 25 14 M10*1.0P 10 1 0.4
- 80 | 100 | 80 60 20 37 47 40 20 26 14 M10*1.0P 10 1 0.4
=SFS16=- 60 | 80 60 40 20 40 50 40 22 26 16 M12*1.0P 10 1 0.4
- 70 90 70 50 20 40 50 40 22 27 16 M12*1.0P 10 1 0.4
- 80 | 100 | 80 60 20 40 50 40 22 28 16 M12*1.0P 10 1 0.5

AL RA:

? @Llﬁrg Length (L1)
JI#FE 1R Diameter
If

BE1L S Holder type
HEFRAZ I Taper size



HIETINR

48

BETTHES  [HEmn

*HSK50A-SFS #4571 (3 EMI<E?)  Hsks0a-SFS SHRINK CHUCK (3° C SLENDER TYPE)

FIG. 1

HSK. NO . D
L4
— o :;) J— [ S— = .UT E
7
L2
L3 L1
L

z

w2

75 3

o

A

= g

5l 8

# % Model d RAXEI FIG =& KGS

HSK50A-SFS03- 90 115 90 64 26 12 50 9 15 3 10 1 0.4
=120 145 120 94 26 12 50 9 16 3 10 2 0.5
=160 185 160 134 26 12 50 9 19 3 10 2 0.6
=SFS04- 90 115 90 64 26 16 50 10 16 4 10 1 0.5
=120 145 120 94 26 16 50 10 17 4 10 2 0.6
=160 185 160 134 26 16 50 10 20 4 10 2 0.7
=SFS05- 90 115 90 64 26 18 50 11 17 5 10 1 0.5
=120 145 120 94 26 18 50 11 18 5 10 2 0.6
=160 185 160 134 26 18 50 11 21 5 10 2 0.7

MR IEEA:

@Ll E Length (L1)

JIFFE & Diameter
IhkEfXS Holder type
S$EFRFZT Taper size




HIZTIN

i&%ﬂiﬁﬁi”ﬂ%ﬂ

-HSK50A-SFS #48711R (3 EH{<E)

FIG. 1HSK. NO

4
7]
Uiz]
#
5l

w
I
=
=
~
I
=
=
o
[s]
=)
=
o
=
=]
m
=
w
m
=
m
wn

HSK50A-SFS SHRINK CHUCK (3° C SLENDER TYPE)

=

# #% Mode L L1 L2 L3 L4 L5 D D1 D2 d T RAEIR FIG ZFE= KGS

HSK50A-SFS06- 90 | 115 | 90 64 26 26 36 50 12 18 6 M5*0.8P 10 1 0.7
=120 | 145 | 120 | 94 26 26 36 50 12 21 6 M5*0.8P 10 2 0.8

=160 | 185 | 160 | 134 | 26 26 36 50 12 24 6 M5*0.8P 10 2 0.9

=SFS08-90 | 115 | 90 64 26 26 36 50 14 20 8 M6*1.0P 10 1 0.6

=120 | 145 | 120 | 94 26 26 36 50 14 23 8 M6*1.0P 10 2 0.8

=160 | 185 | 160 | 134 | 26 26 36 50 14 26 8 M6*1.0P 10 2 0.9

=SFS10-90 | 115 | 90 64 26 32 42 50 16 22 10 M8*1.0P 10 1 0.7

=120 | 145 | 120 | 94 26 32 42 50 16 25 10 M8*1.0P 10 2 0.8

=160 | 185 | 160 | 134 | 26 32 42 50 16 28 10 M8*1.0P 10 2 0.9

=SFS12-90 | 115 | 90 64 26 37 47 50 18 24 12 | M10*1.0P 10 1 0.7

=120 | 145 | 120 | 94 26 37 47 50 18 27 12 | M10*1.0P 10 2 0.8

=160 | 185 | 160 | 134 | 26 37 47 50 18 30 12 | M10*1.0P 10 2 0.9

=SFS14-90 | 115 | 90 64 26 37 47 50 20 26 14 | M10*1.0P 10 1 0.7

=120 | 145 | 120 | 94 26 37 47 50 20 29 14 | M10*1.0P 10 2 0.8

=160 | 185 | 160 | 134 | 26 37 47 50 20 32 14 | M10*1.0P 10 2 0.9

=SFS16-90 | 115 | 90 64 26 40 50 50 22 28 16 | M12*1.0P 10 1 0.7

=120 | 145 | 120 | 94 26 40 50 50 22 31 16 | M12*1.0P 10 2 0.8

=160 | 185 | 160 | 134 | 26 40 50 50 22 34 16 | M12*1.0P 10 2 0.9

A& IEER:

? L1 Length (L1)
TIFFE 1R Diameter
M8

BEfL S Holder type
S$HFRFZT Taper size




HIETINR

48

BETTHES  [HEmn

‘HSK63A-SFS #4571 (3 EM1<E?)  Hske3a-SFS SHRINK CHUCK (3° C SLENDER TYPE)

FIG. 1
HSK. NO D
g L4
' TSy - [o'a
! ™
G:b P
==
L3 L2
L1
L
FlG. 2
HSK. NO - D "
=
w2
g L4 _'“g
1 7];
- L ) N = p— — P __U¢E m%
; 2R
% 5l 8
L2
L1
L
# # Model d RAEI FIG == KGS
HSK63A-SFS03- 90 | 122 90 64 26 12 63 9 15 3 10 1 0.7
=120 | 152 120 94 26 12 63 9 16 3 10 2 0.8
-160 | 192 160 134 26 12 63 9 19 3 10 2 0.8
-200 | 232 200 174 26 12 63 9 22 3 10 2 0.9
-SFS04- 90 | 122 90 64 26 16 63 10 16 4 10 1 0.7
=120 | 152 120 94 26 16 63 10 17 4 10 2 0.8
-160 | 192 160 134 26 16 63 10 20 4 10 2 0.9
-200 | 232 200 174 26 16 63 10 23 4 10 2 1
-SFS05- 90 | 122 90 64 26 18 63 1 17 5 10 1 0.7
-120 | 152 120 94 26 18 63 11 18 5 10 2 0.8
-160 | 192 160 134 26 18 63 11 21 5 10 2 0.9
=200 | 232 200 174 26 18 63 11 24 5 10 2 1
AL e

? @Ll K[E Length (L1)
JIFFE 1R Diameter
IHREFLS Holder type

IR T Taper size




HIZTIN

c?%c%%s BLETI 5 FE 5

-HSK63A-SFS #4571 (3 EHI<EY)  1sKe3A-SFS SHRINK CHUCK (3° C SLENDER TYPE)

FIG. 1
HSK. NO ‘ D

'-UT E

*
4
7]
Uiz]
#
5l

w
I
=
=
=
I
=
=
o
[s]
=)
=
o
=
=]
m
=
w
m
=
m
wn

M1& Model d RAEI FIG =|= KGS
HSK63A-SFS06- 90 | 122 | 90 64 26 26 36 63 12 18 6 M5*0.8P 10 1 0.7
=120 | 152 | 120 | 94 26 26 36 63 12 21 6 M5*0.8P 10 2 0.8
=160 | 192 | 160 | 134 | 26 26 36 63 12 24 6 M5*0.8P 10 2 0.9
=200 | 232 | 200 | 174 | 26 26 36 63 12 27 6 M5*0.8P 10 2 1
=250 | 282 | 250 | 224 | 26 26 36 63 12 6 M5*0.8P 10 2 1.1
=SFS08- 90 | 122 | 90 64 26 26 36 63 14 20 8 M6*1.0P 10 1 0.7
=120 | 152 | 120 | 94 26 26 36 63 14 23 8 M6*1.0P 10 2 0.8
=160 | 192 | 160 | 134 | 26 26 36 63 14 26 8 M6*1.0P 10 2 1
=200 | 232 | 200 | 174 | 26 26 36 63 14 29 8 M6*1.0P 10 2 1.1
=250 | 282 | 250 | 224 | 26 26 36 63 14 8 M6*1.0P 10 2 1.2
=SFS10- 90 | 122 | 90 64 26 32 42 63 16 22 10 M8*1.0P 10 1 0.8
=120 | 152 | 120 | 94 26 32 42 63 16 25 10 M8*1.0P 10 2 0.9
=160 | 192 | 160 | 134 | 26 32 42 63 16 28 10 M8*1.0P 10 2 1
=200 | 232 | 200 | 174 | 26 32 42 63 16 31 10 M8*1.0P 10 2 1.2
=250 | 282 | 250 | 224 | 26 32 42 63 16 10 M8*1.0P 10 2 1.4
=SFS12- 90 | 122 | 90 64 26 37 47 63 18 24 12 | M10*1.0P 10 1 0.8
=120 | 152 | 120 | 94 26 37 47 63 18 27 12 | M10*1.0P 10 2 0.9
=160 | 192 | 160 | 134 | 26 37 47 63 18 30 12 | M10*1.0P 10 2 1.1
=200 | 232 | 200 | 174 | 26 37 47 63 18 33 12 | M10*1.0P 10 2 1.3
=250 | 282 | 250 | 224 | 26 37 47 63 18 12 | M10*1.0P 10 2 1.5
=SFS14- 90 | 122 | 90 64 26 37 47 63 20 26 14 | M10*1.0P 10 1 0.8
=120 | 152 | 120 | 94 26 37 47 63 20 29 14 | M10*1.0P 10 2 1
=160 | 192 | 160 | 134 | 26 37 47 63 20 32 14 | M10*1.0P 10 2 1.2
=200 | 232 | 200 | 174 | 26 37 47 63 20 35 14 | M10*1.0P 10 2 1.4
=250 | 282 | 250 | 224 | 26 37 47 63 20 14 | M10*1.0P 10 2 1.6
=SFS16- 90 | 122 | 90 64 26 40 50 63 22 28 16 | M12*1.0P 10 1 0.8
=120 | 152 | 120 | 94 26 40 50 63 22 31 16 | M12*1.0P 10 2 1
=160 | 192 | 160 | 134 | 26 40 50 63 22 34 16 | M12*1.0P 10 2 1.2
=200 | 232 | 200 | 174 | 26 40 50 63 22 37 16 | M12*1.0P 10 2 1.5
=250 | 282 | 250 | 224 | 26 40 50 63 22 16 | M12*1.0P 10 2 1.8
=SFS18- 90 | 122 | 90 64 26 40 50 63 24 30 18 | M12*1.0P 10 1 0.9
=120 | 152 | 120 | 94 26 40 50 63 24 33 18 | M12*1.0P 10 2 1
=160 | 192 | 160 | 134 | 26 40 50 63 24 36 18 | M12*1.0P 10 2 1.3
=200 | 232 | 200 | 174 | 26 40 50 63 24 39 18 | M12*1.0P 10 2 1.6
=250 | 282 | 250 | 224 | 26 40 50 63 24 18 | M12*1.0P 10 2 1.9
=SFS520- 90 | 122 | 90 64 26 42 52 63 26 32 20 | M16*1.0P 10 1 0.9
=120 | 152 | 120 | 94 26 42 52 63 26 35 20 | M16*1.0P 10 2 1.1
=160 | 192 | 160 | 134 | 26 42 52 63 26 38 20 | M16*1.0P 10 2 1.4
=200 | 232 | 200 | 174 | 26 42 52 63 26 41 20 | M16*1.0P 10 2 1.7
=250 | 282 | 250 | 224 | 26 42 52 63 26 20 | M16*1.0P 10 2 2




-HSK100A-SFS #4871H% (3 EMIKE)

HETIHFESY

HIETINR

48

CNCTOOLS

HSK100A-SFS SHRINK CHUCK (3° C SLENDER TYPE)

FlG. 1
HSK. NO
L5
L4
R '-UT E
[s2)
SN
L3 L2
L1
L
FIG. 2
HSK. NO D
L5
L4
>
I - g_ - 2") o IJ_E } ] --UT =
% 2
L3 L2
L1
L
#t& Model L LT L2 L3 4 15 D D1 D2 d T RAKEIN FIG == KGS
HSK100A-SFS06-100 | 150 | 100 | 71 | 29 | 26 | 36 | 100 | 12 | 17 | 6 M5*0.8P 10 1 2.1
=120 |170|120| 91 | 29 | 26 | 36 |100| 12 | 20 | 6 M5*0.8P 10 2 2.2
=160 | 210 (160|131 | 29 | 26 | 36 [100| 12 | 23 | 6 M5*0.8P 10 2 2.3
=200 | 250 (200|171 | 29 | 26 | 36 [100| 12 | 27 | 6 M5*0.8P 10 2 2.5
=250 | 300 (250|221 | 29 | 26 | 36 | 100 | 12 6 M5*0.8P 10 2 2.7
-SFS08-100 | 150 [ 100 | 71 | 29 | 26 | 36 [100| 14 | 19 | 8 M6*1.0P 10 1 2.1
=120 | 170|120| 91 | 29 | 26 | 36 |100| 14 | 22 | 8 M6*1.0P 10 2 2.2
-160 | 210 (160|131 | 29 | 26 | 36 [100| 14 | 25 | 8 M6*1.0P 10 2 2.3
=200 | 250 (200|171| 29 | 26 | 36 [100| 14 | 27 | 8 M6*1.0P 10 2 2.5
=250 | 300|250 |221| 29 | 26 | 36 [ 100 | 14 8 M6*1.0P 10 2 2.7
-SFS10-100 | 150 [ 100 | 71 | 29 | 32 | 42 | 100| 16 | 21 | 10 M8*1.0P 10 1 2.1
=120 | 170 120| 91 | 29 | 32 | 42 [ 100| 16 | 24 | 10 M8*1.0P 10 2 2.2
=160 | 210 | 160|131 | 29 | 32 | 42 [100| 16 | 27 | 10 M8*1.0P 10 2 2.4
=200 | 250 (200|171 | 29 | 32 | 42 [100| 16 | 31 | 10 M8*1.0P 10 2 2.5
-250 | 300 |250(221| 29 | 32 | 42 | 100| 16 10 M8*1.0P 10 2 2.6
-SFS12-100 | 150 (100 | 71 | 29 | 37 | 47 [ 100| 18 | 24 | 12 | M10*1.0P 10 1 2.1
=120 |170(120| 91 | 29 | 37 | 47 [ 100| 18 | 26 | 12 | M10*1.0P 10 2 2.3
=160 | 210 (160|131 | 29 | 37 | 47 | 100| 18 | 29 | 12 | M10*1.0P 10 2 2.5
=200 | 250 (200|171 | 29 | 37 | 47 [ 100| 18 | 32 | 12 | M10*1.0P 10 2 2.6
=250 | 300 (250|221 | 29 | 37 | 47 [ 100 | 18 12 | M10*1.0P 10 2 2.7
-SFS14-100 | 150 [ 100 | 71 | 29 | 37 | 47 | 100| 20 | 26 | 14 | M10*1.0P 10 1 2.2
=120 | 170 (120| 91 | 29 | 37 | 47 | 100| 20 | 28 | 14 | M10*1.0P 10 2 2.3
-160 | 210 (160|131 | 29 | 37 | 47 [ 100| 20 | 30 | 14 | M10*1.0P 10 2 2.5
=200 | 250 (200|171 | 29 | 37 | 47 [ 100| 20 | 34 | 14 | M10*1.0P 10 2 2.7
=250 | 300 (250|221 29 | 37 | 47 | 100 | 20 14 | M10*1.0P 10 2 2.9
-SFS16-100 | 150 [ 100 | 71 | 29 | 40 | 50 [ 100 | 22 | 28 | 16 | M12*1.0P 10 1 2.2
=120 |170(120| 91 | 29 | 40 | 50 [100| 22 | 30 | 16 | M12*1.0P 10 2 2.3
=160 | 210 (160|131 | 29 | 40 | 50 [100| 22 | 32 | 16 | M12*1.0P 10 2 2.6
=200 | 250 (200|171 | 29 | 40 | 50 [ 100 | 22 | 34 | 16 | M12*1.0P 10 2 2.8
=250 | 300 |250(221| 29 | 40 | 50 | 100 | 22 16 | M12*1.0P 10 2 3
-SFS18-100 | 150 [ 100 | 71 | 29 | 40 | 50 [ 100 | 24 | 30 | 18 | M12*1.0P 10 1 2.3
=120 |170|120| 91 | 29 | 40 | 50 [ 100 | 24 | 32 | 18 | M12*1.0P 10 2 2.4
-160 | 210|160 | 131 | 29 | 40 | 50 | 100 | 24 | 36 | 18 | M12*1.0P 10 2 2.7
-200 | 250 (200|171 | 29 | 40 | 50 [ 100 | 24 | 40 | 18 | M12*1.0P 10 2 3
=250 | 300 (250|221 29 | 40 | 50 | 100 | 24 18 | M12*1.0P 10 2 3.3
-SFS20-100 | 150 [ 100 | 71 | 29 | 42 | 52 [ 100 | 27 | 34 | 20 | M16*1.0P 10 1 2.3
=120 | 170 (120| 91 | 29 | 42 | 52 [100| 27 | 35 | 20 | M16*1.0P 10 2 2.4
=160 | 210 (160|131 | 29 | 42 | 52 [ 100 | 27 | 42 | 20 | M16*1.0P 10 2 2.8
=200 | 250 (200|171 | 29 | 42 | 52 [ 100 | 27 | 49 | 20 | M16*1.0P 10 2 3.2
=250 | 300 | 250|221 | 29 | 42 | 52 | 100 | 27 20 | M16*1.0P 10 2 3.6

o

e

SNFS B

(%)
e
=
=z
=
)
=
=
o
@
-
x
o
=
o
m
ol
w
m
2
m
1%




HIZTIN

i&%ﬂiﬁﬁi”ﬂ%ﬂ

-HSK25E-SFS FAZEJIHA (3 EMIKE))  Hskase-SES SHRINK CHUCK (3° C SLENDER TYPE)

FIG. 1 D
HSK. NO [ L4
"OT 3 a
L2
e L5
S 4
g7 L4
e
&R
2 5l
= <] 5 &
©
L1
L

# & Model d RAEI FIG FE=KGS

HSK25E-SFS03-45 58 45 35 10 12 = 25 9 12.5 3 = 10 1 0.1
=55 68 55 45 10 12 - 25 9 [(13.5| 3 - 10 1 0.15

=70 83 70 60 10 12 = 25 9 15 3 = 10 1 0.2

=SFS04-45 58 45 35 10 16 - 25 10 |13.5| 4 - 10 1 0.1

=55 68 55 45 10 16 - 25 10 |14.5| 4 - 10 1 0.15

=70 83 70 60 10 16 = 25 10 16 4 - 10 1 0.2

=SFS05-45 58 45 35 10 18 = 25 11 | 145 5 = 10 1 0.1

=55 68 55 45 10 18 - 25 11 |15.5| 5 - 10 1 0.15

=70 83 70 60 10 18 - 25 11 17 5 - 10 1 0.2

=SFS06-45 58 45 35 10 26 36 25 12 |15.5| 6 M5*0.8P 10 2 0.15

=70 83 70 60 10 26 36 25 12 18 6 M5*0.8P 10 2 0.2

=SFS08-50 63 50 40 10 26 36 25 14 18 8 M6*1.0P 10 2 0.15

=70 83 70 60 10 26 36 25 14 18 8 M6*1.0P 10 2 0.2

=SFS10-50 63 50 40 10 32 42 25 16 19 10 M8*1.0P 10 2 0.15

=70 83 70 60 10 32 42 25 16 19 10 M8*1.0P 10 2 0.2

MR EER:

? $Ll E Length (L1)
JIFFE 1R Diameter
IH8ER S Holder type

$HFRAZ I Taper size



HIETINR

48

BETTHFES  [HEn

-HSK32E-SFS 4TI (3 EMKE)

FIG. 1 D
HSK. NO i L4
,F = L <4358
@
13 L2
L1
L
E7
FIG. 2 rD L5 fa
L4

L]
7
UiZ]
=

%)
I
)
=
=
I
=1
=
o
o
I
o
o
=
o
m
=
%)
m
2
m
0

=

4]

L1

#M 1% Model d RAEI FIG ZE&KGS

HSK32E-SFS03-40 56 | 40 | 20 | 20 | 12 - 32 9 13 3 - 10 1 0.15
=70 86 | 70 | 50 | 20 | 12 - 32 9 16 3 - 10 1 0.2

=-SFS04-40 56 | 40 | 20 | 20 | 16 = 32 | 10 | 14 4 = 10 1 0.15

=70 86 | 70 | 50 | 20 | 16 = 32 | 10 | 17 4 = 10 1 0.2

=SFS05-40 56 | 40 | 20 | 20 | 18 = 32 | 11 15 5 = 10 1 0.15

=70 86 | 70 | 50 | 20 | 18 = 32 | 11 18 5 = 10 1 0.2

-SFS06-50 66 | 50 | 30 | 20 | 26 | 36 | 32 | 12 | 17 6 M5*0.8P 10 2 0.2

-80 96 | 80 | 60 | 20 | 26 | 36 | 32 | 12 | 20 6 M5*0.8P 10 2 0.3

-SFS08-50 66 | 50 | 30 | 20 | 26 | 36 | 32 | 14 | 19 8 M6*1.0P 10 2 0.2

-80 96 | 80 | 60 | 20 | 26 | 36 | 32 | 14 | 22 8 M6*1.0P 10 2 0.3

=SFS10-55 71 55 | 35 | 20 | 32 | 42 | 32 | 16 | 2] 10 M8*1.0P 10 2 0.2

-80 96 | 80 | 60 | 20 | 32 | 42 | 32 | 16 | 22 | 10 M8*1.0P 10 2 0.3

AR BA:

? @Ll B Length (L1)
JI#FE 1 Diameter
IhEE{X S Holder type

AL Taper size




HIZTIN

ciﬁgﬁs BLETI 5 FE 5

-HSK40E-SFS #AZEJIHR (3 EMIKE))  Hskaoe-SFS SHRINK CHUCK (3° C SLENDER TYPE)

FIG. 1
HSK. NO D

']
s 7]
ERL]
2 5 i #& Model d RAEM FG
ﬁ HSK40E-SFS03- 60 80 60 40 20 12 40 9 13 3 10 1 0.3
- 70 90 70 50 20 12 40 9 14 3 10 1 0.3
- 80 100 80 60 20 12 40 9 15 3 10 1 0.3
=120 140 | 120 | 100 20 12 40 9 18 3 10 2 0.4
=140 160 | 140 | 120 20 12 40 9 21 3 10 2 0.6
-SFS04- 60 80 60 40 20 16 40 10 14 4 10 1 0.3
- 70 90 70 50 20 16 40 10 15 4 10 1 0.3
- 80 100 80 60 20 16 40 10 16 4 10 1 0.3
=120 140 | 120 | 100 20 16 40 10 19 4 10 2 0.4
=140 160 | 140 | 120 20 16 40 10 22 4 10 2 0.6
-SFS05- 60 80 60 40 20 18 40 11 15 5 10 1 0.3
=70 90 70 50 20 18 40 11 16 5 10 1 0.3
- 80 100 80 60 20 18 40 11 17 5 10 1 0.3
-120 140 | 120 | 100 20 18 40 11 20 5 10 2 0.6
=140 160 | 140 | 120 20 18 40 11 23 5 10 2 0.8
AR5 ER:

? @Ll K Length (L1)
JIF¥FE1Z Diameter
HeE S Holder type
AR T, Taper size



HIETINR

48

BETRES e

-HSK40E-SFS #AZEJIHR (3 EMIKE))  Hskaoe-SFS SHRINK CHUCK (3° C SLENDER TYPE)

FIG.1
HSK. NO b L5

z
w2
e
e
%3
5l &
# & Model d RAEI FIG == KGS
HSK40E-SFS06- 60 80 60 40 20 26 36 40 12 16 6 M5*0.8P 10 1 0.3
=70 90 70 50 20 26 36 40 12 17 6 M5*0.8P 10 1 0.3
- 80 100 | 80 60 20 26 36 40 12 18 6 M5*0.8P 10 1 0.3
=120 140 | 120 | 100 | 20 26 36 40 12 21 6 M5*0.8P 10 2 0.8
=140 160 | 140 | 120 | 20 26 36 40 12 24 6 M5*0.8P 10 2 1
=SFS08- 60 80 60 40 20 26 36 40 14 18 8 M6*1.0P 10 1 0.3
=70 90 70 50 20 26 36 40 14 19 8 M6*1.0P 10 1 0.3
- 80 100 | 80 60 20 26 36 40 14 20 8 M6*1.0P 10 1 0.3
=120 140 | 120 | 100 | 20 26 36 40 14 23 8 M6*1.0P 10 2 0.8
=140 160 | 140 | 120 | 20 26 36 40 14 26 8 M6*1.0P 10 2 1
=SFS10- 60 80 60 40 20 32 42 40 16 20 10 M8*1.0P 10 1 0.3
- 70 90 70 50 20 32 42 40 16 21 10 M8*1.0P 10 1 0.3
= 80 100 | 80 60 20 32 42 40 16 22 10 M8*1.0P 10 1 0.3
=120 140 | 120 | 100 | 20 32 42 40 16 25 10 M8*1.0P 10 2 0.8
=140 160 | 140 | 120 | 20 32 42 40 16 28 10 M8*1.0P 10 2 1
-SFS12- 60 80 60 40 20 37 47 40 18 22 12 M10*1.0P 10 1 0.3
=70 90 70 50 20 37 47 40 18 23 12 M10*1.0P 10 1 0.3
- 80 100 | 80 60 20 37 47 40 18 24 12 M10*1.0P 10 1 0.4
=120 140 | 120 | 100 | 20 37 47 40 18 27 12 M10*1.0P 10 2 0.8
=140 160 | 140 | 120 | 20 37 47 40 18 30 12 M10*1.0P 10 2 1
=SFS14- 60 80 60 40 20 37 47 40 20 24 14 M10*1.0P 10 1 0.4
=70 90 70 50 20 37 47 40 20 25 14 M10*1.0P 10 1 0.4
- 80 100 | 80 60 20 37 47 40 20 26 14 M10*1.0P 10 1 0.4
=SFS16- 60 80 60 40 20 40 50 40 22 26 16 M12*1.0P 10 1 0.4
=70 90 70 50 20 40 50 40 22 27 16 M12*1.0P 10 1 0.4
- 80 100 | 80 60 20 40 50 40 22 28 16 M12*1.0P 10 1 0.5

MR BA:

? @Ll K[ Length(L1)
JIFFE1Z Diameter
heER S Holdertype

HIRAZIC Taper size




HIZTIN

ciﬁgﬁs BLETI 5 FE 5

-HSK50E-SFS #A4EJIHA (3 EMIKE))  Hoksoe-SFS SHRINK CHUCK (3° C SLENDER TYPE)

FIG. 1
HSK. NO

L4

L2

D L1

FlG. 2

L4

I

I

I

I

I

I

I

I

]
D1

o

L2

L3

L1

WIS

24
|t

w
I
=
=
~
I
=
=
o
o
=
=
o
=
o
m
o
w
m
2
m
wn

#M # Model L L1 L2 L3 L4 D D1 D2 d R KEFH FIG EE KGS
HSK50E-SFS03- 70 95 70 44 26 12 50 9 14 3 10 1 0.5
- 80 105 80 54 26 12 50 9 15 3 10 1 0.6
=100 125 | 100 74 26 12 50 9 17 3 10 2 0.8
-120 145 | 120 94 26 12 50 9 18 3 10 2 1
=150 175 | 150 | 124 26 12 50 9 21 3 10 2 1.2
=SFS04- 70 95 70 44 26 16 50 10 15 4 10 1 0.5
- 80 105 80 54 26 16 50 10 16 4 10 1 0.6
-100 125 | 100 74 26 16 50 10 18 4 10 2 0.8
=120 145 | 120 94 26 16 50 10 19 4 10 2 1
=150 175 | 150 | 124 26 16 50 10 22 4 10 2 1.2
=SFS05- 70 95 70 44 26 18 50 11 16 5 10 1 0.5
- 80 105 80 54 26 18 50 11 17 5 10 1 0.6
=100 125 | 100 74 26 18 50 11 19 5 10 2 0.8
=120 145 | 120 94 26 18 50 11 20 5 10 2 1
=150 175 | 150 | 124 26 18 50 11 23 5 10 2 1.2

= Rb LN

@Ll K Length (L1)
JIHFE1E Diameter
IhkEfXS Holder type

IR Taper size



HIETINR

48

BETTHFES  [HEn

-HSK50E-SFS #AZEJIHA (3 EMIKE!)  Hsksoe-SFS SHRINK CHUCK (3° C SLENDER TYPE)

FIG. 1

HSK. NO 2

o

NS &

S3RI3S ¥IATOH 100L LI4 XNRIHS

=

#M 4% Model d RAEI FIG ZF&EKGS

HSK50E-SFS06- 70 95 | 70 | 44 | 26 | 26 | 36 | 50 | 12 | 17 | 6 M5*0.8P 10 1 0.5
- 80 105| 80 | 54 | 26 | 26 | 36 | 50 | 12 | 18 | 6 M5*0.8P 10 1 0.6
=100 125|100 | 74 | 26 | 26 | 36 | 50 | 12 | 20 | 6 M5*0.8P 10 2 0.8

=120 145|120 | 94 | 26 | 26 | 36 | 50 | 12 | 21 6 M5*0.8P 10 2 1
=150 175|150 | 124 | 26 | 26 | 36 | 50 | 12 | 24 | 6 M5*0.8P 10 2 1.2
-SFS08- 70 95 | 70 | 44 | 26 | 26 | 36 | 50 | 14 | 19 | 8 M6*1.0P 10 1 0.5
=80 105| 80 | 54 | 26 | 26 | 36 | 50 | 14 | 20 | 8 M6*1.0P 10 1 0.6
=100 125|100 | 74 | 26 | 26 | 36 | 50 | 14 | 22 | 8 M6*1.0P 10 2 0.8

=120 145|120 | 94 | 26 | 26 | 36 | 50 | 14 | 23 8 M6*1.0P 10 2 1
=150 175|150 | 124 | 26 | 26 | 36 | 50 | 14 | 26 | 8 M6*1.0P 10 2 1.2
=-SFS10- 70 95 | 70 | 44 | 26 | 32 | 42 | 50 | 16 | 21 | 10 M8*1.0P 10 1 0.5
- 80 105| 80 | 54 | 26 | 32 | 42 | 50 | 16 | 22 | 10 M8*1.0P 10 1 0.6
=100 125|100 | 74 | 26 | 32 | 42 | 50 | 16 | 24 | 10 M8*1.0P 10 2 0.8

=120 145|120 | 94 | 26 | 32 | 42 | 50 | 16 | 25 | 10 M8*1.0P 10 2 1
=150 175|150 | 124 | 26 | 32 | 42 | 50 | 16 | 28 | 10 M8*1.0P 10 2 1.2
=-SFS12- 70 95 | 70 | 44 | 26 | 37 | 47 | 50 | 18 | 23 | 12 | M10*1.0P 10 1 0.5
- 80 105| 80 | 54 | 26 | 37 | 47 | 50 | 18 | 24 | 12 | M10*1.0P 10 1 0.6
=100 125|100 | 74 | 26 | 37 | 47 | 50 | 18 | 26 | 12 | M10*1.0P 10 2 0.8

=120 145|120 | 94 | 26 | 37 | 47 | 50 | 18 | 27 | 12 | M10*1.0P 10 2 1
=150 175|150 | 124 | 26 | 37 | 47 | 50 | 18 | 30 | 12 | M10*1.0P 10 2 1.2

AAR L BA:

@Ll K E Length (L1)
JIFFE 1R Diameter
Ih&EfXS Holder type

SFRFZT, Taper size




TR

i&%ﬂiﬁﬁi”ﬂ%ﬂ

-HSK63E-SFS #AZE IR (3 EHIKE!)  Hskoe3e-SES SHRINK CHUCK (3° C SLENDER TYPE)

FIG.1
HSK. NO

24
g7
T 1
2 51
# #% Model d RAHEI FIG HEKGS

HSK63E-SFS06~- 80 112 | 80 54 26 26 36 63 12 18 6 M5*0.8P 10 1 0.8

=120 152 | 120 | 94 26 26 36 63 12 22 6 M5*0.8P 10 2 0.9

=SFS08- 80 112 | 80 54 | 26 | 26 36 | 63 14 | 20 8 M6*1.0P 10 1 0.8

=120 152 | 120 | 94 26 26 36 63 14 24 8 M6*1.0P 10 2 0.9

=SFS10- 80 112 | 80 54 26 32 42 63 16 22 10 M8*1.0P 10 1 0.8

=120 152 | 120 | 94 26 32 42 63 16 26 10 M8*1.0P 10 2 0.9

=SFS12- 80 112 | 80 54 26 37 47 63 18 24 12 M10*1.0P 10 1 0.9

=120 152 | 120 | 94 26 37 47 63 18 28 12 M10*1.0P 10 2 1

M LER:

$L1 B Length (L1)
JIFFE 1 Diameter
IHEER S Holder type

HEARAZ I Taper size



HIETINR

48

BETTHES [T

-HSK40F-SFS #4871 (3 EMISE)  Hskaor-SFS SHRINK CHUCK (3° C SLENDER TYPE)

FIG. 1 D
HSK. NO L5

\1 P o :
o
# T

o

NI =%

S3RI3S ¥IATOH 100L LI4 XNRIHS

=

# & Model d RAEI FIG FTEKGS
HSK40F-SFS03-70 90 70 50 20 12 - 40 9 14 3 - 10 1 0.4
=SFS04-70 90 70 50 20 16 - 40 10 15 4 - 10 1 0.4
=SFS05-70 90 70 50 20 18 = 40 11 16 5 - 10 1 0.4
=SFS06-70 90 70 50 20 26 36 40 12 17 6 M5*0.8P 10 2 0.4
-SFS08-70 90 70 50 20 26 36 40 14 19 8 M6*1.0P 10 2 0.4
=SFS10-70 90 70 50 20 32 42 40 16 22 10 M8*1.0P 10 2 0.5
=SFS12-70 90 70 50 20 37 47 40 18 24 12 M10*1.0P 10 2 0.5

MRS RA:

@Ll K Length (L1)
JIFFE 1 Diameter
IHEE{X S Holder type

SEFRFZ T Taper size




TR

ﬁ%ﬁ BLETI 5 FE 5

-HSK63F-SFS #A4E T (3 EMISEY)  Hskesr-SFS SHRINK CHUCK (3° C SLENDER TYPE)

FI1G. 2 D

o

SN2

S3R43S ¥IATOH 100L LH XNRIHS

# 1% Model d R KEE FIG EEKGS

HSK63F-SFS03- 80 105 80 54 26 12 63 9 14 3 10 1 0.7
=120 145 120 94 26 12 63 9 16 3 10 2 0.8

=160 185 160 134 26 12 63 9 19 3 10 2 0.9

=SFS04- 80 105 80 54 26 16 63 10 15 4 10 1 0.7

=120 145 120 94 26 16 63 10 17 4 10 2 0.8

=160 185 160 134 26 16 63 10 20 4 10 2 0.9

-SFS05- 80 105 80 54 26 18 63 11 16 5 10 1 0.8

=120 145 120 94 26 18 63 11 18 5 10 2 0.8

=160 185 160 134 26 18 63 11 21 5 10 2 0.9

A& BR:

@Ll K Length (L1)
TIFFE 1R Diameter
IHEEL S Holder type

SEFRFZ T Taper size



HIETINR

48

BETTHFES  [HEn

-HSK63F-SFS #A4E T (3 EMISE)  Hskesr-SFS SHRINK CHUCK (3° C SLENDER TYPE)

FIG. 1 D

o

NS &

S3RI3S ¥IATOH 100L LI4 XNRIHS

=

# & Model d RAEI FIG == KGS
HSK63F-SFS06- 80 105 | 80 54 26 26 36 63 12 17 6 M5*0.8P 10 1 0.8
=120 145 | 120 | 94 26 26 36 63 12 21 6 M5*0.8P 10 2 0.9
=160 185 | 160 | 134 | 26 26 36 63 12 24 6 M5*0.8P 10 2 1
-SFS08- 80 105 | 80 54 26 26 36 63 14 19 8 M6*1.0P 10 1 0.8
=120 145 | 120 | 94 26 26 36 63 14 23 8 M6*1.0P 10 2 0.9
=160 185 | 160 | 134 | 26 26 36 63 14 24 8 M6*1.0P 10 2 1
=SFS10- 85 110 | 85 59 26 32 42 63 16 22 10 M8*1.0P 10 1 0.8
=120 145 | 120 | 94 26 32 42 63 16 25 10 M8*1.0P 10 2 0.9
=160 185 | 160 | 134 | 26 32 42 63 16 28 10 M8*1.0P 10 2 1
=SFS12- 90 115 | 90 64 26 37 47 63 18 24 12 M10*1.0P 10 1 0.8
=120 145 | 120 | 94 26 37 47 63 18 27 12 M10*1.0P 10 2 1
=160 185 | 160 | 134 | 26 37 47 63 18 30 12 M10*1.0P 10 2 1.2
=SFS14- 90 115 | 90 64 26 37 47 63 20 26 14 M10*1.0P 10 1 0.8
=120 145 | 120 | 94 26 37 47 63 20 29 14 M10*1.0P 10 2 1
=160 185 | 160 | 134 | 26 37 47 63 20 32 14 M10*1.0P 10 2 1.2
=SFS16- 95 120 | 95 69 26 40 50 63 22 29 16 M12*1.0P 10 1 0.9
=120 145 | 120 | 94 26 40 50 63 22 31 16 M12*1.0P 10 2 1
=160 185 | 160 | 134 | 26 40 50 63 22 34 16 M12*1.0P 10 2 1.3
=SFS18- 95 120 | 95 69 26 40 50 63 24 31 18 M12*1.0P 10 1 0.9
=120 145 | 120 | 94 26 40 50 63 24 33 18 M12*1.0P 10 2 1
=160 185 | 160 | 134 | 26 40 50 63 24 36 18 M12*1.0P 10 2 1.4
=SFS20-100 125 | 100 | 74 26 42 52 63 27 34 20 M16*1.0P 10 1 1
=120 145 | 120 | 94 26 42 52 63 27 36 20 M16*1.0P 10 2 1.1
=160 185 | 160 | 134 | 26 42 52 63 27 38 20 M16*1.0P 10 2 1.5

AR EER:

T @Ll K Length(L1)
TIFFE 1 Diameter
IHEEfX S Holder type

IR Taper size




TR

Ak

CNCTOOLS

HETIHFE S

‘HSK63A-SFK #A4ETIHA (4.5 EiB7KEY )  Hske3a-SrK SHRINK CHUCK (4.5° SHRINK-FIT COOLANT TYPE)

#,

2-M3*0. 5P

= = o= S

L4

2-M3*0. 5P

AZHVIII Y —

s

—

D
D2

S = -
'8 7] I N :
231
a : L2
L3 K]
# ¥ Model L2 L3 L4 D D1 D2 o] R FIG == KGS
HSK63A-SF03- 80K 112 80 54 26 12 63 15 20 3 5 1 0.7
=120K 152 120 94 26 12 63 15 20 3 5 2 1.1
=160K 192 160 134 26 12 63 15 25 3 5 2 1.3
-SF04-80K 112 80 54 26 16 63 15 20 4 5 1 0.7
=120K 152 120 94 26 16 63 15 20 4 5 2 1.1
=160K 192 160 134 26 16 63 15 25 4 5 2 1.3
=SF05-80K 112 80 54 26 18 63 15 20 5 5 1 0.7
=120K 152 120 94 26 18 63 15 20 5 5 2 1.1
=160K 192 160 134 26 18 63 15 25 5 5 2 1.3
A& ER:

E L1 ¥ Length(L1)

T JIF¥FE 1 Diameter
IngEfS Holder type

SFRFZT Taper size



‘HSK63A-SFK #4574 (4.5 Ei@KE)

HIETINR

HETIHFESY cﬁﬁs

HSK63A-SFK SHRINK CHUCK (4.5° SHRINK-FIT COOLANT TYPE)

FIG-T sk vo D
n L5 2-M3*0. 5P
E .
A 7 x
sl I —_ 11 5|8
e \T
L2
L1
FIG. 2 Hsk.NO D .
L5
Mo, 5P
= g S
N i
? T z
L2 m%
L1 3
L i
Vi
’;ﬁ 2
I L5 - =
g AN, 5P 5l g
3 7
= 23 —-_tof 5|8
(e = <
73 Léi\I
L2
L1
L
# #% Model L L1 L2 L3 4 L5 L6 D D1 D2 D3 d T T R FIG Z=E£KGS
HSK63A-SF06- 80K (11280 (54|26 |26 |36| - [63]21]27| - | 6 | M5*0.8P | M6*1.0P | 3 | 1 0.8
=-120K [152(120/ 94|26 26|36 | - [63]21(27| - | 6 | M5*0.8P | M6*1.0P | 10| 2 1.1
-160K [192[160[134| 26 [26 [36| 79 [63]21[27[40] 6 | M5*0.8P | M6*1.0P | 6 | 3 1.4
-200K [232(200[174| 26 [ 26 |36 | 119 [63]21[27[40| 6 | M5*0.8P | M6*1.0P | 6 | 3 1.8
-250K [282(250(224] 26 [ 26 |36 | 169 |63 |21[27 40| 6 | M5*0.8P | M6*1.0P | 6 | 3 2.2
-300K [332[300(274] 26 [ 26 [36 | 219 [63[21[27 40| 6 | M5*0.8P | M6*1.0P | 6 | 3 2.6
-SF08- 80K (11280 |54 |26 |26 (36| - [63]21]27| - | 8| mMe*1.0p | M6*1.0P | 3 | 1 0.8
=120K [152(120/ 94|26 26|36 | - [63]21(27| - | 8 | M6*1.0P | M6*1.0P | 10| 2 1.1
-160K [192[160[134| 26 [26 [36| 79 [63]21[27[40] 8 | M6*1.0P | M6*1.0P | 6 | 3 1.4
-200K [232(200[174| 26 [26 |36 | 119 [63]21[27[40] 8 | M6*1.0P | M6*1.0P | 6 | 3 1.8
-250K [282(250(224| 26 [ 26 |36 | 169 [63]21 27 40| 8 | M6*1.0P | M6*1.0P | 6 | 3 2.2
-300K [332(300(274| 26 [26 |36 | 219 [63]21[27 40| 8 | M6*1.0P | M6*1.0P | 6 | 3 2.6
-SF10- 85K (1178559 |26 3242 - [63[24[32] - [10| m8*1.0p | M6*1.0P | 2 | 1 0.9
-120K [152[120[ 94 | 26 [ 32|42 - [63]24[32] - [10]| ™M8*1.0P | M6*1.0P | 8 | 2 1.2
-160K [192[160[134| 26 [ 32 42| 79 [63]24[32[39[ 10| ™M8*1.0P | M6*1.0P | 7 | 3 1.5
-200K [232[200[174] 26 [ 32 42| 119 [63]24[32[39| 10| mM8*1.0p | M6*10P | 7 | 3 1.9
-250K [282[250(224] 26 [32 42| 169 [63]24[32[39| 10| Ms8*1.0p | M6*10Pp | 7 | 3 2.3
-300K [332[300(274] 26 [ 32 42| 219 [63[24[32[39| 10| Ms*1.0p | M6*10Pp | 7 | 3 2.7
-SF12- 90K [122| 90|64 |26 |37 [47| - [63[|24[32] - [ 12| M10*1.0p | M6*1.0P | 3 | 1 0.9
-120K [152[120[ 94 | 26 [37 47| - [63]24(32] - [ 12| m10*1.0p | M6*1.0P | 8 | 2 1.2
-160K [192[160[134| 26 [ 37 [47| 79 [63]24(32[39[ 12| m10*1.0P | M6*1.0P | 7 | 3 1.5
-200K [232(200[174| 26 [ 37 [ 47| 119 [63]24(32[39[ 12| M10*1.0P | M6*1.0P | 7 | 3 1.9
-250K [282[250(224] 26 |37 [47 | 169 |63 ]24[32]39|12] M10*1.0p | M6*10P | 7 | 3 2.3
-300K [332[300(274] 26 |37 [47 | 219 [63[24[32[39| 12| m10*1.0p | M6*10P | 7 | 3 2.7
-SF14- 90K [122]90 |64 |26 |37 47| - [63]27[34| - |14 mi0*1.0p | M6*1.0P [ 38| 1 0.9
-120K [152[120/ 94| 26 |37 |47| - |63|27]34| - | 14| mM10*1.0p | M6*1.0P 2 1.2
-160K [192(160(134| 26 |37 |47 | 78 [63[27(34|42] 14| m10*1.0P | M6*1.0P | 5 | 3 1.5
-200K [232[200[174| 26 [ 37 [ 47| 118 [63]27 (34|42 ] 14| m10*1.0P | M6*1.0P | 5 | 3 1.9
-250K [282(250(224| 26 [ 37 [ 47| 168 [63]27 (34| 42] 14| M10*1.0P | M6*1.0P | 5 | 3 2.3
-300 |332(300(274] 26 |37 47| 218 [63|27[34[42] 14| m10*1.0p | M6*1.0P | 5 | 3 2.7

MR LER:

leﬁ

E L1 4 Length(L1)

JIFFE1Z Diameter
£{X 5 Holder type

S$EFRAZT, Taper size




HIZTIN

c?%(%%s BLETI 5 FE 5

‘HSK63A-SFK A48 T1HE (4.5 EiB7KEY )  Hske3a-SrK SHRINK CHUCK (4.5° SHRINK-FIT COOLANT TYPE)

FIG. 1

@ MM T
L5
2—-M3*0.
] 13058

77—
o, +—- o 5|8
e \1
L2
L1
0 11
L5 -
™ 2=M3*0. 5P
¥
= Jo A - of =<
= —-_ 1=tz
2 L2
R X
1 E L
s 7]
e
S T1 L5 N
il - M3*0. 5P
g ¥ 7]
st --_F=t 5|8
[ = < 1
7 L6 N
L2
L1
‘ L
HSK63A-SF16- 95K (127|95 (69|26 |40 |50 | - [ 63|27 |34 | - |16 | M12*1.0P | M6*1.0P | 3 1 0.9
=120K 152|120/ 94 | 26 |40 |50 | - |63 |27 |34 | - |16 | M12*1.0P | M6*1.0P | 8 2 1.2
=160K 192|160|134| 26 |40 |50 | 78 | 63 | 27 | 34 | 42 | 16 | M12*1.0P | M6*1.0P | 5 3 1.5
-200K |(232(200|174| 26 | 40 | 50 |118| 63 |27 |34 |42 |16 | M12*1.0P | M6*1.0P | 5 3 1.9
=250K |282(250(224| 26 | 40 | 50 |168| 63 | 27 |34 |42 | 16 | M12*1.0P | M6*1.0P | 5 3 2.3
=300K 332|300(274| 26 | 40 | 50 [218| 63 | 27 | 34 | 42 | 16 | M12*1.0P | M6*1.0P | 5 3 2.7
=SF18= 95K 127/ 95|69 |26 {40 |50 | - |63 (33 |42| - |18 | M12*1.0P | M6*1.0P | 4 1 1.1
=120K 152|120/ 94 | 26 |40 |50 | - |63 (33|42 | - |18 | M12*1.0P | M6*1.0P | 5 2 1.3
=160K 192|160|134| 26 |40 |50 | - |63 (33|42 | - | 18| M12*1.0P | M6*1.0P | 5 2 1.6
=200K |(232(200|174| 26 |40 (50| = | 63|33 (42| - [ 18| M12*1.0P | M6*1.0P | 5 2 2.1
-250K |282(250(224| 26 |40 (50| = | 63|33 (42| - [ 18| M12*1.0P | M6*1.0P | 5 2 2.6
=300K 332(300(274| 26 |40 |50 | = | 63|33 (42| - [18| M12*1.0P | M6*1.0P | 5 2 3.1
=SF20-100K 132|100| 74 | 26 |42 |52 | - |63 (33 |42| - | 20| M16*1.0P | M6*1.0P | 5 1 1.1
=120K 152|120/ 94 | 26 |42 |52 | - |63 (33 |42| - | 20| M16*1.0P | M6*1.0P | 5 2 1.3
=160K 192|160|134| 26 |42 |52 | - |63 (33|42 | - | 20| M16*1.0P | M6*1.0P | 5 2 1.6
=200K |232|200(174| 26 |42 |52 | - |63 |33 (42| - | 20| M16*1.0P | M6*1.0P | 5 2 2.1
=250K |282|250(224| 26 |42 |52 | - |63 |33 (42| - |20 | M16*1.0P | M6*1.0P | 5 2 2.6
-300K (332(300(274| 26 |42 (52| - 63|33 (42| - [20| M16*1.0P | M6*1.0P | 5 2 3.1
=SF25-115K 147|115/ 89 | 26 |48 |58 | - |63 |44 |53 | - | 25| M16*1.0P | M6*1.0P | 1 1 1.9
=130K 162|130|104| 26 |48 |58 | - |63 |44 |53 | - | 25| M16*1.0P | M6*1.0P | 1 2 2.1
=160K 192|160|134| 26 |48 |58 | - |63 |44 |53 | - | 25| M16*1.0P | M6*1.0P | 1 2 2.2
=200K |232(200|174| 26 |48 |58 | - | 63|44 |53 | - [25| M16*1.0P | M6*1.0P | 1 2 2.6
=250K |282(250(224| 26 |48 |58 | - | 63|44 |53 | - [25| M16*1.0P | M6*1.0P | 1 2 3
=300K [332|300(274| 26 |48 |58 | - |63 |44 |53 | = | 25| M16*1.0P | M6*1.0P | 1 2 3.4
=SF32-120K 152|120/ 94 | 26 |52 |62 | - |63 |44 |53 | - | 32| M16*1.0P | M6*1.0P | 1 1 1.9
=130K 162|130|104| 26 |52 |62 | - |63 |44 |53 | - | 32| M16*1.0P | M6*1.0P | 1 2 2.2
=160K 192|160|134| 26 |52 |62 | - |63 |44 |53 | - | 32| M16*1.0P | M6*1.0P | 1 2 2.3
=200K |232(200(|174| 26 |52 |62| - | 63|44 |53 | - [32| M16*1.0P | M6*1.0P | 1 2 2.7
=250K |282(250(224| 26 |52 62| - | 63|44 53| - [32| M16*1.0P | M6*1.0P | 1 2 3.1
=300K 332(300|274| 26 |52 |62 | - | 63|44 |53 | - |32| M16*1.0P | M6*1.0P | 1 2 3.4
AL AR:
@_l K Length (L1)
JIFFE 1 Diameter

AR Taper size



HIETINR

48

BETRES e

*HSKT100A-SFK FA4ETIHE (4.5 FEiEZKEY)  HsK100a-SFK SHRINK CHUCK (4.5° SHRINK-FIT COOLANT TYPE)

Fle.1 HSK. NO 2

S —
Lz
. 7 4
e

1 ‘ 14| 2-u3%0.5P

[y
alg)

)
]
3
4

4

L3

Fle.3 HSK. NO L

L1

NI =%

=

(%)
e
=
=z
=
i)
=
=
o
@
=
x
o
=
o
m
ol
w
m
2
m
1%

| Tj" £ 2 | 2-M3%0.5P
= ‘ i o . . .
— —; I el e i —+ - ____oi5|S)
‘. D[ I<e r
h ij — _ L6
- L2
L1
| L
# 1% Model L L1 L2 L3 L4 L5 L6 D D1 D2 D3 d T T1 R FIG E|E KGS

HSK100A-SF06- 85K |135| 85 | 56 |29 | 26 | 36 | - |[100| 21 | 27 | - 6 | M5*0.8P | M6*1.0P | 7 | 1 2.2
=120K [170[120| 91 | 29 | 26 | 36 | = [100| 21 | 27 | ~- 6 | M5*0.8P | M6*1.0P [ 10 | 2 2.5
-160K [210(160(131| 29 | 26 | 36 | 61 |100| 21 | 27 | 39 | 6 | M5*0.8P | M6*1.0P | 20 | 3 2.8
=200K [250(200(171| 29 | 26 | 36 |101|100| 21 | 27 | 39 | 6 | M5*0.8P | M6*1.0P | 20 | 3 3.2
=250K [300|250(221|29 | 26 | 36 [151|100| 21 | 27 | 39 | 6 | M5*0.8P | M6*1.0P | 20 | 3 3.6
=300K [350(300(271| 29 | 26 | 36 |201|100| 21 | 27 | 39 | 6 | M5*0.8P | M6*1.0P | 20 | 3 4.0
=SF08- 85K [135| 85 | 56 | 29 | 26 | 36 | - |[100| 21 | 27 | - 8 | M6*1.0P | M6*1.0P | 7 | 1 2.2
=120K [170[120| 91 | 29 | 26 | 36 | - [100| 21 | 27 | - 8 | M6*1.0P | M6*1.0P [ 10| 2 2.5
=160K [210(160(131| 29 | 26 | 36 | 61 |100| 21 | 27 | 39 | 8 | M6*1.0P | M6*1.0P | 20 | 3 2.8
-200K [250(200(171| 29 | 26 | 36 |101|100| 21 | 27 | 39 | 8 | M6*1.0P | M6*1.0P | 20 | 3 3.2
=250K [300(250(221| 29 | 26 | 36 |151|100| 21 | 24 | 39 | 5 | M6*1.0P | M6*1.0P | 20 | 3 3.6
=300K [350(300(271| 29 | 26 | 36 |201|100| 21 | 24 | 39 | 5 | M6*1.0P | M6*1.0P | 20 | 3 4.0
=SF10- 90K |[140| 90 | 61 | 29 | 32 | 42 | - |100| 24 | 32 | - 10 | M8*1.0P | M6*1.0P| 5 | 1 2.3
=120K [170[120| 91 | 29 | 32 | 42| - |100| 24 | 32 | - 10 | M8*1.0P | M6*1.0P | 10 | 2 2.6
=160K [210(160(131| 29 | 32 | 42 | 72 |100| 24 | 32 | 39 | 10 | M8*1.0P | M6*1.0P | 20 | 3 2.9
=200K [250(200(171| 29 | 32 | 42 |101|100| 24 | 32 | 44 | 10 | M8*1.0P | M6*1.0P | 20 | 3 3.3
=250K [300(250(221| 29 | 32 | 41 |151|100| 24 | 32 | 44 | 10 | M8*1.0P | M6*1.0P | 20 | 3 3.7
=300K [350(300(271| 29 | 26 | 41 |201|100| 24 | 32 | 44 | 10 | M8*1.0P | M6*1.0P | 20 | 3 4.1
=SF12- 95K |145| 95 | 66 | 29 | 37 | 47 - |100| 24 | 32 - 12 |M10*1.0P | M6*1.0P | 5 1 2.3
=120K [170[120| 91 | 29 | 37 | 47 | - |100| 24 | 32 | ~- 12 |M10*1.0P | M6*1.0P | 10 | 2 2.6
=160K [210(160(131| 29 | 37 | 47 | 72 |100| 24 | 32 | 39 | 12 |M10*1.0P| M6*1.0P | 20 | 3 2.9
=200K [250(200(171| 29 | 37 | 47 |101|100| 24 | 32 | 44 | 12 |M10*1.0P| M6*1.0P | 20 | 3 3.3
=250K [300(250(221| 29 | 37 | 47 |151|100| 24 | 32 | 44 | 12 |M10*1.0P| M6*1.0P | 20 | 3 3.7
=300K [350(300(271| 29 | 37 | 47 |201|100| 24 | 32 | 44 | 12 |M10*1.0P| M6*1.0P | 20 | 3 4.1
=SF14=- 95K [145| 95 | 66 | 29 | 37 | 47 - [100| 27 | 34 = 14 | M10*1.0P | M6*1.0P | 5 1 2.3
=120K [170(120| 91 | 29 | 37 | 47 - [100| 27 | 34 = 14 |M10*1.0P | M6*1.0P | 10 | 2 2.6
=160K [210|160|131| 29 | 37 | 47 | 66 |100| 27 | 34 | 44 | 14 |[M10*1.0P | M6*1.0P | 20 | 3 2.9
=200K [250(200(171| 29 | 37 | 47 |101|100| 27 | 34 | 46 | 14 |M10*1.0P| M6*1.0P | 20 | 3 3.3
=250K [300(250(221| 29 | 37 | 47 |151|100| 27 | 34 | 46 | 14 |M10*1.0P| M6*1.0P | 20 | 3 3.7
=300K [350(300(271| 29 | 26 | 41 [201[100| 24 | 32 | 46 | 14 |M10*1.0P| M6*1.0P | 20 | 3 4.1

MR EER:

E L1 Length(L1)
JI#FE 18 Diameter
HHEARS Holder type

SEFRFZ T Taper size




HIZTIN

c?%(%%s BLETI 5 FE 5

*HSKT100A-SFK FA4ETIHE (4.5 FEiEZKEY)  HsK100a-SFK SHRINK CHUCK (4.5° SHRINK-FIT COOLANT TYPE)

b L5

j‘ L4 2-M3*0. 5P

—|l
- EE

L1

FIG-3 HSK. NO b

S3R43S ¥IATOH 100L LH XNRIHS
SN

D
@ ¢ a8
L6
L3 L2
L1
L
# #& Model L L1 L2 L3 L4 L5 L6 D D1 D2 D3 d T T1 R FIG ZF|=KGS

HSK100A-SF16-100K | 150|100| 71 | 29 | 40 | 50 | - |100| 27 | 34| - | 16 | M12*1.0P| M6*1.0P | 5 | 1 2.3
=120K [170(120| 91 | 29 | 40 | 50 | - |100| 27 [ 34| - | 16 [ M12*1.0P| M6*1.0P [10| 2 2.6
=160K [210|160|131| 29 | 40 | 50 | 66 |100| 27 | 34 | 44 | 16 | M12*1.0P| M6*1.0P [20| 3 2.9
-200K [250(200(171| 29 | 40 | 50 |101|100| 27 | 34 | 46 | 16 | M12*1.0P | M6*1.0P [20| 3 3.3
=250K [300|250(221| 29 | 40 | 50 |151|100| 27 | 34 | 46 | 16 | M12*1.0P | M6*1.0P [20| 3 3.7
=300K [350|300|271| 29 | 40 | 50 {201 |100| 27 | 34 | 46 | 16 | M12*1.0P | M6*1.0P |20| 3 4.1
=SF18-100K [150(100| 71 | 29 | 40 | 50 | - |100| 33 [ 42| - | 18 [M12*1.0P | M6*1.0P | 5 | 1 2.4
=120K [170(120| 91 | 29 | 40 | 50 | - |100| 33 |42 | - | 18 | M12*1.0P| M6*1.0P [10| 2 2.7
-160K [210(160(131| 29 | 40 | 50 | 78 |100| 33 | 42 | 46 | 18 | M12*1.0P | M6*1.0P [20| 3 3.1
=200K [250|200|171| 29 | 40 | 50 {116|100| 33 | 42 | 46 | 18 | M12*1.0P | M6*1.0P |20 | 3 3.4
=250K [300|250(221| 29 | 40 | 50 |166|100| 33 | 42 | 46 | 18 | M12*1.0P | M6*1.0P [20| 3 3.8
=300K [350|300|271| 29 | 40 | 50 [{216|100| 33 | 42 | 46 | 18 | M12*1.0P | M6*1.0P |20| 3 4.2
=SF20-105K [155(105| 76 | 29 | 42 | 52 | - |100| 33 [ 42| - | 20 [M16*1.0P | M6*1.0P | 5 | 1 2.4
-120K [170(120| 91 | 29 | 42 | 52| - |100| 33 |42 | - | 20 | M16*1.0P| M6*1.0P [10| 2 2.7
=160K [210|160|131| 29 | 42 | 52 | 78 |100| 33 | 42 | 46 | 20 | M16*1.0P | M6*1.0P |20| 3 3.1
=200K [250(200(171| 29 | 42 | 52 |116|100| 33 | 42 | 46 | 20 | M16*1.0P | M6*1.0P [20| 3 3.4
=250K [300|250(221| 29 | 42 | 52 [166|100| 33 | 42 | 46 | 20 | M16*1.0P | M6*1.0P |20| 3 3.8
=300K [350(300(271| 29 | 42 | 52 |216|100| 33 | 42 | 46 | 20 | M16*1.0P | M6*1.0P [20| 3 4.2
-SF25-115K [165(115| 86 | 29 | 48 | 58 | - |100| 44 | 53 | = | 25 |[M16*1.0P | M6*1.0P | 5 | 1 3.2
=130K [180|130|101| 29 | 48 | 58 | - |100| 44 | 53 | - | 25 |M16*1.0P | M6*1.0P 10| 2 3.4
=160K [210(160(131| 29 | 48 | 58 | - |100| 44 | 53| - | 25 | M16*1.0P| M6*1.0P [16| 2 3.6
=200K [250(200(171| 29 | 48 | 58 | - |100| 44 | 53| - | 25 | M16*1.0P| M6*1.0P [16| 2 4.1
=250K [300(250(221| 29 | 48| 58| - |100| 44 | 53| - | 25 | M16*1.0P| M6*1.0P [16| 2 4.6
=300K [350(300(271| 29 |48 | 58| - |100| 44 | 53| - | 25 [ M16*1.0P| M6*1.0P [16| 2 5.1
=SF32-120K |170(120| 91 | 29 [ 52 | 62 | - [100| 44 | 53 | - | 32 | M16*1.0P | M6*1.0P | 5 | 1 3.2
=140K [190(140(111| 29 | 52 | 62| - |100| 44 | 53| - | 32 [ M16*1.0P| M6*1.0P [10| 2 3.4
=160K [210(160(131| 29 | 52 | 62 | - |100| 44 | 53 | - | 32 [ M16*1.0P| M6*1.0P [16| 2 3.6
=200K [250(200(171| 29 | 52 | 62| - |100| 44 | 53| - | 32 [ M16*1.0P| M6*1.0P [16| 2 41
=250K [300(250(221| 29 |52 | 62| - |100| 44 | 53| - | 32 [ M16*1.0P| M6*1.0P [16| 2 4.6
=300K |[350|300|271| 29 |52 |62 | - |100| 44 | 53 | - | 32 | M16*1.0P| M6*1.0P |16| 2 5.1




HIETINR

48

HETIHFESY

CNCTOOLS

HEEM RS
SBT BEEW EHRE
SBT SPINDLE SYSTEM

BT{R7: 244 i iE {

SBT#A M E L

® EIMITENENARL, L
BT A, U E [E B PR E E fi
&R,

[ SBT IRMISHRA:

® REENILEREEEMMIRTREE
® FEiKy)R%Gan
® SNt EEEYIH

\_

® iEE ATC BafitINEERE
® SiEfEiEEY Z MiBmmRTRE
o REEEIMINEE

)

ANEN TimEXERER! !

IR EEER, WIMtiEe,

TIMERMIIRN, 5FHmEmAHNER, @B
WREKBEAN, THRBERESEY K, LK
HEEM R B, FBRGEEWGAZIFEEE,

(&E{E)
#40 800Kg 20um
#50 2000Kg 20um

ERPIBERBSE, HAERTMPERREENETR. (&
ABRIITAOHISTE)

SBT 7Jt&
| m
SBT JJ#R
SR T
| owe
—* N
P |
?
‘ 7 =

RIENFRE, EEERTHANMME, &R BT
TIRNEEEREHMNARER. MikEEWGH
SBT RANEEERRIE=IMT. Ft, SBT 71K
NIRRT EZ 1858,

SBT50

BT30 4% | $31.75 ¢46

1
$ 69.85

BT40 §f4# | dp44.45 63

BT50 $4 | $69.85 $100

“SBT £H “5” SBT JJ# “KI&iR4AES

SBT F4 BT i
+ +

[B] &t

o) o

TIABRRE A BRTSS, BEfRTL MAS-BT M RiTH,

SBT XM AKIEIHES SBT JIH5 SBT M, TIRXREMEER
EEM AR, SBT It Al ERRARENKN BT i, BX
MER TRAEREE M. AT REMEEUNLFRIERE, BE
SBT X/ SBT JJ#. 55b, M SBT JIHALASMIFE E fi
JIHREY, AIRESRARMANIR TR, HUEER.

HBINTE SBT 4 SBT JJ1Ro

1B707E SBT E4h-EA SBT JJH&F BT 711,

JNFS =h

(%)
e
=
=z
=
I
=
=
o
o
-
x
o
=
o
m
o
)
m
2
m
h




HIZTIN

ciﬁgﬁs BLETI 5 FE 5

-BEEHE REFERENCE DETAILS
60°
<€ > d
L4 N T N—
A
A
—
N
sl 3l 1] IS
Y
L v
a
A.

" L2 \'L‘ 5
z L1 )
345
8 7]
T
2 %ﬁ M Model
Z 51
a SBT30 46 31.75 | 56.14 | 38 12.5 16.1 8 70.4 | 48.4 34 24 21 1 M12*1.75P

SBT40 63 | 44.45|75.679| 53 17 16.1 10 92.4 65.4 43 30 26 1 M16*2.0P

SBT50 100 | 69.85(119.02| 83 25 25.7 15 [139.8 | 101.8 62 45 36.5 1.5 M24*3.0P

e

OHERE: <AT3

OEARMRK: JIS-SCM415 or JIS SNCM220 or JIS SNCM439

OMWEE: HRC56° ~58° BHFE >0.8mm

OHEREE: <0.8um

OXMEAME: Ra<0.5um

OTIMAMKRTI BIMEE : BT V BUEZIHH/K#ME (DIN-69871-AD+B)

© ER, EOC, FMA, FMB, MLC, MLD, MLT, SCK, SFC, SKS. SLN (DIN, FID, JIS) . SOM, TG & &: B JIMHAMA DO H KM
# (DIN-69871-AD)

O JIWMBEFIRIRESN T4 G6.3, TIBIMEEREZEITE G2.5

O A{AM3E : BIG-PLUS

Features:

© Taper tolerance<AT3

© Basic Material:JIS-SCM415

© Hardness>HRC 56° Carbon depth>0.8mm

© Roundness<0.8um

© Surface roughness:Ra<0.5um

© Ifitis suitable for center coolant standard(DIN-69871-AD or B),it can be ordered

© ER. EOC. FMA, FMB. MLC. MLD. MLT. SCK. SFC. SKS. SLN(DIN. FID. JIS). SOM. TG Are in compliance
with:Water through the chuck body center type(DIN-69871-AD)

© The shank has pre-balance at G6.3,and can provide percision balance at G2.5,made by request

© Shank body standard:BIG=-PLUS



HIETINR

48

BETTHES  [HEmn

-SBT-SLK # 45 E Gili 4% SBT-SLK SEMI-FINISHED SHRINK FIT CHUCK

FIG. 1
SBT. NO 3°

# #& Model

SBT30-SLK12- 45 93.4 45 24 22 = = 40 = 38 1

SBT40-SLK12- 45 110.4 45 19 27 = = 40 = 38 1 115
=75 140.4 75 49 27 = = 42.4 = 38 1 1.45
=135 200.4 | 135 109 27 89 = 47 = 38 2 2.2
=165 230.4 | 165 139 27 89 = 47 = 38 2 2.65
=200 265.4 | 200 174 27 89 145 47 52 38 3 3.25
=225 290.4 | 225 199 27 89 145 47 52 38 3

RS RA:

$Ll K Length (L1)
JIFFE 4R Diameter
IngefXS Holder type

HFRAZ I Taper size

4

S3RI3S ¥IATOH 100L LI4 XNRIHS

JNFS =




TR

c&gﬁs RETTRES

-SBT50-SLK # 45 B i ik SBT50-SLK SEMI-FINISHED SHRINK FIT CHUCK

R
27 -
z 1R - . -
il - .
B2 1§ Accessories L3 ‘J L2
&-!-‘:E ! L1
» P.K19
# & Model L4 D D1 d FIG EE KGS
SBT50-SLK12- 75 176.8 75 38.5 38 - 41 - 38 1

=105 206.8 105 68.5 38 12 43 65 38 2

=135 236.8 135 98.5 38 12 46.5 65 38 2

=165 266.8 165 128.5 38 12 50 65 38 2

=225 326.8 225 188.5 38 12 56 65 38 2

=265 366.8 265 228.5 38 12 60 65 38 2

=315 416.8 315 278.5 38 12 65.5 65.5 38 2

S5 RE:
?Ll K Length (L1)
T JIFFE 12 Diameter
IEEfXS Holder type
SRR Taper size



HIETINR

48

BETTHFES  [HEn

-BEEH REFERENCE DETAILS
L6
60°
L3 ~7
L %
BT. NO y

)//

A
of % T
(=]
S| 3 3 g 9l o
Y

15[

< L2 %~ L5 0
L1 ) : #\,2
b5 é
a 7] c
#M& Model g e
BT30 46 | 31.75|56.14 | 38 | 12.5 | 16.1 8 70.4 | 48.4 34 24 20 2 M12*1.75P ’?ﬁg
BT40 63 |44.45|75.679| 53 17 16.1 10 | 924 | 65.4 70 30 25 2 M16*2.0P é
BT50 100 | 69.85 |119.02| 83 25 25.7 | 15 |139.8|101.8| 90 45 35 3 M24*3.0P
S

OHEREE: <AT3

OEARMR: JIS-SCM415 or JIS SNCM220 or JIS SNCM439

OMEE: HRC56° ~58° BHFE >0.8mm

OHEE: <0.8um

OXMmMAEREE: Ra<0.5um

OTIMAKTI BIMERE : BT V BUE= 17 H/K#ME (DIN-69871-AD+B)

© ER, EOC, FMA, FMB, MLC, MLD, MLT, SCK, SFC, SKS. SLN (DIN, FID, JIS) . SOM. TG & &: B JIHARMAE DO H KM
# (DIN-69871-AD)

O JIRETURITEN T G6.3, TIBIMEERBEHTE G2.5

OZAMHE: JIS MAS 403 & B6339

Features:

© Taper tolerance<AT3

© Basic Material:JIS-SCM415

© Hardness>HRC 56° Carbon depth>0.8mm

© Roundness<0.8um

© Surface roughness:Ra<0.5um

© Ifitis suitable for center coolant standard(DIN-69871-AD or B),it can be ordered

© ER. EOC. FMA, FMB. MLC. MLD, MLT. SCK. SFC. SKS. SLN(DIN. FID. JIS). SOM. TG Are in compliance
with:Water through the chuck body center type(DIN-69871-AD)

© The shank has pre-balance at G6.3,and can provide percision balance at G2.5,made by request

© Shank body standard:JIS MAS 403 and B6339




HIZTIN

c?ﬁt%fs BLETI 5 FE 5

-BT-SLK #A 48 B &t #% BT-SLK SEMI-FINISHED SHRINK FIT CHUCK

D
FlG.1 BT. NO S 3
L3 L2
L1
L
FIG. 2 D

1%
E
=4
S 45 FlG. 3
o D
,97] BT. NO 3°
e
s &
3
£§U | I I ] PR | —— | - _ |
L4
L3 L5
L2

# # Model

BT30-SLK12- 45 93.4 45 23 22 = = 46 40 = 38 1

BT40-SLK12- 45 110.4 45 18 27 = = 63 40 = 38 1 115
=75 140.4 75 48 27 = = 63 42.4 = 38 1 1.45
=135 200.4 | 135 108 27 89 = 63 47 = 38 2 2.2
=165 230.4 | 165 138 27 89 = 63 47 = 38 2 2.65
=200 265.4 | 200 173 27 89 145 63 47 52 38 3 3.25
=225 290.4 | 225 198 27 89 145 63 47 52 38 3 3.7

RS RA:
$|_1 KE Length (L1)
T JIFFE 1R Diameter
IhAE{X S Holder type
$EIRTZ T Taper size



HIETINR

48

BETTHES [T

-BT50-SLK # 45 E Gili 4% BT50-SLK SEMI-FINISHED SHRINK FIT CHUCK

FlG.2 BT50

L4
L3 L2

L1

L

o D
1

JNFS =

%)
I
)
=
=
I
=1
=
o
o
I
o
o
=
o
m
=
[
m
2
m
0

”E_g - - T

L4
— L2
L1

Bt # Accessories

X
» P.K19
# #% Model

BT50-SLK12- 75 176.8 75 37 38 = 100 41 = 38 1
=105 206.8 105 67 38 12 100 43 65 38 2
=135 236.8 135 97 38 12 100 46.5 65 38 2
=165 266.8 165 127 38 12 100 50 65 38 2
=200 301.8 200 162 38 12 100 53.5 65 38 2
=225 326.8 225 187 38 12 100 56 65 38 2
=265 366.8 265 227 38 12 100 60 65 38 2
=315 416.8 315 277 38 12 100 65.5 65.5 38 2

FAS 5L RE:

? ?Ll & Length (L1)
$# [ A\ Connection size
108

BEX S Holder type
$EFRAZ T Taper size




TR

iﬁ%ﬂiﬁﬁi”ﬂ%ﬂ

-BT30-SF 45 JJ4A (4.5 EAREEY)  Br30-5F SHRINK FITTOOL HOLDER (4.5° STANDARD VERSION)

FIG. 1
BT. NO

L4
[ —

E=-

FlG. 2

o

w
I
=
=4
~
&
S 4%
e JJ
e ]
S
S
el
w
@
2
2
(%]

5l
# ¥ Model R

BT30-SF03- 80 128.4 80 58 22 12 46 15 20 3 5 1 0.6

=SF04- 80 128.4 80 58 22 16 46 15 20 4 5 1 0.6

=120 168.4 120 98 22 16 46 15 20 4 5 2 0.7

=SF05- 80 128.4 80 58 22 18 46 15 20 5 5 1 0.6

=120 168.4 120 98 22 18 46 15 20 5 5 2 0.7

A% A

? @ L1 E Length(L1)
JIHFE1Z Diameter
I58

BE{X S Holder type
HARAZ T, Taper size



HIETINR

48

BETTHES  [HEmn

-BT30-SF #A45JI4R (4.5 EHRERL)  8130-5F SHRINK FITTOOL HOLDER (4.5° STANDARD VERSION)

FIG. 1
BT. NO

T1 L5
a L4
N T

j.i‘r_:L’ —oig 8
\Ljr

L1

FIG. 2

4

7
i
%

%)
I
)
=
=
I
=1
=
o
o
=
o
o
=
o
m
=
[
m
2
m
0

=

# # Model d R FIG E=KGS
BT30-SF06- 80 128.4 | 80 | 58 | 22 | 26 | 36 | 46 | 21 | 27 6 M5*0.8P M6*1.0P 1 1 0.7
=120 168.4 |120| 98 | 22 | 26 | 36 | 46 | 21 | 27 6 M5*0.8P M6*1.0P 5 2 0.9
=SF08- 80 128.4 | 80 | 58 | 22 | 26 | 36 | 46 | 21 | 27 8 M6*1.0P M6*1.0P 1 1 0.7
=120 168.4 |120| 98 | 22 | 26 | 36 | 46 | 21 | 27 8 M6*1.0P M6*1.0P 5 2 0.9
=SF10- 80 128.4 | 80 | 58 | 22 | 32 | 42 | 46 | 24 | 32 | 10 M8*1.0P M6*1.0P 1 1 0.8
=120 168.4 |120| 98 | 22 | 32 | 42 | 46 | 24 | 32 | 10 M8*1.0P M6*1.0P 5 2 1.1
=SF12- 80 128.4 | 80 | 58 | 22 | 37 | 47 | 46 | 24 | 32 | 12 | M10*1.0P M6*1.0P 1 1 0.8
=120 168.4 [120| 98 | 22 | 37 | 47 | 46 | 24 | 32 | 12 | M10*1.0P M6*1.0P 5 2 1.1
=SF14- 80 128.4 | 80 | 58 | 22 | 37 | 47 | 46 | 27 | 34 | 14 | M10*1.0P M6*1.0P 1 1 0.8
=120 168.4 [120| 98 | 22 | 37 | 47 | 46 | 27 | 34 | 14 | M10*1.0P M6*1.0P 3 2 11
=SF16- 90 138.4 | 90 | 68 | 22 | 40 | 50 | 46 | 27 | 34 | 16 | M12*1.0P M6*1.0P 1 1 0.8
=120 168.4 [120| 98 | 22 | 40 | 50 | 46 | 27 | 34 | 16 | M12*1.0P M6*1.0P 3 2 11
=SF18- 90 1384 | 90 | 68 | 22 | 40 | 50 | 46 | 33 | 42 | 18 | M12*1.0P M6*1.0P 1 1 1
=120 168.4 |120| 98 | 22 | 40 | 50 | 46 | 33 | 42 | 18 | M12*1.0P M6*1.0P 1 2 1.5
=SF20- 90 138.4 | 90 | 68 | 22 | 42 | 52 | 46 | 33 | 42 | 20 | M16*1.0P M6*1.0P 1 1 1
=120 168.4 |120| 98 | 22 | 42 | 52 | 46 | 33 | 42 | 20 | M16™1.0P M6*1.0P 1 2 1.5

A EER:

@Ll KE Length(L1)
JJ#FE 1% Diameter
Ih

BE1LS Holder type
SEARAZ T, Taper size




TR

c&(%fs BLETI 5 FE 5

-BT40-SF 45 J14R (4.5 EHRERY)  Br40-5F SHRINK FITTOOL HOLDER (4.5° STANDARD VERSION)

FIG. 1
BT. NO [y

ofa|a

FlG. 2

PN

D1

o

[t

D2

L2

S3R43S ¥IATOH 100L LH XNRIHS
SN =

#M #& Model d R FIG E= KGS
BT40-SF03- 90 155.4 90 63 27 12 63 15 20 3 5 1 1.1
=120 185.4 120 93 27 12 63 15 20 3 5 2 1.2
=160 225.4 160 133 27 12 63 15 25 3 5 2 1.3
=SF04- 90 155.4 90 63 27 16 63 15 20 4 5 1 1.1
=120 185.4 120 93 27 16 63 15 20 4 5 2 1.2
=160 225.4 160 133 27 16 63 15 25 4 5 2 1.3
=SF05- 90 155.4 90 63 27 18 63 15 20 5 5 1 1.1
=120 185.4 120 93 27 18 63 15 20 5 5 2 1.2
=160 225.4 160 133 27 18 63 15 25 5 5 2 1.3
FA& 5 ER:
BN - Bi - [8] - %ﬂ
L1 ¥ Length(L1)
JIFFE 1 Diameter
InBERS Holder type
HFRAZ I Taper size



HIETINR

48

BETRES e

-BT40-SF 45 J14R (4.5 EHRERY)  Br40-5F SHRINK FITTOOL HOLDER (4.5° STANDARD VERSION)

FIG. 1
BT. NO

T1 LS

/ L4
R A7
[ e

FlG. 2

4

FlG. 3

NS &

=

(%)
e
=
=z
=
i)
=
=
o
@
=
x
o
=
o
m
ol
w
m
2
m
1%

# # Model d R FIG E= KGS

BT40-SF06- 90 155.4 | 90 | 63 | 27 | 26 | 36 | - | 63|21 |27 | - 6 M5*0.8P M6*1.0P 5 1 1.2
=120 | 1854 |120| 93 | 27 | 26 | 36 | - | 63 |21 |27 | - 6 M5*0.8P M6*1.0P 5 2 1.5

=160 | 2254 |160(133| 27 | 26 | 36 |79 |63 |21 |27 (40| 6 M5*0.8P M6*1.0P 6 3 1.8

=200 | 265.4 |200(173| 27 | 26 | 36 |119| 63 | 21 |27 (40| 6 M5*0.8P M6*1.0P 6 3 2.2

=250 | 315.4 |250(223| 27 | 26 | 36 |169| 63 | 21 | 27 (40 | 6 M5*0.8P M6*1.0P 6 3 2.6

=300 | 365.4 |300(273| 27 | 26 | 36 |219| 63 |21 |27 (40| 6 M5*0.8P M6*1.0P 6 3 3.1

=SF08- 90 | 155.4 |90 | 63 |27 |26 |36 | - | 63|21 |27 | - 8 M6*1.0P M6*1.0P 5 1 1.2
=120 | 1854 (120 93 | 27 | 26 | 36 | - | 63 |21 |27 | - 8 M6*1.0P M6*1.0P 5 2 1.5

=160 | 2254 |160(133| 27 | 26 | 36 | 79 | 63 |21 |27 |40 | 8 M6*1.0P M6*1.0P 6 3 1.8

=200 | 265.4 |[200(173| 27 | 26 | 36 |119| 63 | 21 |27 |40 | 8 M6*1.0P M6*1.0P 6 3 2.2

=250 | 315.4 |250(223| 27 | 26 | 36 |169| 63 | 21 | 27 |40 | 8 M6*1.0P M6*1.0P 6 3 2.6

=300 | 365.4 |300(273| 27 | 26 | 36 |219| 63 | 21 |27 |40 | 8 M6*1.0P M6*1.0P 6 3 3.1

=SF10- 90 | 1554 | 90 | 63 | 27 | 32 | 42 - | 63|24 |32 - 10 | M8*1.0P M6*1.0P 3 1 1.3
=120 | 185.4|120| 93 | 27 | 32 |42 | - |63 |24 |32 | - | 10| M8*1.0P M6*1.0P | 10 | 2 1.6

=160 | 225.4 |160|133| 27 | 32 | 42 |79 |63 |24 |32 |39 | 10| M8*1.0P M6*1.0P 7 3 1.9

=200 | 265.4 |200|173| 27 | 32 | 42 |119| 63 | 24 | 32 | 39 | 10 | M8*1.0P M6*1.0P 7 3 2.3

=250 | 315.4 |250|223| 27 | 32 | 42 |169| 63 | 24 | 32 | 39 | 10 | M8*1.0P M6*1.0P 7 3 2.7

=300 | 365.4 |300|273| 27 | 32 | 42 |219|63 |24 |32 |39 | 10| M8*1.0P M6*1.0P 7 3 3.2

=SF12- 90 | 1554 (90 | 63 |27 | 37 |47 | = |63 24|32 | - | 12| M10*1.0P | M6*1.0P 3 1 1.3
=120 | 185.4 |120| 93 | 27 | 37 | 47 | = |63 |24 |32 | = |12 | M10*1.0P | M6*1.0P | 10 | 2 1.6

=160 | 225.4 |160|133| 27 | 37 | 47 |79 |63 |24 | 32|39 |12 | M10*1.0P | M6*1.0P 7 3 1.9

=200 | 265.4 |200|173| 27 | 37 | 47 |119| 63 | 24 | 32 | 39 | 12 | M10*1.0P | M6*1.0P 7 3 2.3

=250 | 315.4 | 250|223 | 27 | 37 | 47 |169| 63 | 24 | 32 | 39 | 12 | M10*1.0P | M6*1.0P 7 3 2.7

=300 | 365.4 |300|273| 27 | 37 | 47 |219| 63 | 24| 32 | 39 | 12 | M10*1.0P | M6*1.0P 7 3 3.1

=SF14- 90 | 1554 (90 | 63 | 27 | 37 | 48 | - |63 |27 |34 | - | 14 | M10*1.0P | M6*1.0P 3 1 1.3
=120 | 185.4|120| 93 | 27 | 37 | 47 | - |63 |27 |34 | - | 14 | M10*1.0P | M6*1.0P | 10 | 2 1.6

=160 | 225.4 |160|133| 27 | 37 | 47 |78 | 63 | 27 | 34 | 42 | 14 | M10*1.0P | M6*1.0P 5 3 1.9

=200 | 265.4 | 200|173 | 27 | 37 | 47 |118| 63 | 27 | 34 | 42 | 14 | M10*1.0P | M6*1.0P 5 3 2.3

=250 | 315.4 | 250|223 | 27 | 37 | 47 |168| 63 | 27 | 34 | 42 | 14 | M10*1.0P | M6*1.0P 5 3 2.7

=300 | 365.4 |300|273| 27 | 37 | 47 |218| 63 | 27 | 34 | 42 | 14 | M10*1.0P | M6*1.0P 5 3 3.1

AL BA:
BT40NSFEN06 B %ﬂ
L1 ¥ E Length (L1)

JIFFE & Diameter
IHEEFX S Holder type
SEFRFZ T Taper size




HIZTIN

4

CNCTOOLS

HETIHFE S

-BT40-SF #R4ETIHR (4.5 BEIRAER)

#
4
7]
Uiz]
#
5l

w
I
=
=
=
I
=
=
o
[s]
=)
=
o
=
=]
m
=
w
m
=
m
wn

BT40-SF SHRINK FIT TOOL HOLDER (4.5 ° STANDARD VERSION)

FIG. 1
BT. NO

- =3

FlG. 2

FIG. 3

#M # Model R FIG EZE& KGS
BT40-SF16- 90 155.4 | 90 | 63 | 27 | 40 | 50 | = | 63|27 |34 | - |16 | M12*1.0P | M6*1.0P 3 1 1.3
=120 185.4 [120| 93 | 27 | 40 [ 50 | = [ 63|27 |34 | = |16 | M12*1.0P | M6*1.0P | 10 | 2 1.6
=160 2254 1160(133| 27 | 40 | 50 | 78 | 63 | 27 | 34 | 42 | 16 | M12*1.0P | M6*1.0P 5 3 19
=200 265.4 | 200(173| 27 | 40 | 50 |118| 63 | 27 | 34 | 42 | 16 | M12*1.0P | M6*1.0P 5 3 2.3
=250 315.4 | 250|223 | 27 | 40 | 50 (168| 63 | 27 | 34 | 42 | 16 | M12*1.0P | M6*1.0P 5 3 2.7
=300 365.4 |300(|273| 27 | 40 | 50 |218| 63 | 27 | 34 | 42 | 16 | M12*1.0P | M6*1.0P 5 3 3.1
=SF18- 90 1554 (90 | 63 | 27 | 40 | 50 | - | 63 | 33 | 41 - | 18 | M12*1.0P | M6*1.0P 2 1 1.4
=120 | 185.4|120| 93 |27 |40 |50 | - [ 63|33 [42| - |18 | M12*1.0P | M6*1.0P | 5 | 2 1.8
=160 2254 1160(133| 27 | 40 | 50 | - [ 63 |33 |42 | - |18 | M12*1.0P | M6*1.0P 5 2 2.1
=200 265.4 1200(173| 27 | 40 | 50 | - [ 63|33 |42 | - |18 | M12*1.0P | M6*1.0P 5 2 2.4
=250 315.4 |250(223| 27 | 40 | 50 | - [ 63 |33 |42 | - |18 | M12*1.0P | M6*1.0P 5 2 2.8
=300 365.4 {300|273| 27 | 40 | 50 | - |63 |33 |42 | - 18 | M12*1.0P | M6*1.0P 5 2 3.2
=SF20- 90 155.4 | 90 | 63 | 27 | 42 | 50 | - | 63 | 33 | 41 - | 20 | M16*1.0P | M6*1.0P 2 1 1.4
=120 185.4 {120 93 | 27 | 42 |50 | - | 63|33 |42| - | 20 | M16*1.0P | M6*1.0P 5 2 1.8
=160 225.4 1160|133 27 | 42 |50 | - | 63|33 |42 | - | 20 | M16*1.0P | M6*1.0P 5 2 2.1
=200 265.4 1200|173 27 | 42 |50 | = | 63|33 |42 | - | 20 | M16*1.0P | M6*1.0P 5 2 2.4
=250 315.4 |250(223| 27 | 42 | 52 | = [ 63|33 |42 | - |20 | M16*1.0P | M6*1.0P 5 2 2.8
=300 | 365.4|300(273| 27 |42 |52 | - |63 |33|42| - |20 | M16*1.0P | M6*1.0P | 5 | 2 3.2
=-SF25-100 155.4 | 90 | 63 | 27 | 48 | 58 | - | 63|44 |53 | - | 25 | M16*1.0P | M6*1.0P 2 1 2.1
=120 185.4 [120| 93 | 27 | 48 | 58 | = | 63|44 | 53| - | 25 | M16*1.0P | M6*1.0P 2 2 2.3
=160 225.41160(133| 27 | 48 | 58 | = [ 63 |44 |53 | = |25 | M16*1.0P | M6*1.0P 2 2 2.6
=200 265.4 |200(173| 27 | 48 | 58 | = [ 63 |44 |53 | = |25 | M16*1.0P | M6*1.0P 2 2 3.1
=250 315.4 |250(223| 27 | 48 | 58 | - [ 63 |44 |53 | - | 25| M16*1.0P | M6*1.0P 2 2 3.6
=300 365.4 |300(273| 27 | 48 | 58 | - | 63 |44 |53 | - | 25| M16*1.0P | M6*1.0P 2 2 4.1
=SF32-100 155.4 | 90 | 63 | 27 | 52 | 62 | - | 63|44 |53 | - | 32| M16*1.0P | M6*1.0P 2 1 2.1
=120 185.4 [120| 93 | 27 | 52 | 62 | - | 63|44 |53 | - | 32| M16*1.0P | M6*1.0P 2 2 2.3
=160 2254 1160(133| 27 | 52 | 62 | - [ 63|44 |53 | - |32 | M16*1.0P | M6*1.0P 2 2 2.6
=200 265.4 1200(173| 27 | 52 | 62 | - [ 63|44 |53 | - |32 | M16*1.0P | M6*1.0P 2 2 3.1
=250 315.4 | 250(223| 27 | 52 | 62 | - | 63|44 |53 | - |32 | M16*1.0P | M6*1.0P 2 2 3.6
=300 365.4 |300(273| 27 | 52 | 62 | - | 63|44 |53 | - | 32| M16*1.0P | M6*1.0P 2 2 41
AL RE:
S - i - 1 - %ﬂ
L1 ¥ Length(L1)
JIFFE1Z Diameter
IHEEXS Holder type
m $EFRAZ T Taper size




HIETINR

48

BETTHES  [HEmn

-BT50-SF 45 J14A (4.5 EHRAERY)  Br50-5F SHRINK FITTOOL HOLDER (4.5° STANDARD VERSION)

FlG. 1 D

FlG. 2 D

%

JNFS =

%)
I
)
=
=
I
=1
=
o
o
=
o
o
=
o
m
=
[
m
2
m
0

L1

#M #& Model D D1 D2 d R FIG HE KGS

BT50-SF03-100 201.8 | 100 62 38 12 100 15 20 3 10 1 3.7
=120 221.8 | 120 82 38 12 100 15 20 3 10 2 3.9

=160 261.8 | 160 122 38 12 100 15 25 3 10 2 4.2
-SF04-100 201.8 | 100 62 38 16 100 15 20 4 10 1 3.7
=120 221.8 | 120 82 38 16 100 15 20 4 10 2 3.9

=160 261.8 | 160 122 38 16 100 15 25 4 10 2 4.2
=-SF05-100 201.8 | 100 62 38 18 100 15 20 5 10 1 3.7
=120 221.8 | 120 82 38 18 100 15 20 5 10 2 3.9

=160 261.8 | 160 122 38 18 100 15 25 5 10 2 4.2

MR EER:

E L1 4B Length (L1)
TI#FE 1R Diameter
Ih

HEXS Holder type
AL Taper size




HIZTIN

c?%(%%s BLETI 5 FE 5

-BT50-SF #A45JJ4R (4.5 EHRMERL)  5750-SF SHRINK FITTOOL HOLDER (4.5° STANDARD VERSION)

D
et prNo

S3R43S ¥IATOH 100L LH XNRIHS
SN

# #% Model L L1 L2 L3 L4 L5 L6 D D1 D2 D3 d T T1 R FIG Z=KGS

BT50-SF06-100 | 201.8 |[100| 62 | 38 | 26 | 36 | - |100| 21|27 | - | 6 | M5*0.8P | M6*1.0P | 2 | 1 3.7
=120 221.8 (120 82 | 38 | 26 | 36 | - |100| 21 | 27 | - 6 M5*0.8P M6*1.0P | 12 | 2 3.9

=160 | 2618 [160|122| 38 | 26 | 36 | 58 [100( 21 (27 | 39 | 6 | M5*0.8P | M6*1.0P | 12 | 3 4.2

=200 301.8 |200|162| 38 | 26 | 36 | 92 |100| 21 | 27 [ 42 | 6 M5*0.8P M6*1.0P | 12 | 3 5.8

=250 351.8 | 250|212 | 38 | 26 | 36 |142|100| 21 | 27 [ 42 | 6 M5*0.8P M6*1.0P | 12 | 3 7.4

=300 | 401.8 [300(262| 38 | 26 | 36 |192(100| 21 | 27 |42 | 6 M5*0.8P M6*1.0P | 12 | 3 8.9
=SF08-100 201.8 |[100| 62 | 38 | 26 | 36 | - |100| 21 | 27 | - 8 M6*1.0P M6*1.0P 2 1 3.8
=120 221.8 (120 82 | 38 | 26 | 36 | - |100| 21 | 27 | - 8 M6*1.0P M6*1.0P | 12 | 2 3.9

=160 2618 |160|122| 38 | 26 | 36 | 58 |100| 21 | 27 | 39 | 8 M6*1.0P M6*1.0P | 12 | 3 4.2

=200 301.8 |200|162| 38 | 26 | 36 | 92 |100| 21 | 27 | 42 | 8 M6*1.0P M6*1.0P | 12 | 3 5.8

=250 351.8 | 250|212 | 38 | 26 | 36 |142|100| 21 | 27 | 42 | 8 M6*1.0P M6*1.0P | 12 | 3 7.4

=300 | 401.8 [300(262| 38 | 26 | 36 |192(100| 21 [ 27 |42 | 6 M5*0.8P M6*1.0P | 12 | 3 8.9
=SF10-100 201.8 |[100| 62 | 38 | 32 [ 42 | = [100| 24 |32 | - |10 | M8*1.0P M6*1.0P 2 1 3.9
=120 221.8 [120| 82 | 38 | 32 [ 42 | - [100| 24 | 32| - |10 | M8*1.0P M6*1.0P | 10 | 2 4.1

=160 2618 [160|122| 38 | 32 | 42 | 72 |100| 24 | 32 | 38 | 10 | M8*1.0P M6*1.0P | 15| 3 4.3

=200 301.8 |200|162| 38 | 32 | 42 |107|100| 24 | 32 | 39 | 10 | M8*1.0P M6*1.0P | 15 | 3 5.9

=250 351.8 |250(212| 38 | 32 | 42 |127|100| 24 | 32 | 39 | 10 | M8*1.0P M6*1.0P | 15 | 3 7.5

=300 | 401.8 |300|262| 38 | 32 | 42 |207|100| 21 | 27 | 39 | 10 | M5*0.8P M6*1.0P | 15 | 3 8.9
=SF12-100 201.8 [100| 62 | 38 | 37 | 47 | - |100| 24 | 32| - | 12 | M10*1.0P | M6*1.0P 2 1 3.9
=120 221.8 {120| 82 | 38 | 37 | 47 | - [100| 24 | 32| - |12 | M10*1.0P | M6*1.0P | 10 | 2 4.1

=160 2618 |160|122| 38 | 37 | 47 | 72 |100| 24 | 32 | 38 | 12 | M10*1.0P | M6*1.0P | 15| 3 4.3

=200 301.8 | 200|162 | 38 | 37 | 47 |107|100| 24 | 32 | 39 | 12 | M10*1.0P | M6*1.0P | 15| 3 5.9

=250 351.8 |250|212| 38 | 37 | 47 |157|100| 24 | 32 | 39 | 12 | M10*1.0P | M6*1.0P | 15| 3 7.5

=300 | 401.8 [300|262| 38 | 37 | 47 |207|100| 24 | 32 | 39 | 12 | M10*1.0P | M6*1.0P | 15| 3 9.1
=SF14-100 201.8 |[100| 62 | 38 | 37 | 47 | - |100| 27 | 34| - | 14 | M10*1.0P | M6*1.0P 4 1 3.9
=120 221.8 |120| 82 | 38 | 37 | 47 | - |100| 27 | 34| - | 14 | M10*1.0P | M6*1.0P | 10 | 2 41

=160 2618 |160|122| 38 | 37 | 47 | 67 |100| 27 | 34 | 41 | 14 | M10*1.0P | M6*1.0P | 15| 3 4.3

=200 301.8 {200 (162| 38 | 37 | 47 |107[100| 27 | 34 | 41 | 14 | M10*1.0P | M6*1.0P | 15 | 3 5.9

=250 351.8 |250|212| 38 | 37 | 47 |157|100| 27 | 34 | 41 | 14 | M10*1.0P | M6*1.0P | 15| 3 7.5

-300 | 401.8 300|262 | 38 | 26 | 36 |207(100| 27 | 34 | 41 | 14 | M10*1.0P | M6*1.0P | 15| 3 9.1

AL A
le E Length (L1)
JIFFE 4R Diameter
IhRERS Holder type

A e



-BT50-SF #4571 (4.5 EtRER)

HETIHFESY

HIETINR

48

CNCTOOLS

BT50-SF SHRINK FIT TOOL HOLDER (4.5° STANDARD VERSION)

FlG. 1

BT. NO

D

ol 5|

o

=

4

NI =%

=

(%)
e
=
=z
=
i)
=
=
o
@
-
x
o
=
o
m
ol
w
m
2
m
1%

g -
=1

—
o

L2

# 1% Model L L1 l4 L5 L6 D D1 D2 D3 d T T1 R FIG ZE=KGS

BT50-SF16-100 | 201.8 [100| 62 | 38 | 40 [ 50 | - |100| 27 | 34| - | 16 | M12*1.0P | M6*1.0P | 4 | 1 3.9
-120 | 221.8 |120| 82 |38 |40 |50 | - |100| 27 [ 34| - | 16 | M12*1.0P | M6*1.0P | 10 | 2 41
-160 2618 | 160|122 | 38 | 40 | 50 | 67 [100| 27 | 34 | 41 | 16 | M12*1.0P | M6*1.0P | 15 | 3 4.3
-200 | 301.8 [200|162| 38 | 40 | 50 |[107|100| 27 | 34 | 41 | 16 | M12*1.0P | M6*1.0P | 15 | 3 5.9
=250 | 351.8 [250(212| 38 | 40 | 50 [157|100| 27 | 34 | 41 | 16 | M12*1.0P | M6*1.0P | 15 | 3 7.5
-300 | 401.8 |300|262| 38 | 40 | 50 [207|100| 27 | 34 | 41 | 16 | M5*0.8P | M6*1.0P | 15 | 3 9.1
-SF18-100 | 201.8 [100| 62 | 38 | 40 | 50 | - |100| 33| 42| - | 18 | M12*1.0P | M6*1.0P | 3 | 1 4.1
=120 | 221.8 [120| 82 | 38 | 40 | 50 | - [100| 33 | 42| - | 18 | M12*1.0P | M6*1.0P | 4 | 2 4.2
=160 2618 |160(122| 38 | 40 | 50 | 77 |100| 33 | 42 | 47 | 18 | M12*1.0P | M6*1.0P | 12 | 3 4.4
-200 | 301.8 [200|162| 38 | 40 | 50 |107|100| 33 | 42 | 50 | 18 | M12*1.0P | M6*1.0P | 12 | 3 6.1
=250 | 351.8 [250|212| 38 | 40 | 50 [157|100| 33 | 42 | 50 | 18 | M12*1.0P | M6*1.0P | 12 | 3 7.8
-300 | 401.8 [300|262| 38 | 40 | 50 [207|100| 27 | 34 | 50 | 18 | M5*0.8P | M6*1.0P | 12 | 3 9.4
-SF20-100 | 201.8 [100| 62 | 38 | 42 [ 52 | - |100| 33| 42| - |20 | M16*1.0P | M6*1.0P | 3 | 1 41
-120 | 221.8 [120| 82 | 38 | 42 | 52 | - [100| 33 |42 | - | 20 | M16*1.0P | M6*1.0P | 4 | 2 4.2
-160 2618 |160(122| 38 | 42 | 52 | 77 |100| 33 | 42 | 47 | 20 | M16*1.0P | M6*1.0P | 12 | 3 4.4
-200 | 301.8 [200|162| 38 | 42 | 52 |107|100| 33 | 42 | 50 | 20 | M16*1.0P | M6*1.0P | 12 | 3 6.1
-250 | 351.8 [250|212| 38 | 42 | 52 |157|100| 33 | 42 | 50 | 20 | M16*1.0P | M6*1.0P | 12 | 3 7.8
-300 | 401.8 [300|262| 38 | 42 | 52 |207|100| 33 | 42 | 50 | 18 | M5*0.8P | M6*1.0P | 12 | 3 9.4
-SF25-110 | 211.8 [110| 72 | 38 | 48 [ 58 | - |100| 44 | 53 | - | 25 | M16*1.0P | M6*1.0P | 1 | 1 4.5
-120 | 221.8 [{120| 82 | 38 | 48 | 58 | - [100| 44 | 53 | - | 25 | M16*1.0P | M6*1.0P | 3 | 2 4.7
-160 2618 |160(122| 38 | 48 | 58 | 79 [100| 44 | 53 | 57 | 25 | M16*1.0P | M6*1.0P | 8 | 3 5.1
-200 | 301.8 |200|162| 38 | 48 | 58 |107|100| 44 | 53 | 61 | 25 | M16*1.0P | M6*1.0P | 8 | 3 6.1
-250 | 351.8 |250|212| 38 | 48 | 58 |157|100| 44 | 53 | 61 | 25 | M16*1.0P | M6*1.0P | 8 | 3 7.8
-300 | 401.8 |300|262| 38 | 48 | 58 |207|100| 44 | 53 | 61 | 25 | M16*1.0P | M6*1.0P | 8 | 3 9.7
-SF32-110 | 211.8 [110| 72 | 38 | 52 | 62 | - |100| 44 | 53 | - | 32 | M16*1.0P | M6*1.0P | 1 | 1 4.5
-120 | 221.8 |120| 82 | 38 |52 |62 | - |100| 44 | 53| - | 32 | M16*1.0P | M6*1.0P | 3 | 2 4.7
-160 2618 [160|122| 38 | 52 | 62 | 79 [100| 44 | 53 | 57 | 32 | M16*1.0P | M6*1.0P | 8 | 3 5.1
-200 | 301.8 [200|162| 38 | 52 | 62 |107|100| 44 | 53 | 61 | 32 | M16*1.0P | M6*1.0P | 8 | 3 6.1
=250 | 351.8 [250(212| 38 | 52 | 62 |157|100| 44 | 53 | 61 | 32 | M16*1.0P | M6*1.0P | 8 | 3 7.8
-300 | 401.8 |300|262| 38 | 52 | 62 |207|100| 44 | 53 | 61 | 32 | M16*1.0P | M6*1.0P | 8 | 3 9.7

LS AEN

E L1 ¥ E Length(L1)

JIFFE 1R Diameter

lejﬁgﬁ% Holder type

IR Taper size




HIZTIN

C?\I?C&T(%%S BLETI 5 FE 5

-BT30-SFS #A4EJIH (3 EHI<E!)  B730-SFS SHRINK CHUCK (3° C SLENDER TYPE)

FIG. 1
BT. NO

L2

L1

F16.2

#
4
7]
Uiz]
#
5l

w
I
=
=
~
I
=
=
o
[s]
=)
=
o
=
=]
m
=
w
m
=
m
wn

# #% Model d RKEIR FIG =E=KGS

BT30-SFS03- 80 128.4 | 80 | 58 | 22 | 12 - 46 7 13 3 - 5 1 0.6
=120 168.4 | 120 | 98 | 22 12 = 46 7 17 3 = 5 2 0.9
=-SFS04- 80 128.4 | 80 | 58 | 22 | 16 - 46 8 14 4 - 5 1 0.6
=120 168.4 | 120 | 98 | 22 16 = 46 8 18 4 = 5 2 0.9
=-SFS05- 80 128.4 | 80 | 58 | 22 | 18 - 46 9 15 5 - 5 1 0.6
=120 168.4 | 120 | 98 | 22 18 = 46 9 19 5 = 5 2 0.9
=SFS06- 80 128.4 | 80 | 58 | 22 | 26 36 | 46 10 16 6 M5*0.8P 5 1 0.7

=120 168.4 | 120 | 98 | 22 | 26 36 | 46 10 | 20 6 M5*0.8P 5 2 1
=SFS08- 80 128.4 | 80 | 58 | 22 | 26 36 | 46 12 16 8 M6*1.0P 5 1 0.7

=120 168.4 | 120 | 98 | 22 | 26 36 | 46 12 | 20 8 M6*1.0P 5 2 1
=SFS10- 80 128.4 | 80 | 58 | 22 | 32 | 42 | 46 14 16 10 M8*1.0P 5 1 0.8
=120 168.4 | 120 | 98 | 22 | 32 | 42 | 46 14 | 20 10 M8*1.0P 5 2 1.1
=SFS12- 80 128.4 | 80 | 58 | 22 | 37 | 47 | 46 16 | 22 12 | M10*1.0P 5 1 0.8
=120 168.4 | 120 | 98 | 22 | 37 | 47 | 46 16 | 26 12 | M10*1.0P 5 2 1.1

- SFS14- 80 128.4 | 80 | 58 | 22 | 37 | 47 | 46 18 | 24 14 | M10*1.0P 5 1 1
=120 168.4 | 120 | 98 | 22 | 37 | 47 | 46 18 | 28 14 | M10*1.0P 5 2 1.2

=SFS16- 80 128.4 | 80 | 58 | 22 | 40 | 50 | 46 | 22 | 28 16 | M12*1.0P 5 1 1
=120 168.4 | 120 | 98 | 22 | 40 | 50 | 46 | 22 | 31 16 | M12*1.0P 5 2 1.2

FA& 5 ER:
@ L1 E Length(L1)
JIF¥FE 1 Diameter
IHEE(X S Holder type
HEFRFZ T Taper size



HIETINR

48

BETTHES  [HEmn

-BT40-SFS #A4EJIHR (3 EMISE!)  Br40-SFS SHRINK CHUCK (3° C SLENDER TYPE)

M #& Model L L1 L2 L3 L4 D D1 D2 d RAEI FIG EE KGS
BT40-SFS03- 90 155.4 90 63 27 12 63 9 15 3 10 1 1
=120 185.4 120 93 27 12 63 9 16 3 10 2 1.1
=160 225.4 160 133 27 12 63 9 19 3 10 2 1.2
-200 265.4 200 173 27 12 63 9 22 3 10 2 1.2
-SFS04- 920 155.4 90 63 27 16 63 10 16 4 10 1 1
=120 185.4 120 93 27 16 63 10 17 4 10 2 1.1
=160 225.4 160 133 27 16 63 10 20 4 10 2 1.2
=200 265.4 200 173 27 16 63 10 23 4 10 2 1.3
=-SFS05- 90 155.4 90 63 27 18 63 11 17 5 10 1 1.1
=120 185.4 120 93 27 18 63 11 18 5 10 2 1.1
=160 225.4 160 133 27 18 63 11 21 5 10 2 1.2
=200 265.4 200 173 27 18 63 11 24 5 10 2 1.3
AR RA:

BT40¢
L1 E Length (L1)
JIFFE & Diameter

BE{X S Holder type
%’Emﬁ,iﬁ Taper size

4

SN 2%

%)
I
)
=
=
I
=
=
o
o
=
o
o
=
o
m
=
[
m
2
m
0




HIZTIN

C?\I?C&T(%%S BLETI 5 FE 5

-BT40-SFS #A4EJIHR (3 EMISE!)  Br40-SFS SHRINK CHUCK (3° C SLENDER TYPE)

#
S
)|
iZ]
ES
il

w
I
=
=
=
I
=
=
o
[s]
=)
=
o
=
=]
m
=
w
m
=
m
wn

#M 4% Model d RAEI FIG == KGS

BT40-SFS06- 90 1554 | 90 | 63 | 27 | 26 | 36 | 63 | 12 | 18 | 6 M5*0.8P 10 1 1.1
=120 185.4 [ 120| 93 | 27 | 26 | 36 | 63 | 12 | 21 6 M5*0.8P 10 2 1.1

=160 2254 | 160133 | 27 | 26 | 36 | 63 | 12 | 24 | 6 M5*0.8P 10 2 1.2

-200 2654 | 200 (173 | 27 | 26 | 36 | 63 | 12 | 27 | 6 M5*0.8P 10 2 1.3

=250 315.4 | 250|223 | 27 | 26 | 36 | 63 | 12 6 M5*0.8P 10 2 1.4

=-SFS08- 90 1554 | 90 | 63 | 27 | 26 | 36 | 63 | 14 | 20 | 8 M6*1.0P 10 1 1.1
=120 185.4 [ 120| 93 | 27 | 26 | 36 | 63 | 14 | 23 | 8 M6*1.0P 10 2 1.2

=160 2254 160133 | 27 | 26 | 36 | 63 | 14 | 26 | 8 M6*1.0P 10 2 1.3

=200 2654 | 200 (173 | 27 | 26 | 36 | 63 | 14 | 29 | 8 M6*1.0P 10 2 1.4

=250 315.4 | 250|223 | 27 | 26 | 36 | 63 | 14 8 M6*1.0P 10 2 1.5

=SFS10- 90 1554 | 90 | 63 | 27 | 32 | 42 | 63 | 16 | 22 | 10 M8*1.0P 10 1 1.1
=120 185.4 [ 120| 93 | 27 | 32 | 42 | 63 | 16 | 25 | 10 M8*1.0P 10 2 1.2

=160 2254 | 160|133 | 27 | 32 | 42 | 63 | 16 | 28 | 10 M8*1.0P 10 2 1.3

=200 2654 | 200 (173 | 27 | 32 | 42 | 63 | 16 | 31 | 10 M8*1.0P 10 2 1.5

=250 3154 | 250|223 | 27 | 32 | 42 | 63 | 16 10 M8*1.0P 10 2 1.7

=SFS12- 90 155.4 | 90 | 63 | 27 | 37 | 47 | 63 | 18 | 24 | 12 | M10*1.0P 10 1 1.1
=120 185.4 | 120 | 93 | 27 | 37 | 47 | 63 | 18 | 27 | 12 | M10*1.0P 10 2 1.2

=160 2254 | 160|133 | 27 | 37 | 47 | 63 | 18 | 30 | 12 | M10*1.0P 10 2 1.4

=200 265.4 | 200|173 | 27 | 37 | 47 | 63 | 18 | 33 | 12 | M10*1.0P 10 2 1.6

=250 315.4 | 250|223 | 27 | 37 | 47 | 63 | 18 12 | M10*1.0P 10 2 1.8

AR RA:

BT40F -b8 - @
L14&E Length (L1)
JI#FE 12 Diameter
|

IHEE S Holder type
SEARAZ K Taper size



HIETINR

48

BETRES e

-BT40-SFS #A4EJIHR (3 EMISE!)  BT40-SFS SHRINK CHUCK (3° C SLENDER TYPE)

E

FlG.2 D
BT. NO g

£

EE

e

%3

M % Model RAEI FIG =S KGS §IJ§

-SFS14- 90 155.4 | 90 | 63 | 27 | 37 | 47 | 63 | 20 | 26 | 14 | M10*1.0P 10 1 1.1 .
-120 185.4 [120| 93 | 27 | 37 | 47 | 63 | 20 | 29 | 14 | M10*1.0P 10 2 1.3
-160 2254 [ 160|133 27 | 37 | 47 | 63 | 20 | 32 | 14 | M10*1.0P 10 2 1.5
-200 265.4 [200(173| 27 | 37 | 47 | 63 | 20 | 35 | 14 | M10*1.0P 10 2 1.7
-250 315.4 | 250|223 | 27 | 37 | 47 | 63 | 20 14 | M10*1.0P 10 2 1.9
-SFS16- 90 155.4 | 90 | 63 | 27 | 40 | 50 | 63 | 22 | 28 | 16 | M12*1.0P 10 1 1.2
-120 185.4 [120| 93 | 27 | 40 | 50 | 63 | 22 | 31 | 16 | M12*1.0P 10 2 1.3
-160 225.4 [ 160|133 27 | 40 | 50 | 63 | 22 | 34 | 16 | M12*1.0P 10 2 1.5
-200 265.4 [ 200|173 27 | 40 | 50 | 63 | 22 | 37 | 16 | M12*1.0P 10 2 1.8
-250 315.4 |250(223| 27 | 40 | 50 | 63 | 22 16 | M12*1.0P 10 2 2
-SFS18- 90 155.4 | 90 | 63 | 27 | 40 | 50 | 63 | 24 | 30 | 18 | M12*1.0P 10 1 1.2
=120 185.4 | 120 93 | 27 | 40 | 50 | 63 | 24 | 33 | 18 | M12*1.0P 10 2 1.3
-160 225.4 [ 160|133 27 | 40 | 50 | 63 | 24 | 36 | 18 | M12*1.0P 10 2 1.6
-200 265.4 [ 200|173 27 | 40 | 50 | 63 | 24 | 39 | 18 | M12*1.0P 10 2 1.9
-250 315.4 | 250 (223| 27 | 40 | 50 | 63 | 24 18 | M12*1.0P 10 2 21
-SFS20- 90 155.4 | 90 | 63 | 27 | 42 | 52 | 63 | 26 | 32 | 20 | M16*1.0P 10 1 1.2
-120 185.4 [120| 93 | 27 | 42 | 52 | 63 | 26 | 35 | 20 | M16*1.0P 10 2 1.3
-160 225.4 [ 160|133 27 | 42 | 52 | 63 | 26 | 38 | 20 | M16*1.0P 10 2 1.7
-200 265.4 [ 200|173 27 | 42 | 52 | 63 | 26 | 41 | 20 | M16*1.0P 10 2 2
-250 315.4 | 250|223 | 27 | 42 | 52 | 63 | 26 20 | M16*1.0P 10 2 2.2

A 5LEA:

BT40[E - - qg
L1 Length(L1)
JIHFE1E Diameter
Ihe

BE{X S Holder type
S$EFRFZ T, Taper size




HIZTIN

4

CNCTOOLS

HETIHFE S

-BT50-SFS A4 (3 EHEKE)

S3R43S ¥IATOH 100L LH XNRIHS
N B

BT50-SFS SHRINK CHUCK (3° C SLENDER TYPE)

FIG. 1 BT.NO

L5

L4

3

=la

=

L2

L5

L4

tof o

L1

#M #% Model L5 D D1 D2 d T RAEI FIG == KGS
BT50-SFS06-100 201.8 |100| 62 | 38 | 26 | 36 |100| 12 | 18 | 6 M5*0.8P 10 1 3.8
=120 221.8 |120| 82 | 38 | 26 | 36 |100| 12 | 20 | 6 M5%0.8P 10 1 3.9
-160 162.8 |160|122| 38 | 26 | 36 |100| 12 | 24 | 6 M5*0.8P 10 2 4.2
=200 301.8 | 200|162 | 38 | 26 | 36 |100| 12 | 28 | 6 M5%0.8P 10 2 5.8
=250 351.8 |250|212| 38 | 26 | 36 | 100| 12 6 M5*0.8P 10 2 7.2
=SFS08-100 201.8 |100| 62 | 38 | 26 | 36 |100| 14 | 20 | 8 M6*1.0P 10 1 3.8
=120 221.8 |120| 82 | 38 | 26 | 36 |100| 14 | 22 | 8 M6*1.0P 10 1 3.9
=160 162.8 | 160|122 | 38 | 26 | 36 |100| 14 | 26 | 8 M6*1.0P 10 2 4.2
=200 301.8 | 200|162 | 38 | 26 | 36 [100| 14 | 30 | 8 M6*1.0P 10 2 5.8
=250 351.8 | 250|212 | 38 | 26 | 36 | 100 | 14 8 M6*1.0P 10 2 7.2
=SFS10-100 201.8 |100| 62 | 38 | 32 | 42 |100| 16 | 22 | 10 M8*1.0P 10 1 3.9
=120 221.8 |120| 82 | 38 | 32 | 42 |100| 16 | 24 | 10 M8*1.0P 10 1 4.
=160 162.8 | 160|122 | 38 | 32 | 42 |100| 16 | 28 | 10 M8*1.0P 10 2 4.3
=200 301.8 | 200|162 | 38 | 32 | 42 |100| 16 | 32 | 10 | M8*1.0P 10 2 5.9
=250 351.8 | 250|212 | 38 | 32 | 42 | 100 | 16 10 M8*1.0P 10 2 7.6
=SFS12-100 201.8 [100| 62 | 38 | 37 | 47 |100| 18 | 24 | 12 | M10*1.0P 10 1 3.9
=120 221.8 |120| 82 | 38 | 37 | 47 |100| 18 | 26 | 12 | M10*1.0P 10 1 4.
-160 162.8 [ 160 |122| 38 | 37 | 47 |100| 18 | 30 | 12 | M10*1.0P 10 2 4.3
=200 301.8 |200|162| 38 | 37 | 47 |100| 18 | 34 | 12 | M10*1.0P 10 2 5.9
=250 351.8 | 250 |212| 38 | 37 | 47 |100| 18 12 | M10*1.0P 10 2 7.6
AR ERA:
T le K Length(L1)
JIFFE 1 Diameter
If8EfL S Holder type
HFRAZ T Taper size




HIETINR

48

BETTHES  [HEmn

-BT50-SFS #A4EJIHR (3 EHI<E!)  BT50-SFS SHRINK CHUCK (3° C SLENDER TYPE)

FlG. 1 BT. NO

4

NS &

S3RI3S ¥IATOH 100L LI4 XNRIHS

=

M ¥ Model RAESR FIG ZF|=KGS

BT50 -SFS14-100 201.8 |100| 62 | 38 | 37 | 47 |100| 20 | 26 | 14 | M10*1.0P 10 1 3.9
=120 221.8 |120| 82 | 38 | 37 | 47 |100| 20 | 28 | 14 | M10*1.0P 10 1 4.1

=160 162.8 | 160|122 | 38 | 37 | 47 |100| 20 | 32 | 14 | M10*1.0P 10 2 4.3

=200 301.8 | 200|162 | 38 | 37 | 47 |100| 20 | 36 | 14 | M10*1.0P 10 2 5.9

=250 351.8 |250|212| 38 | 37 | 47 | 100 | 20 14 | M10*1.0P 10 2 7.6
=-SFS16-100 201.8 | 100 | 62 | 38 | 40 | 50 |100| 22 | 28 | 16 | M12*1.0P 10 1 4
=120 221.8 |120| 82 | 38 | 40 | 50 | 100 | 22 | 30 | 16 | M12*1.0P 10 1 4.2

=160 162.8 | 160|122 | 38 | 40 | 50 | 100 | 22 | 34 | 16 | M12*1.0P 10 2 4.4

=200 301.8 | 200|162 | 38 | 40 | 50 | 100 | 22 | 38 | 16 | M12*1.0P 10 2 6

=250 351.8 | 250|212| 38 | 40 | 50 | 100 | 22 16 | M12*1.0P 10 2 7.7
=SFS18-100 201.8 | 100| 62 | 38 | 40 | 50 | 100 | 24 | 30 | 18 | M12*1.0P 10 1 4
=120 221.8 |120| 82 | 38 | 40 | 50 [ 100 | 24 | 32 | 18 | M12*1.0P 10 1 4.2

=160 162.8 | 160|122 | 38 | 40 | 50 | 100 | 24 | 36 | 18 | M12*1.0P 10 2 4.4

-200 301.8 | 200|162 | 38 | 40 | 50 | 100 | 24 | 40 | 18 | M12*1.0P 10 2 6

=250 351.8 | 250(212| 38 | 40 | 50 | 100 | 24 18 | M12*1.0P 10 2 7.7
-SF520-100 201.8 |100| 62 | 38 | 42 | 52 |100| 26 | 32 | 20 | M16*1.0P 10 1 4.1
=120 221.8 |120| 82 | 38 | 42 | 52 |100| 26 | 34 | 20 | M16*1.0P 10 1 4.3

=160 162.8 | 160|122 | 38 | 42 | 52 | 100 | 26 | 38 | 20 | M16*1.0P 10 2 4.4

=200 301.8 | 200|162 | 38 | 42 | 52 |100| 26 | 42 | 20 | M16*1.0P 10 2 6.1

=250 351.8 |250(212| 38 | 42 | 52 | 100 | 26 20 | M16*1.0P 10 2 7.8

AR IERA:

E L1 Length (L1)
JIHFE 1R Diameter
I8

BE1L S Holder type
$EARAZ T Taper size




TR

c&gﬁs BLETI 5 FE 5

-BT30-SFK #A45J1#A (4.5°187KEY ) Br30-SFK SHRINK CHUCK (4.5° SHRINK-FIT COOLANT TYPE)

L4 2-M3*0. 5P

o

w
I
=
=4
=
&
S 4%
e JJ
e ]
S
S
2
w
@
2
2
(%]

5l
# ¥ Model R

BT30-SF03- 80K 128.4 80 58 22 12 46 15 20 3 5 1 0.6

=SF04- 80K 128.4 80 58 22 16 46 15 20 4 5 1 0.6

=120K 168.4 120 98 22 16 46 15 20 4 5 2 0.7

=SF05- 80K 128.4 80 58 22 18 46 15 20 5 5 1 0.6

=120K 168.4 120 98 22 18 46 15 20 5 5 2 0.7

AL RE:

? E L1 Length (L1)
TI#FE 1 Diameter
If

BEX S Holder type
SEARAZ S Taper size



HIETINR

48

BETTHES  [HEmn

-BT30-SFK #A45J1#A (4.5°187KEY ) Br30-SFK SHRINK CHUCK (4.5° SHRINK-FIT COOLANT TYPE)

FIG. 1 b
BT. NO L5
T1
L4 2=M3*0. 5P
T 77—
T e . o —- =58
L3 L2
L1
| L
FIG. 2
D
BT. NO L5
T1
j' L4 2-M3*0, 5P
7 @
. —-_ T<t5|8 m%
I %
5
L3 L2 %ﬁé
]
# & Model L LT L2 L3 14 L5 D D1 D2 d T T1 R FIG ZE= KGS
BT30-SF06- 80K 128.4 | 80 | 58 | 22 | 26 | 36 | 46 | 21 | 27 | 6 M5*0.8P M6*1.0P 1 1 0.7
=120K 168.4 [120| 98 | 22 | 26 | 36 | 46 | 21 | 27 | 6 M5*0.8P M6*1.0P 5 2 0.9
=SF08- 80K 128.4 | 80 | 58 | 22 |26 |36 | 46 | 21 | 27 | 8 M6*1.0P M6*1.0P 1 1 0.7
=120K 168.4 [120| 98 | 22 | 26 | 36 | 46 | 21 | 27 | 8 M6*1.0P M6*1.0P 5 2 0.9
=SF10- 80K 128.4 | 80 | 58 | 22| 32|42 |46 | 24 | 32 | 10 | M8*1.0P M6*1.0P 1 1 0.8
=120K 168.4 [120| 98 | 22 | 32 |42 | 46 | 24 | 32 | 10 | M8*1.0P M6*1.0P 5 2 1.1
=SF12- 80K 128.4 | 80 | 58 | 22 | 37 | 47 | 46 | 24 | 32 | 12 | M10*1.0P M6*1.0P 1 1 0.8
=120K 168.4 [120| 98 | 22 | 37 | 47 | 46 | 24 | 32 | 12 | M10*1.0P M6*1.0P 5 2 1.1
=SF14- 80K 128.4 | 80 | 58 | 22 | 37 | 47 | 46 | 27 | 34 | 14 | M10*1.0P M6*1.0P 1 1 0.8
=120K 168.4 [120| 98 | 22 | 37 | 47 | 46 | 27 | 34 | 14 | M10*1.0P M6*1.0P 3 2 1.1
=SF16= 90K 1384 | 90 | 68 | 22 | 40 | 50 | 46 | 27 | 34 | 16 | M12*1.0P M6*1.0P 1 1 0.8
=120K 168.4 [120| 98 | 22 | 40 | 50 | 46 | 27 | 34 | 16 | M12*1.0P M6*1.0P 3 2 1.1
=SF18- 90K 1384 | 90 | 68 | 22 | 40 | 50 | 46 | 33 | 42 | 18 | M12*1.0P M6*1.0P 1 1 1
=120K 168.4 [120| 98 | 22 | 40 | 50 | 46 | 33 | 42 | 18 | M12*1.0P M6*1.0P 1 2 1.5
=SF20- 90K 1384 [ 90 | 68 | 22 | 42 | 52 | 46 | 33 | 42 | 20 | M16*1.0P M6*1.0P 1 1 1
=120K 168.4 [120| 98 | 22 | 42 | 52 | 46 | 33 | 42 | 20 | M16*1.0P M6*1.0P 1 2 1.5
A& ER:
E L1 K E Length(L1)
JI#FE 1% Diameter
IhEERXS Holder type
H#ARAZ T Taper size




TR

Ak

CNCTOOLS

HETIHFE S

-BT40-SFK #A4E T4 (4.5°@7KH )

BT40-SFK SHRINK CHUCK (4.5° SHRINK-FIT COOLANT TYPE)

FIG. 1 b
BT. NO L5
11
L4 ) s ussos
T 7
B o A —- I of 5|8
.4)“
L3 L2
L1
FIG. 2
D
BT. NO L5
T1
j' L4 2-M3%0. 5P
0 AT
2 E>a H 11— - I<t5|8
% é}‘ﬁ phrrrrrrszszzz sz Y =
27 = T
5 W L2
= L3
2 91 L1
a L
M 1& Model L4 D D1 D2 d R FIG  F=KGS
BT40-SF03- 90K 155.4 90 63 27 12 63 15 20 3 5 1 1.1
=120K 185.4 120 93 27 12 63 15 20 3 5 2 1.2
=160K 225.4 160 133 27 12 63 15 25 3 5 2 1.3
=SF04- 90K 155.4 90 63 27 16 63 15 20 4 5 1 1.1
=120K 185.4 120 93 27 16 63 15 20 4 5 2 1.2
=160K 225.4 160 133 27 16 63 15 25 4 5 2 1.3
=SF05- 90K 155.4 90 63 27 18 63 15 20 5 5 1 1.1
=120K 185.4 120 93 27 18 63 15 20 5 5 2 1.2
=160K 225.4 160 133 27 18 63 15 25 5 5 2 1.3
FAS 5 BE:

E L1 & Length (L1)

BT40M SF
TIFFE1Z Diameter
THEE(L S Holder type

$EFRAZ T Taper size




HIETINR

48

BETRES e

-BT40-SFK #A45 7148 (4.5°87KEY ) B140-SrK SHRINK CHUCK (4.5° SHRINK-FIT COOLANT TYPE)

= FlG.1
v
BT. NO L5

o L4

2-M3%0. 5P

o e == |
1

,,,,,,,,,,,,,,,,,,,,,,

L3

D
BT.NO L5
T_11 L4 2-M3*0. 5P
Al
! 41— _I=t5|8
i = g
e  u "
L2 =3
L3 Adm
DRSS RN L1 S
=
L m §
D ﬁ 2
. L5 5l g
‘l L4 2-M3*0, 5P &
AT
- - <8
P B ———xy
< \r
13 L2
D L1
L
# #% Model L L1 L2 L3 L4 L5 L6 D D1 D2 D3 d T T1 R FIG &= KGS
BT40-SF06- 90K | 155.4 | 90 | 63 | 27 | 26 | 36 | = | 63 |21 |27 | - 6 M5*0.8P M6*1.0P 5 1 1.2
=120K | 185.4 {120 93 | 27 | 26 | 36 | - |63 |21 |27 | - 6 M5*0.8P M6*1.0P 5 2 1.5
-160K | 225.4 |{160(133| 27 | 26 | 36 | 79 |63 |21 |27 |40 | 6 M5*0.8P M6*1.0P 6 3 1.8
=200K | 265.4 |200(173| 27 | 26 | 36 |119|63 | 21 |27 |40 | 6 M5*0.8P M6*1.0P 6 3 2.2
=250K | 315.4 |{250(|223| 27 | 26 | 36 |169| 63 | 21 | 27 | 40| 6 M5*0.8P M6*1.0P 6 3 2.6
=300K | 365.4 |300|273| 27 | 26 | 36 |219|63 |21 |27 |40 | 6 M5*0.8P M6*1.0P 6 3 3.1
=SF08- 90K | 1554 | 90 | 63 | 27 | 26 | 36 | - | 63 |21 |27 | - 8 M6*1.0P M6*1.0P 5 1 1.2
=120K | 185.4 {120 93 | 27 | 26 | 36 | = |63 |21 |27 | = 8 M6*1.0P M6*1.0P 5 2 1.5
=160K | 225.4 |{160|133| 27 | 26 | 36 | 79 | 63 | 21 | 27 | 40| 8 M6*1.0P M6*1.0P 6 3 1.8
-200K | 265.4 |200(173| 27 | 26 | 36 |119| 63 | 21 |27 |40 | 8 M6*1.0P M6*1.0P 6 3 2.2
=250K | 315.4 |250(223| 27 | 26 | 36 |169| 63 | 21 |27 |40 | 8 M6*1.0P M6*1.0P 6 3 2.6
=300K | 365.4 |300|273| 27 | 26 | 36 |219| 63 | 21 |27 |40 | 8 M6*1.0P M6*1.0P 6 3 3.1
=SF10- 90K | 155.4 | 90 | 63 | 27 | 32 | 42| - | 63|24 (32| - [10| M8*1.0P M6*1.0P 3 1 1.3
=120K | 185.4 |{120| 93 | 27 | 32| 42 | - |63 |24 | 32| - | 10| M8*1.0P M6*1.0P | 10 | 2 1.6
=160K | 225.4 |160|133| 27 | 32 | 42 |79 |63 |24 |32 |39 |10 | M8*1.0P M6*1.0P 7 3 1.9
=200K | 265.4 |200|173| 27 | 32 | 42 |119| 63 | 24 | 32| 39 | 10 | M8*1.0P M6*1.0P 7 3 2.3
=250K | 315.4 | 250|223 | 27 | 32 | 42 |169| 63 | 24 | 32| 39 | 10 | M8*1.0P M6*1.0P 7 3 2.7
=300K | 365.4 |300|273| 27 | 32 | 42 |219| 63 | 24 | 32| 39 | 10 | M8*1.0P M6*1.0P 7 3 3.2
=SF12- 90K | 155.4 | 90 | 63 | 27 | 37 | 47 | = |63 |24 (32| = | 12 | M10*1.0P | M6*1.0P 3 1 1.3
=120K | 185.4 |120| 93 | 27 | 37 | 47 | - |63 |24 | 32| - | 12| M10*1.0P | M6*1.0P | 10| 2 1.6
=160K | 225.4 | 160|133 | 27 | 37 | 47 |79 |63 |24 | 32|39 | 12 | M10*1.0P | M6*1.0P 7 3 1.9
=200K | 265.4 | 200|173 | 27 | 37 | 47 |119| 63 | 24 | 32 | 39 | 12 | M10*1.0P | M6*1.0P 7 3 2.3
=250K | 315.4 |250(223| 27 | 37 | 47 |169| 63 | 24 | 32 | 39 | 12 | M10*1.0P | M6*1.0P 7 3 2.7
=300K | 365.4 | 300|273 | 27 | 37 | 47 |219| 63 |24 | 32| 39| 12 | M10*1.0P | M6*1.0P | 7 | 3 3.1
=SF14- 90K | 155.4 | 90 | 63 | 27 | 37 | 48 | - |63 |27 (34| - | 14 | M10*1.0P | M6*1.0P 3 1 1.3
=120K | 185.4 |120| 93 | 27 | 37 | 47 | = |63 |27 |34 | = | 14 | M10*1.0P | M6*1.0P | 10| 2 1.6
=160K | 225.4 |160(133| 27 | 37 | 47 | 78 | 63 | 27 | 34 | 42 | 14 | M10*1.0P | M6*1.0P 5 3 1.9
=200K | 265.4 | 200|173 | 27 | 37 | 47 |118| 63 | 27 | 34 | 42 | 14 | M10*1.0P | M6*1.0P 5 3 2.3
=250K | 315.4 | 250|223 | 27 | 37 | 47 |168| 63 | 27 | 34 | 42 | 14 | M10*1.0P | M6*1.0P 5 3 2.7
=300K | 365.4 | 300|273 | 27 | 37 | 47 |218| 63 | 27 | 34 | 42 | 14 | M10*1.0P | M6*1.0P 5 3 3.1




HIZTIN

4

CNCTOOLS

HETIHFE S

-BT40-SFK #A4E T4 (4.5°@7KH )

#
4
7]
Uiz]
#
5l

w
I
=
=
=
I
=
=
o
[s]
=)
=
o
=
=]
m
=
w
m
=
m
wn

BT40-SFK SHRINK CHUCK (4.5° SHRINK-FIT COOLANT TYPE)

FIG. 1

BT. NO

D
o~

L5
A L4

2=N3*0, 5P

I=f 5|8
1
f) I

2=M3*0, 5P

<tz &

2-M3*0. 5P

# # Model FIG E|E KGS
BT40-SF16~- 90K 155.4 1 90 | 63 | 27 |40 | 50 | - |63 |27 |34 | - |16 | M12*1.0P | M6*1.0P 3 1 1.3
=120K 185.4 {120 93 | 27 |40 | 50 | - |63 |27 |34 | - | 16 | M12*1.0P | M6*1.0P | 10 | 2 1.6
=160K 225.4 |160(133| 27 | 40 | 50 | 78 | 63 | 27 | 34 | 42 | 16 | M12*1.0P | M6*1.0P 5 3 1.9
=200K 265.4 |200(173| 27 | 40 | 50 |118| 63 | 27 | 34 | 42 | 16 | M12*1.0P | M6*1.0P 5 3 2.3
=250K 315.4 | 250|223 | 27 | 40 | 50 |168| 63 | 27 | 34 | 42 | 16 | M12*1.0P | M6*1.0P 5 3 2.7
=300K 365.4 | 300|273 | 27 | 40 | 50 |218| 63 | 27 | 34 | 42 | 16 | M12*1.0P | M6*1.0P 5 3 3.1
=SF18- 90K 155.4 | 90 | 63 | 27 | 40 | 50 | = | 63 | 33 | 41 = | 18 | M12*1.0P | M6*1.0P 2 1 1.4
=120K 185.4 {120 93 | 27 | 40 | 50 | = | 63|33 |42 | - |18 | M12*1.0P | M6*1.0P 5 2 1.8
=160K 2254 1160(133| 27 | 40 | 50 | = |63 (33|42 | - |18 | M12*1.0P | M6*1.0P 5 2 2.1
=200K 265.4 |200(173| 27 | 40 | 50 | = |63 33|42 | - |18 | M12*1.0P | M6*1.0P 5 2 2.4
=250K 315.4 | 250|223 | 27 | 40 | 50 | - [ 63 |33 |42 | - | 18 | M12*1.0P | M6*1.0P 5 2 2.8
=300K 365.4 |300|273| 27 | 40 | 50 | - [ 63 |33 42| - | 18 | M12*1.0P | M6*1.0P 5 2 3.2
=SF20- 90K 155.4 | 90 | 63 | 27 | 42 | 50 | - | 63 | 33 | 41 - | 20 | M16*1.0P | M6*1.0P 2 1 1.4
=120K 185.4 [120| 93 | 27 | 42 | 50 | - | 63|33 |42 | - | 20 | M16*1.0P | M6*1.0P 5 2 1.8
=160K 2254 |1160(133| 27 | 42 | 50 | - |63 [33|42| - |20 | M16*1.0P | M6*1.0P 5 2 2.1
=200K 265.4 |200(173| 27 | 42 | 50 | - |63 [33|42| - |20 | M16*1.0P | M6*1.0P 5 2 2.4
=250K 315.4 | 250|223 | 27 | 42 | 52 | - |63 |33 |42 | - | 20 | M16*1.0P | M6*1.0P 5 2 2.8
=300K 365.4 |300|273| 27 | 42 | 52 | - [ 63|33 |42 | - | 20 | M16*1.0P | M6*1.0P 5 2 3.2
=SF25-100K 155.4 | 90 | 63 | 27 | 48 | 58 = 63 |44 |53 | - 25 | M16*1.0P | M6*1.0P 2 1 2.1
=120K 185.4 [120| 93 | 27 | 48 | 58 | - | 63|44 |53 | - | 25 | M16*1.0P | M6*1.0P 2 2 2.3
=160K 2254 |1160(133| 27 | 48 | 58 | - |63 [ 44|53 | - | 25| M16*1.0P | M6*1.0P 2 2 2.6
=200K 265.4 |200(173| 27 | 48 | 58 | - |63 |44 |53 | - | 25| M16*1.0P | M6*1.0P 2 2 3.1
=250K 315.4 | 250|223 | 27 | 48 | 58 | = [ 63 |44 |53 | = | 25 | M16*1.0P | M6*1.0P 2 2 3.6
=300K 365.4 |300(273| 27 | 48 | 58 | = |63 |44 |53 | - | 25 | M16*1.0P | M6*1.0P 2 2 41
=SF32-100K 1554 (90 | 63 | 27 | 52 | 62 | = |63 |44 |53 | - | 32| M16*1.0P | M6*1.0P 2 1 2.1
=120K 185.4 {120 93 | 27 | 52 | 62 | = |63 |44 |53 | - | 32 | M16*1.0P | M6*1.0P 2 2 2.3
=160K 2254 |1160(133| 27 | 52 | 62 | = |63 |44 |53 | = | 32| M16*1.0P | M6*1.0P 2 2 2.6
=200K 265.4 |200(173| 27 | 52 | 62 | = |63 |44 |53 | = | 32| M16*1.0P | M6*1.0P 2 2 3.1
=250K 315.4 | 250|223 | 27 | 52 | 62| - |63 |44 |53 | - | 32 | M16*1.0P | M6*1.0P 2 2 3.6
=300K 365.4 |300|273| 27 | 52 | 62| - |63 |44 |53 | - | 32 | M16*1.0P | M6*1.0P 2 2 41
AL 15 BR:

BT40E T
IHEE S Holder type

HEFRAZ I Taper size

% L1 ¥ Length (L1)

TIFFE1E Diameter



-BT50-SFK #A4EJ] 1 (4.5°@7KH )

HETIHFESY

HIETINR

48

CNCTOOLS

BT50-SFK SHRINK CHUCK (4.5° SHRINK-FIT COOLANT TYPE)

FIG. 1

D

" L5

2-M3*0, 5P

<t

D1

I
a

L1

FIG. 2

2-M3*0, 5P

il L5
e
oS- [

El

-t 5 a

o~

L1

FIG. 3

4

JNFS =

(%)
e
=
=z
=
i)
=
=
o
@
-
x
o
=
o
m
ol
w
m
2
m
1%

2-M3*0. 5P

#M #% Model L L1 L2 L3 14 L5 L6 D D1 D2 D3 d T T1 R FIG ZEEZ KGS

BT50-SF06-100K | 201.8 | 100| 62 | 38 | 26 | 36 | - [100| 21 |27 | - | 6 | M5*0.8P | M6*1.0P | 2 | 1 3.7
=120K |221.8|120| 82 | 38| 26 |36 | - |100| 21|27 | - | 6 | M5*0.8P | M6*1.0P | 12| 2 3.9
-160K | 2618 | 160|122 | 38 | 26 | 36 | 58 |100| 21 | 27 |39 | 6 | M5*0.8P | M6*1.0P | 12| 3 4.2
-200K | 301.8 (200|162| 38 | 26 | 36 | 92 |100| 21 | 27 (42 | 6 | M5*0.8P | M6*1.0P | 12| 3 5.8
=250K | 351.8|250|212| 38 | 26 | 36 [142|100| 21 | 27 |42 | 6 | M5*0.8P | M6*1.0P | 12| 3 7.4
-300K | 401.8|300|262| 38 | 26 | 36 [192|100| 21 | 27 | 42| 6 | M5*0.8P | M6*1.0P | 12| 3 8.9
-SF08-100K | 201.8|100| 62 | 38 | 26 | 36 | - |100| 21|27 | - | 8 | M6*1.0P | M6*1.0P | 2 | 1 3.8
=120K |221.8|120| 82 |38 | 26 | 36 | - |100| 21 |27 | - | 8 | M6*1.0P | M6*1.0P | 12| 2 3.9
-160K | 2618 [160|122| 38 | 26 | 36 | 58 |100| 21 | 27 [ 39 | 8 | M6*1.0P | M6*1.0P | 12| 3 4.2
-200K | 301.8 200|162 | 38 | 26 | 36 | 92 |100| 21 | 27 | 42| 8 | M6*1.0P | M6*1.0P | 12| 3 5.8
=250K | 351.8|250|212| 38 | 26 | 36 [142|100| 21 | 27 | 42| 8 | M6*1.0P | M6*1.0P | 12| 3 7.4
-300K | 401.8 (300|262| 38 | 26 | 36 [192|100| 21 | 27 (42 | 6 | M5*0.8P | M6*1.0P | 12| 3 8.9
=SF10-100K | 201.8 |100| 62 | 38 | 32 | 42 | - |100( 24 |32 | - |10 | M8*1.0P | M6*1.0P | 2 | 1 3.9
=120K |221.8|120| 82 |38 |32 |42 | - |100| 24 |32 | - | 10 | M8*1.0P | M6*1.0P | 10| 2 4.1
-160K | 2618 (160|122 | 38 | 32 | 42 | 72 |100| 24 | 32 | 38 | 10 | M8*1.0P | M6*1.0P | 15| 3 4.3
-200K |301.8|200|162| 38 | 32 | 42 |107|100| 24 | 32 | 39 | 10 | M8*1.0P | M6*1.0P | 15| 3 5.9
=250K | 351.8|250|212| 38 | 32 | 42 [127|100| 24 | 32 | 39 | 10 | M8*1.0P | M6*1.0P | 15| 3 7.5
-300K | 401.8 (300|262 | 38 | 32 | 42 |207|100| 21 | 27 [ 39 | 10 | M5*0.8P | M6*1.0P | 15| 3 8.9
=SF12-100K | 201.8|100| 62 | 38 | 37 | 47 | - |100| 24 |32 | - |12 | M10*1.0P | M6*1.0P | 2 | 1 3.9
=120K |221.8|120| 82 | 38 | 37 | 47 | - |100| 24 |32 | - | 12 | M10*1.0P | M6*1.0P | 10 | 2 4.1
-160K | 2618 (160|122 | 38 | 37 | 47 | 72 |100| 24 | 32 | 38 | 12 | M10*1.0P | M6*1.0P | 15| 3 4.3
-200K | 301.8|200|162| 38 | 37 | 47 |107|100| 24 | 32 | 39 | 12 | M10*1.0P | M6*1.0P | 15| 3 5.9
=250K | 351.8|250|212| 38 | 37 | 47 [157|100| 24 | 32 | 39 | 12 | M10*1.0P | M6*1.0P | 15| 3 7.5
-300K | 401.8 (300|262 | 38 | 37 | 47 |207|100| 24 | 32 [ 39 | 12 | M10*1.0P | M6*1.0P | 15| 3 9.1
-SF14-100K | 201.8 |100| 62 | 38 | 37 | 47 | - |100| 27 | 34| - | 14 | M10*1.0P | M6*1.0P | 4 | 1 3.9
=120K | 221.8|120| 82 | 38 | 37 | 47 | - |100| 27 | 34| - | 14 | M10*1.0P | M6*1.0P | 10 | 2 4.1
-160K | 2618 160|122 | 38 | 37 | 47 | 67 |100| 27 | 34 | 41 | 14 | M10*1.0P | M6*1.0P | 15| 3 4.3
-200K |301.8|200|162| 38 | 37 | 47 |107|100| 27 | 34 | 41 | 14 | M10*1.0P | M6*1.0P | 15| 3 5.9
=250K | 351.8|250|212| 38 | 37 | 47 |157|100| 27 | 34 | 41 | 14 | M10*1.0P | M6*1.0P | 15| 3 7.5
-300K | 401.8 (300|262 | 38 | 26 | 36 |207|100| 27 | 34 | 41 | 14 | M10*1.0P | M6*1.0P | 15 | 3 9.1




HIZTIN

4

CNCTOOLS

HETIHFE S

-BT50-SFK #A4EJ1 1R (4.5°@KE )

*
4
7]
Uiz]
#
5l

w
I
=
=
=
I
=
=
o
[s]
=)
=
o
=
=]
m
=
w
m
=
m
wn

BT50-SFK SHRINK CHUCK (4.5° SHRINK-FIT COOLANT TYPE)

FIG. 1

D

2-M3*0. 5P

—|
alo

4]

FIG. 2

2-M3*0. 5P

L3

- Tfg 8
(

FIG. 3

D
T
LS 2-M3*0. 5P
<A>
il
Ayt 158
L Ny

L2

# ¥ Model 13 14 L5 L6 D D1 D2 D3 d T T1 R FIG ZE=KGS

BT50-SF16-100K | 201.8 |100| 62 | 38 | 40 | 50 | - [100| 27 | 34| - | 16 | M12*1.0P | M6*1.0P | 4 | 1 3.9
-120K | 221.8 |120| 82 | 38 | 40 | 50 | - (100| 27 | 34| - | 16 | M12*1.0P | M6*1.0P | 10 | 2 4.1
-160K | 2618 (160|122 | 38 | 40 | 50 | 67 |100| 27 | 34 | 41 | 16 | M12*1.0P | M6*1.0P | 15 | 3 4.3
-200K | 301.8 |200|162| 38 | 40 | 50 [107(100| 27 | 34 | 41 | 16 | M12*1.0P | M6*1.0P | 15 | 3 5.9
-250K | 351.8 |250|212| 38 | 40 | 50 (157 (100 27 | 34 | 41 | 16 | M12*1.0P | M6*1.0P | 15 | 3 7.5
-300K | 401.8 |300|262| 38 | 40 | 50 (207 (100 27 | 34 | 41 | 16 | M5*0.8P | M6*1.0P | 15 | 3 9.1
-SF18-100K | 201.8 [100| 62 | 38 | 40 | 50 | - |100| 33| 42| - | 18 | M12*1.0P | M6*1.0P | 3 | 1 4.1
-120K | 221.8 |120| 82 | 38 | 40 | 50 | - (100| 33 |42 | - | 18 | M12*1.0P | M6*1.0P | 4 | 2 4.2
-160K | 2618 |160|122| 38 | 40 | 50 | 77 [100| 33 | 42 | 47 | 18 | M12*1.0P | M6*1.0P | 12 | 3 4.4
-200K | 301.8 |{200|162| 38 | 40 | 50 (107 (100 33 | 42 | 50 | 18 | M12*1.0P | M6*1.0P | 12 | 3 6.1
-250K | 351.8 |250|212| 38 | 40 | 50 [157(100| 33 | 42 | 50 | 18 | M12*1.0P | M6*1.0P | 12 | 3 7.8
-300K | 401.8 |300|262| 38 | 40 | 50 (207 (100| 27 | 34 | 50 | 18 | M5*0.8P | M6*1.0P | 12 | 3 9.4
-SF20-100K | 201.8 [100| 62 | 38 | 42 | 52 | - |100| 33| 42| - |20 | M16*1.0P | M6*1.0P | 3 | 1 41
-120K | 221.8 |120| 82 | 38 | 42 | 52 | - [100| 33 |42 | - | 20 | M16*1.0P | M6*1.0P | 4 | 2 4.2
-160K | 2618 |160|122| 38 | 42 | 52 | 77 [100| 33 | 42 | 47 | 20 | M16*1.0P | M6*1.0P | 12 | 3 4.4
-200K | 301.8 200|162 | 38 | 42 | 52 (107 (100 33 | 42 | 50 | 20 | M16*1.0P | M6*1.0P | 12 | 3 6.1
-250K | 351.8 |250|212| 38 | 42 | 52 (157|100 33 | 42 | 50 | 20 | M16*1.0P | M6*1.0P | 12 | 3 7.8
-300K | 401.8 |300|262| 38 | 42 | 52 (207|100 33 | 42 | 50 | 18 | M5*0.8P | M6*1.0P | 12 | 3 9.4
-SF25-110K | 211.8 |{110| 72 | 38 | 48 | 58 | - [100| 44 | 53 | - | 25 | M16*1.0P | M6*1.0P | 1 | 1 4.5
-120K | 221.8 |120| 82 | 38 | 48 | 58 | - [100| 44 | 53 | - | 25 | M16*1.0P | M6*1.0P | 3 | 2 47
-160K | 2618 |160|122| 38 | 48 | 58 | 79 [100| 44 | 53 | 57 | 25 | M16*1.0P | M6*1.0P | 8 | 3 5.1
-200K | 301.8 200|162 | 38 | 48 | 58 (107|100 44 | 53 | 61 | 25 | M16*1.0P | M6*1.0P | 8 | 3 6.1
-250K | 351.8 |250|212| 38 | 48 | 58 [157(100| 44 | 53 | 61 | 25 | M16*1.0P | M6*1.0P | 8 | 3 7.8
-300K | 401.8 |300|262| 38 | 48 | 58 (207|100 44 | 53 | 61 | 25 | M16*1.0P | M6*1.0P | 8 | 3 9.7
-SF32-110K | 211.8 |{110| 72 | 38 | 52 | 62 | - |[100| 44 | 53 | - | 32 | M16*1.0P | M6*1.0P | 1 | 1 4.5
-120K | 221.8 |120| 82 | 38 | 52 | 62 | - [100| 44 | 53 | - | 32 | M16*1.0P | M6*1.0P | 3 | 2 47
-160K | 2618 |160|122| 38 | 52 | 62 | 79 [100| 44 | 53 | 57 | 32 | M16*1.0P | M6*1.0P | 8 | 3 5.1
-200K | 301.8 200|162 | 38 | 52 | 62 (107|100 44 | 53 | 61 | 32 | M16*1.0P | M6*1.0P | 8 | 3 6.1
-250K | 351.8 |250|212| 38 | 52 | 62 (157|100 44 | 53 | 61 | 32 | M16*1.0P | M6*1.0P | 8 | 3 7.8
-300K | 401.8 |300|262| 38 | 52 | 62 [207|100| 44 | 53 | 61 | 32 | M16*1.0P | M6*1.0P | 8 | 3 9.7




HIETINR

HETIHFESY cﬁﬁﬁs

-BERH REFERENCE DETAILS
L2
L3 . F@‘\y
S a%@ ] SN 9 |
3 |
3.9
L1 gl 35 ,I_'f L5

o

L]
7
UiZ]
=

(%)
e
=
=z
=
)
=
=
o
@
-
x
o
=
o
m
o
)
m
2
m
h

=

L4 L5 L6
(0] 0 0
-0.3

el e2
+0.1 Max.

SK30 50 | 31.75 | 59.30 |44.30| 45 13 | 16.1 4 478 | 335 | 24 19 16.4 15 21 5

SK40 63.55|44.45 | 72.30 |56.25| 50 17 | 16.1 4 68.4 | 42.5 | 32 25 22.8 | 18.5 27 5

SK50 97.50 | 69.85 |107.25|91.25| 80 25 | 257 | 6 |101.75| 61.5 | 47 | 377 | 35.5 30 42 7

ST

OHERE: <AT3

OEARME: JIS-SCM415

OFE: HRC56°BHKRE >0.8mm

OEREE: <0.8um

OFmMAEME: Ra<0.5um

OJIHAAMLTI BIMERE : BT V BAZiHHK#ME (DIN-69871-AD+B)

© ER., FMA, FMB., MLT, SCK, SLN. SOM Bff&: B TRAED O HKME (DIN-69871-AD)
O JIRETIRAREN T4 G6.3, TTRIMEERBIHTE G2.5

OZKHISE: DIN 69871




HIZTIN

éﬁ?%é@%; BLETI 5 FE 5

-SK30-SF#457J48 (4.5°FREEEY ) sk30-5F SHRINK FIT TOOL HOLDER(4.5° STANDARD VERSION)

FIG.1 b
SK/DAT

> 45
8 7]
e
EE
|
##& Model

SK30-SF03- 80 1278 | 80 | 60.9 | 191 | 12 50 12 17 3 5 1 0.6

-120 167.8 | 120 | 100.9 | 191 | 12 50 12 20 3 5 2 0.8

-SF04- 80 1278 | 80 | 609 | 191 | 16 50 12 17 4 5 1 0.6

=120 167.8 120 100.9 | 19.1 16 50 12 20 4 5 2 0.8

-SF05- 80 1278 | 80 | 609 | 191 | 18 50 12 17 5 5 1 0.6

=120 167.8 120 100.9 | 19.1 18 50 12 20 5 5 2 0.8

AL RE:

QLI K Length (L1)
JIFFE 1R Diameter
L)

IHEEL S Holder type
AR Taper size



HIETINR

48

BETTHES  [HEmn

-SK30-SF#457J48 (4.5°FREEEY ) sk30-5F SHRINK FIT TOOL HOLDER(4.5° STANDARD VERSION)

FIG.1 b
T LS
SK/DAT L4
7
N - - - @' |I - _-b__ - -UT E g
| T o
L] °
Efjj L2
L1
L
FIG.2 b
L5
T
SK/DAT L4

4

NS &

S3RI3S ¥IATOH 100L LI4 XNRIHS

=

##& Model R FIG EZ= KGS

SK30-SF06- 80 1278 | 80 | 609 | 191 |26 [36| 50 | 21 | 27 | 6 | M5*0.8P | M6*1.0P | 3 | 1 0.6

=120 167.8 | 120 (1009 | 191 | 26 |36 | 50 | 21 | 27 | 6 | M5*0.8P | M6*1.0P | 5 | 2 0.8

-SF08- 80 1278 | 80 | 609 | 19.1 | 26 |36 | 50 | 21 | 27 | 8 | M6*1.0P | M6*1.0P | 3 | 1 0.65

=120 167.8 | 120 | 100.9| 19.1 | 26 |36 | 50 | 21 | 27 | 8 | M6*1.0P | M6*1.0P | 5 | 2 0.85

=SF10- 80 1278 | 80 | 609 | 191 | 32 |42 | 50 | 24 | 32 | 10| M8*1.OP | M6*1.0P | 1 | 1 0.7

=120 167.8 | 120 | 1009 | 19.1 | 32 |42 | 50 | 24 | 32 | 10 | M8*1.0P | M6*1.0P | 4 | 2 0.9

=SF12- 80 1278 | 80 | 609 | 191 | 37 |47 | 50 | 24 | 32 | 12 | M10*1.0P | M6*1.0P | 1 | 1 0.7

=120 167.8 | 120 (1009 | 191 | 37 |47 | 50 | 24 | 32 | 12 | M10*1.0P | M6*1.0P | 4 | 2 0.9

=SF14- 80 1278 | 80 | 60.9 | 191 | 37 |47 | 50 | 27 | 34 | 14 | M10*1.0P | M6*1.0P | 1 | 1 0.75

=120 167.8 | 120 (1009 | 191 | 37 |47 | 50 | 27 | 34 | 14 | M10*1.0P | M6*1.0P | 3 | 2 0.95

-SF16- 80 1278 | 80 | 609 | 191 | 40 |50 | 50 | 27 | 34 |16 | M12*1.0P | M6*1.0P | 1 | 1 0.75

-120 167.8 | 120 | 100.9| 19.1 | 40 | 50 | 50 | 27 | 34 | 16 | M12*1.0P | M6*1.0P | 3 | 2 0.95

-SF18- 80 1278 | 80 | 60.9 | 191 | 40 |50 | 50 | 33 | 42 | 18 | M12*1.0P | M6*1.0P | 1 | 1 0.8

=120 167.8 | 120 (1009 | 191 | 40 | 50 | 50 | 33 | 42 | 18 | M12*1.0P | M6*1.0P | 1 | 2 1

-SF20- 80 1278 | 80 | 609 | 191 | 42 |52 | 50 | 33 | 42 | 20 | M16*1.0P | M6*1.0P | 1 | 1 0.8

=120 167.8 | 120 [100.9 | 191 | 42 | 52| 50 | 33 | 42 | 20 | M16*1.0P | M6*1.0P | 1 | 2 1

MRS RR:

$L1 KE Length(L1)
JIMFE 1R Diameter
Lf)

IHEE S Holder type
HEFRAZ T Taper size




HIZTIN

ciﬁgﬁs BLETI 5 FE 5

-SKA40-SF 45 7J4A (4.5°FREEEY ) 5Ka0-SF SHRINK FITTOOL HOLDER(4.5° STANDARD VERSION)

FIG.1
SK/DAT

N

S3R43S ¥IATOH 100L LH XNRIHS

#M 1% Mode

SK40-SF03- 80 148.4 80 60.9 19.1 12 63.55 12 17 1
=120 188.4 | 120 100.9 19.1 12 63.55 12 20 1.1
=160 228.4 | 160 140.9 19.1 12 63.55 12 20 1.2
-SF04- 80 148.4 80 60.9 19.1 16 63.55 12 17 1
=120 188.4 | 120 100.9 19.1 16 63.55 15 22 1.1
=160 228.4 | 160 140.9 19.1 16 63.55 15 22 1.2
-SF05- 80 148.4 | 80 60.9 19.1 18 | 63.55 12 17 1
=120 188.4 | 120 100.9 19.1 18 63.55 15 22 1.1
=160 228.4 | 160 140.9 19.1 18 63.55 15 22 1.2
AR RR:
T ? @Ll +E Length (L1)
JJ#FE1Z Diameter
heeftS Holder type
$EFRAZ I Taper size




HIETINR

48

BETRES e

-SKA40-SF #4548 (4.5°FRMEEEY ) SK40-SF SHRINK FIT TOOL HOLDER(4.5° STANDARD VERSION)

FIG.1

z

nE

e

%3

ﬁug

#t& Model d R FIG E= KGS

SK40-SF06- 80 | 148.4| 80 | 60.9 (191 26 | 36 | - [63.55) 21 27| - | 6 | M5*0.8P | M6*1.0P | 5 | 1| 1.2
=120 |188.4|120(100.9[191| 26 | 36 | - [63.55| 21|27 | - | 6 | m5*0.8P | M6*1.0P [10| 2 | 1.5
=160 |228.4| 160 |140.9|19.1| 26 | 36 | 78 |63.55| 21 |27 | 41| 6 | m5*0.8P | M6*1.0P | 5 | 3 | 1.8
-200 | 268.4| 200 | 180.9 |19.1| 26 | 36 | 118 [63.55| 21 | 27 | 41 | 6 | M5*0.8P | M6*1.0P | 5 | 3 | 2.2
-SF08- 80 |148.4| 80 | 60.9 [19.1| 26 | 36 | - |63.55[21 |27 | - | 8 | M6*1.0P | M6*1.0P | 5 | 1 | 1.2
-120 |188.4|120(100.9[191| 26 | 36 | - [63.55| 21|27 | - | 8 | me*1.0p | M6*1.0P [10| 2 | 1.5
-160 |228.4| 160 | 140.919.1| 26 | 36 | 78 |63.55| 21 |27 |41 | 8 | M6*1.0p | M6*1.0P | 5 | 3 | 1.8
-200 | 268.4| 200 | 180.9[19.1| 26 | 36 | 118 (63.55| 21 | 27 | 41 | 8 | mMe*1.0Pp |M6*1.0P | 5 | 3 | 2.2
-SF10- 80 |148.4| 80 | 60.9 [19.1| 32 | 42| - [63.55(24 32| - [ 10| mM8*1.0p | M6*1.0P | 2 | 1| 1.3
=120 |188.4|120(100.9|19.1| 32 | 42| - |63.55| 24 |32| - | 10| mM8*1.0p | M6*1.0P [10| 2 | 1.6
-160 |228.4| 160 | 140.919.1| 32 | 42 | 78 |63.55| 24 | 32 | 40 [ 10| mM8*1.0p | M6*1.0P | 5 |3 | 1.9
-200 | 268.4| 200 |180.919.1| 32 | 42 | 118(63.55| 24 | 32 | 40 [ 10| mM8*1.0P |M6*1.0P | 5 | 3| 2.3
-SF12- 80 |148.4| 80 | 60.9 [191| 37 | 47| - [63.55| 24 (32| - [ 12| mi0*1.0p | Me*1.0P | 2 | 1| 1.3
=120 |188.4|120|100.9|19.1| 37 | 47| - |63.55| 24 |32| - | 12| ™M10*1.0p | M6*1.0P [ 10| 2 | 1.6
-160 |228.4| 160 | 140.9|19.1| 37 | 47 | 78 |63.55| 24 | 32 | 40 [ 12 | M10*1.0P | M6*1.0P | 5 | 3 | 1.9
=200 | 268.4| 200 | 180.9 | 19.1| 37 | 47 | 118 |63.55| 24 | 32 | 40 [ 12 | M10*1.0P | M6*1.0P | 5 | 3 | 2.3
-SF14- 80 |148.4| 80 | 60.9 [19.1| 37 | 47| - [63.55|27 (34| - [ 14| mi0x1.0p | M6*1.0P | 4 | 1| 1.3
=120 |188.4|120(100.9|19.1| 37 | 47| - |63.55| 27 | 34| - | 14| M10*1.0P | M6*1.0P [10| 2 | 1.6
=160 |228.4| 160 | 140.9|19.1| 37 | 47 | 78 |63.55| 27 | 34 | 42 | 14 | Mm10*1.0P | M6*1.0P | 3 |3 | 1.9
-200 | 268.4| 200 |180.9|19.1| 37 | 47 | 118(63.55| 27 | 34 | 42 | 14 | Mm10*1.0p | M6*1.0P | 3 | 3| 2.3

MRS RR:

qﬂl_l K Length (L1)

JI#FE1Z Diameter
IhkERS Holder type
AL T\, Taper size




HIZTIN

c?%(%%s BLETI 5 FE 5

-SKA40-SF #4871 (4.5°4RMEERY )  Ska0-5F SHRINK FITTOOL HOLDER(4.5* STANDARD VERSION)

FIG.1

1%
I
=
=4
A&
- 45
g7
8
I
3
xR
o
§§|J
a

#E Model R FIG E& KGS

SK40-SF16- 80 |148.4| 80 | 609 [19.1| 40 | 50| - [63.55| 27 |34 | - |16 | M12*1.0P | M6*1.0P | 3 | 1 1.3
=120 | 188.4|120|100.9|19.1| 40 | 50 | - [63.55| 27 |34 | - |16 | M12*1.0P | M6*1.0P | 10 | 2 1.6

=160 | 228.4|160|140.9[19.1| 40 | 50 | 78 |63.55| 27 | 34 | 42 | 16 | M12*1.0P | M6*1.0P | 3 | 3 1.9

=200 | 268.4 ({200|180.9(19.1| 40 | 50 | 118 |63.55| 27 | 34 | 42 | 16 | M12*1.0P | M6*1.0P | 3 | 3 2.3

-SF18- 80 |148.4| 80 | 609 |19.1| 40 | 50| = |63.55| 33 |42| = | 18| M12*1.0P | M6*1.0P | 2 | 1 1.4
=120 | 188.4(120|100.9|19.1| 40 | 50 | = [63.55| 33 (42| = |18 | M12*1.0P | M6*1.0P | 5 | 2 1.8

=160 | 228.4|160|1409(19.1| 40 | 50| - [63.55| 33 (42| - |18 | M12*1.0P | M6*1.0P | 5 | 2 2.1

=200 | 268.4|200(1809|19.1| 40 | 50| - |[63.55|33 (42| - |18 | M12*1.0P | M6*1.0P | 5 | 2 2.4

=SF20- 80 |148.4| 80 | 609 |19.1| 42 | 52 | - |63.55| 33 |42| - |20 | M16*1.0P | M6*1.0P | 2 | 1 1.4
=120 | 188.4(120|1009|19.1| 42 | 52| - [63.55| 33 (42| - |20 | M16*1.0P | M6*1.0P | 5 | 2 1.8

=160 | 228.4|(160|1409|19.1| 42 | 52| = [63.55| 33 (42| - |20 | M16*1.0P | M6*1.0P | 5 | 2 2.1

-200 | 268.4|200(180.9|19.1| 42 | 52| - |[63.55|33 (42| - |20 | M16*1.0P | M6*1.0P | 5 | 2 2.4
=SF25-100 | 168.4 |100| 80.9 |19.1| 48 | 58 | = [63.55|44 [ 53| = | 25| M16*1.0P | M6*1.0P | 2 | 1 2.1
=120 | 188.4|(120|100.9|19.1| 48 | 58| - [63.55|44 |53 | - | 25| M16*1.0P | M6*1.0P | 2 | 2 2.3

=160 | 228.4|160|1409|19.1| 48 | 58| - [63.55|44 |53 | - | 25| M16*1.0P | M6*1.0P | 2 | 2 2.6

=200 | 268.4(200|180.9(19.1| 48 | 58| - [63.55|44 |53 | - | 25| M16*1.0P | M6*1.0P | 2 | 2 3.1
=SF32-100 | 168.4 |100| 80.9 {191 | 52 | 62| - |63.55|44 [53| - |32 | M16*1.0P | M6*1.0P | 2 | 1 2.1
=120 | 188.4(120|1009|19.1| 52 | 62| = [63.55|44 |53 | = |32 | M16*1.0P | M6*1.0P | 2 | 2 2.3

-160 | 228.4|160(1409|19.1| 52 | 62| = |[63.55|44 |53 | = |32 | M16*1.0P | M6*1.0P | 2 | 2 2.6

=200 | 268.4(200|180.9(19.1| 52 | 62| = [63.55|44 |53 | = |32 | M16*1.0P | M6*1.0P | 2 | 2 3.1

A& ER:

$Ll K Length (L1)
JI#FE 1R Diameter
Ih8

BEAX S Holder type
ARSI, Taper size



HIETINR

48

BETTHES  [HEmn

-SK50-SF #4714 (4.5°4RMEBY )  Sks0-SF SHRINK FITTOOL HOLDER(4.5 STANDARD VERSION)

FIG.1 D

4

O oy

NS &

=

%)
I
)
=
=
I
=1
=
o
o
=
o
o
=
o
m
=
[
m
2
m
0

# 1% Mode FIG

SK50-SF03- 80 181.75 80 60.9 19.1 12 97.5 12 17 3 5 1 2.8
=120 221.75 | 120 100.9 19.1 12 97.5 12 20 3 5 2 2.9

=160 261.75 | 160 140.9 19.1 12 97.5 12 20 3 5 2 3
=SF04-80 181.75 80 60.9 19.1 16 97.5 12 17 4 5 1 2.8

-120 221.75 | 120 100.9 19.1 16 97.5 15 22 4 5 2 2.9

=160 261.75 | 160 140.9 19.1 16 97.5 15 22 4 5 2 3
=-SF05-80 181.75 80 60.9 19.1 18 97.5 12 17 5 5 1 2.8

=120 221.75 | 120 100.9 19.1 18 97.5 15 22 5 5 2 29

-160 261.75 | 160 140.9 19.1 18 97.5 15 22 5 5 2 3

FIA& 5 ER:

? L1 & Length(L1)
JIHFE 1 Diameter
|

IHEEFCS Holder type
SRR Taper size




HIZTIN

i&%ﬂiﬁﬁi”ﬂ%ﬂ

-SK50-SF #2485 JJ48 (4.5°FRMEEEY ) sks0-SF SHRINK FIT TOOL HOLDER(4.5° STANDARD VERSION)

FIG.1 D

,‘\ SK/DAT
o0

1%
I
=
=4
A&
- 45
g7
8
I
3
xR
o
§§|J
a

=160 |261.75| 160 | 1409 |19.1| 37 | 47 | 78 | 975 |27 | 34| 42 | 14| M10*1.0P | M6*1.0P
=200 |301.75| 200 | 180.9 |19.1| 37 | 47 | 118 | 975 |27 | 34| 42 | 14| M10*1.0P | M6*1.0P

3.1
3.2

##E Model d FIG E= KGS

SK50-SF06- 80 |181.75| 80 | 60.9 [19.1| 26 | 36 975 | 21 |27 | - 6 M5*0.8P M6*1.0P | 1 2.8
=SF06-120 [221.75| 120 |100.9 19.1| 26 | 36 975 | 21 |27 | - 6 M5*0.8P M6*1.0P | 2 2.9
=160 |261.75| 160 [ 140.9|19.1| 26 | 36 | 78 975 |21 |27 |41 | 6 M5*0.8P M6*1.0P | 3 3

=200 |301.75| 200 |180.9 |19.1| 26 | 36 [ 118 | 975 | 21 |27 |41 | 6 M5*0.8P M6*1.0P | 3 3.1
=SF08- 80 [181.75| 80 | 60.9 [19.1| 26 | 36 975 | 21 | 27 | - 8 M6*1.0P M6*1.0P | 1 2.8
=120 |221.75| 120 | 100.9 | 19.1| 26 | 36 975 | 21 |27 | - 8 M6*1.0P M6*1.0P | 2 2.9

=160 |261.75| 160 [ 140.9|19.1| 26 | 36 | 78 975 | 21 |27 |41 | 8 M6*1.0P M6*1.0P | 3 3

=200 |301.75| 200 |180.9|19.1| 26 | 36 [ 118 | 975 | 21 |27 |41 | 8 M6*1.0P M6*1.0P | 3 3.1
=SF10- 80 [181.75| 80 | 60.9 [19.1 | 32 | 42 975 |24 (32| - | 10| M8*1.0P M6*1.0P | 1 2.8
=120 |221.75| 120 | 100.9 [ 19.1| 32 | 42 975 |24 (32| - | 10| M8*1.0P M6*1.0P | 2 2.9

=160 |261.75| 160 [ 140.9|19.1| 32 | 42 | 78 975 | 24 [ 32|40 | 10| M8*1.0P M6*1.0P | 3 3

=200 (301.75| 200 [ 180.9|19.1| 32 | 42 | 118 | 975 |24 | 32| 40 | 10 | M8*1.0P M6*1.0P | 3 3.1
=SF12- 80 [181.75| 80 | 60.9 |19.1 | 37 | 47 975 | 24 [ 32| - | 12| M10*1.0P M6*1.0P | 1 2.9
=120 |221.75| 120 | 100.9 | 19.1| 37 | 47 975 | 24 [ 32| = | 12| M10*1.0P M6*1.0P | 2 3

=160 |261.75| 160 [ 140.9 |19.1| 37 | 47 | 78 975 |24 | 32|40 | 12| M10*1.0P M6*1.0P | 3 3.1

=200 (301.75| 200 [ 180.9|19.1| 37 | 47 | 118 | 975 |24 | 32| 40 | 12 | M10*1.0P M6*1.0P | 3 3.2
=SF14- 80 [181.75| 80 | 60.9 [19.1 | 37 | 47 975 | 27 [ 34| - | 14| M10*1.0P M6*1.0P | 1 2.9
=120 |221.75| 120 | 100.9 | 19.1 | 37 | 47 975 | 27 [ 34| - | 14| M10*1.0P M6*1.0P | 2 3

3
3

MRS RA:

? $Ll K Length(L1)
JIHFE 1R Diameter
158

BE1X S Holder type
SRR Taper size



HIETINR

48

BETRES e

-SK50-SF #457J4A (4.5°FREEEY ) sks0-SF SHRINK FIT TOOL HOLDER (4.5° STANDARD VERSION)

4

SN 2%

(%)
e
=
=z
=
i)
=
=
o
@
=
x
o
=
o
m
ol
w
m
2
m
1%

FIG.3 2
-‘A‘” SK/DAT

#H& Model FIG &= KGS

SK50-SF16- 80 [181.75| 80 | 60.9 |19.1| 40 | 50 975 | 27 [ 34| - |16 | M12*1.0P M6*1.0P | 1 3.1
=120 (221.75| 120 | 100.9 {19.1| 40 | 50 975 | 27 [34| = |16 | M12*1.0P M6*1.0P | 2 3.3

=160 (261.75| 160 [ 140.9|19.1| 40 | 50 | 78 975 | 27 [ 34|42 |16 | M12*1.0P M6*1.0P | 3 3.5

=200 [301.75| 200 |180.9 |19.1| 40 | 50 | 118 | 975 | 27 |34 |42 | 16 | M12*1.0P M6*1.0P | 3 3.7

-SF18- 80 |181.75| 80 | 60.9 [19.1| 40 | 50 975 |33 (42| - |18 | M12*1.0P M6*1.0P | 1 3.1
=120 (221.75| 120 | 100.9 |19.1| 40 | 50 975 |33 (42| - | 18| M12*1.0P M6*1.0P | 2 3.3

=160 |(261.75| 160 | 140.9 | 19.1 | 40 | 50 975 | 33 | 42 18 | M12*1.0P M6*1.0P | 3 3.5

-200 (301.75| 200 | 180.9 | 19.1| 40 | 50 975 | 33 | 42 18 | M12*1.0P M6*1.0P | 3 3.7

=SF20- 80 |181.75| 80 | 60.9 [19.1| 42 | 52 975 |33 (42| - | 20| M16*1.0P M6*1.0P | 1 3.3
=120 (221.75| 120 | 100.9 [19.1 | 42 | 52 975 |33 (42| - |20 | M16*1.0P M6*1.0P | 2 3.5

=160 (261.75| 160 | 140.9 | 19.1 | 42 | 52 975 | 33 | 42 20 | M16*1.0P M6*1.0P | 3 3.7

=200 (301.75| 200 [ 180.9 [19.1| 42 | 52 975 | 33 | 42 20 | M16*1.0P M6*1.0P | 3 3.9
=SF25-100 |201.75| 100 | 80.9 |19.1| 48 | 58 975 | 44 [ 53| - | 25| M16*1.0P M6*1.0P | 1 3.3
=120 (221.75| 120 | 100.9 | 19.1| 48 | 58 975 |44 |53 | - | 25| M16*1.0P M6*1.0P | 2 3.5

-160 (261.75| 160 | 140.9 | 19.1 | 48 | 58 975 | 44 | 53 25 | M16*1.0P M6*1.0P | 3 3.7

=200 (301.75| 200 | 180.9 | 19.1| 48 | 58 975 | 44 | 53 25 | M16*1.0P M6*1.0P | 3 3.9
=SF32-100 |201.75| 100 | 80.9 [19.1| 52 | 62 975 | 44 | 53| - | 32| M16*1.0P M6*1.0P | 1 3.4
=120 (221.75|/120 | 100.9 {191 | 52 | 62 975 | 44 | 53| - | 32| M16*1.0P M6*1.0P | 2 3.6

=160 (261.75| 160 | 140.9 |19.1| 52 | 62 975 | 44 | 53 32 | M16*1.0P M6*1.0P | 3 3.8

=200 (301.75| 200 [ 180.9 [19.1| 52 | 62 975 | 44 | 53 32 | M16*1.0P M6*1.0P | 3 4

FA& 5 ER:

@_l K Length(L1)
JI#FE 1 Diameter
58

BE{X S Holder type
AR I, Taper size




HIZTIN

ciﬁgﬁs BLETI 5 FE 5

-SK30-SFS 45718 (3°4HI<EY )  sk30-5FS SHRINK FITTOOL HOLDER (3 SLENDER TYPE)

FIG.1

SK/DAT

L4

L I TN i = A =
\\IIIIII »

FIG.2
SK/DAT

B

WIS

5l

S3R43S ¥IATOH 100L LH XNRIHS

#M #% Mode FIG

SK30-SFS03- 80 1278 | 80 60.9 | 191 | 12 50 7 13 3 5 1 0.6
=120 167.8 | 120 | 100.9 | 191 | 12 50 7 17 3 5 2 0.9

-SFS04- 80 1278 | 80 60.9 | 191 | 16 50 8 14 4 5 1 0.6

-120 1678 | 120 | 100.9 | 191 | 16 50 8 18 4 5 2 0.9

-SFS05- 80 1278 | 80 60.9 | 191 | 18 50 9 15 5 5 1 0.6

=120 167.8 | 120 | 100.9 | 191 | 18 50 9 19 5 5 2 0.9

FAE 5 ER:

$Ll K Length (L1)
JI#FE & Diameter
1]

IHEE S Holder type
SRR Taper size



HIETINR

48

BETTHFES  [HEn

-SK30-SFS 45718 (3°4HI<EY )  sk30-5FS SHRINK FITTOOL HOLDER (3° SLENDER TYPE)

FIG.1
SK/DAT

L5
L4

e P e e N

O NT 3

— |

SK/DAT
LS
L4 g
) — = = ﬁ%i
7E
e
ﬁﬂg
#AE Model L L1 L2 I3 4 L5 D D1 D2 d T R FIG =& KGS
SK30-SFS06- 80 127.8 80 | 609 |19.1 |26 | 36 | 50 | 10 | 16 | 6 M5%0.8P 51 1 0.7
=120 1678 | 120 | 1009 | 191 | 26 | 36 | 50 | 10 | 20 | 6 M5%0.8P 51| 2 1
-SFS08- 80 127.8 80 | 609 | 191 |26 | 36 | 50 | 12 | 16 | 8 M6*1.0P 51 1 0.7
-120 1678 |[120| 1009 | 191 |26 | 36 | 50 | 12 | 20 | 8 M6*1.0P 51| 2 1
-SFS10- 80 127.8 80 | 60.9 | 191 (32| 42 | 50 | 14 | 16 | 10 M8*1.0P 5| 1 0.8
=120 1678 |[120| 1009 | 191 | 32 | 42 | 50 | 14 | 20 | 10 M8*1.0P 5| 2 1.1
-SFS12- 80 127.8 80 | 60.9 |19 |37 | 47 | 50 | 16 | 16 | 12| M10*1.0P 51 1 0.8
=120 1678 | 120 | 1009 | 191 | 37 | 47 | 50 | 16 | 20 | 12| M10*1.0P 5| 2 1.1
-SFS14- 80 127.8 80 | 60.9 |19 |37 | 47 | 50 | 20 | 26 | 14| M10*1.0P 51 1 1
=120 1678 | 120 | 100.9 | 191 | 37 | 47 | 50 | 20 | 29 | 14| M10*1.0P 51| 2 1.2
-SFS16- 80 127.8 80 | 609 | 191 |40 | 50 [ 50 | 22 | 28 | 16 | M12*1.0P 51 1 1
=120 1678 | 120 | 100.9 | 191 |40 | 50 | 50 | 22 | 31 | 16| M12*1.0P 5| 2 1.2
FA& 5 ER:
@Ll K Length (L1)
T TJ#FE 1R Diameter
IhEEfL S Holder type
SR T, Taper size




HIZTIN

ciﬁgﬁs BLETI 5 FE 5

-SK40-SFS A48 7] (3°4HI<EY )  ska0-SFS SHRINK AT TOOL HOLDER (3° SLENDER TYPE)

FIG.1 D
SK/DAT

FIG.2
SK/DAT

L4

|

|\ D2
€

4
7]
Uiz]
#
5l

L2

L1

w
I
=
=
~
I
=
=
o
[s]
=)
=
o
=
=]
m
=
w
m
=
m
wn

M & Mode
SK40-SFS03- 90 158.4 | 90 70.9 19.1 12 63.55 9 15 3 5 1 1
=120 188.4 | 120 100.9 19.1 12 63.55 9 16 3 5 2 1.1
-160 228.4 | 160 140.9 19.1 12 63.55 9 19 3 5 2 1.2
=200 268.4 | 200 180.9 19.1 12 63.55 9 22 3 5 2 1.3
=SFS04- 90 158.4 90 70.9 19.1 16 63.55 10 16 4 5 1 1
=120 188.4 | 120 100.9 19.1 16 63.55 10 17 4 5 2 1.1
-160 228.4 | 160 140.9 19.1 16 63.55 10 20 4 5 2 1.2
=200 268.4 | 200 180.9 19.1 16 63.55 10 23 4 5 2 1.3
=SFS05- 90 158.4 90 70.9 19.1 18 63.55 11 17 5 5 1 1
=120 188.4 | 120 100.9 19.1 18 63.55 11 18 5 5 2 1.1
=160 228.4 | 160 140.9 19.1 18 63.55 11 21 5 5 2 1.2
=200 268.4 | 200 180.9 | 19.1 18 63.55 11 24 5 5 2 1.3
FA& 5 ER:
T ? ?ﬁ_l K E Length (L1)
JJ#FE & Diameter
IHEE1LS Holder type
$EFERZ T Taper size



HIETINR

48

BETRES e

-SK40-SFS #4571 (3°4HI<EY )  ska0-SFS SHRINK AT TOOL HOLDER (3° SLENDER TYPE)

FIG.1
D
SK/DAT |

D1

o B [} , A s

FIG.2 SK/DAT

= - —
— e" | F g - - I\ SR ele= <f o g
\\ & I e T n?
‘_ £ L3 L2 E
L1 /Z_‘{ o
L 58
#M4& Model d R FIG E& KGS
SK40-SFS06- 90 158.4 90 70.9 190 | 26 | 36 |63.55| 12 | 18 | 6 M5*0.8P 10| 1 1.1
=120 188.4 (120 | 1009 | 191 | 26 | 36 |63.55| 12 | 21 | 6 M5*0.8P 10| 2 1.2
=160 228.4 | 160 | 140.9 | 191 | 26 | 36 |63.55| 12 | 24 | 6 M5*0.8P 10| 2 1.3
=200 268.4 | 200 | 1809 | 191 | 26 | 36 |[63.55| 12 | 27 | 6 M5*0.8P 10| 2 1.4
=SFS08- 90 158.4 90 70.9 190 | 26 | 36 |63.55| 14 | 20 | 8 M6*1.0P 10| 1 1.1
=120 188.4 (120 | 1009 | 19.1 | 26 | 36 |63.55| 14 | 23 | 8 M6*1.0P 10| 2 1.2
=160 228.4 | 160 | 1409 | 191 | 26 | 36 |63.55| 14 | 26 | 8 M6*1.0P 10| 2 1.3
=200 268.4 | 200 | 1809 | 191 | 26 | 36 [63.55| 14 | 29 | 8 M6*1.0P 10| 2 1.4
=SFS10- 90 158.4 90 70.9 190 | 32 | 42 |63.55| 16 | 22 | 10 M8*1.0P 10| 1 1.1
=120 188.4 (120 | 1009 | 19.1 | 32 | 42 |63.55| 16 | 25 | 10 M8*1.0P 10| 2 1.2
=160 228.4 | 160 | 140.9 | 191 | 32 | 42 |63.55| 16 | 28 | 10 M8*1.0P 10| 2 1.3
=200 268.4 | 200 | 1809 | 191 | 32 | 42 |63.55| 16 | 31 | 10 M8*1.0P 10| 2 1.4
=SFS12- 90 158.4 90 70.9 190 | 37 | 47 |63.55| 18 | 24 | 12 M10*1.0P 10| 1 1.1
-120 188.4 [(120| 1009 | 19.1 | 37 | 47 |63.55| 18 | 27 | 12 M10*1.0P 10| 2 1.2
=160 228.4 | 160 | 1409 | 191 | 37 | 47 |63.55| 18 | 30 | 12 M10*1.0P 10| 2 1.3
=200 268.4 | 200 | 1809 | 191 | 37 | 47 |63.55| 18 | 33 | 12 M10*1.0P 10| 2 1.4
=SFS14- 90 158.4 90 70.9 190 | 37 | 47 |63.55| 20 | 26 | 14 M10*1.0P 10| 1 1.2
-120 188.4 [120| 100.9 | 19.1 | 37 | 47 |63.55| 20 | 29 | 14 M10*1.0P 10| 2 1.3
=160 228.4 | 160 | 1409 | 191 | 37 | 47 |63.55| 20 | 32 | 14 M10*1.0P 10| 2 1.5
=200 268.4 | 200 (| 1809 | 191 | 37 | 47 |63.55| 20 | 35 | 14 M10*1.0P 10| 2 1.7
=-SFS16- 90 158.4 90 70.9 191 | 40 | 50 |63.55| 22 | 28 | 16 M12*1.0P 10| 1 1.2
-120 188.4 [ 120 | 100.9 | 19.1 | 40 | 50 |63.55| 22 | 31 | 16 M12*1.0Pp 10| 2 1.3
=160 228.4 | 160 | 1409 | 191 | 40 | 50 |63.55| 22 | 34 | 16 M12*1.0P 10| 2 1.5
=200 268.4 | 200 (| 1809 | 191 | 40 | 50 |63.55| 22 | 37 | 16 M12*1.0P 10| 2 1.7
=SFS18- 90 158.4 90 70.9 190 | 40 | 50 |63.55| 24 | 30 | 18 M12*1.0P 10| 1 1.2
=120 188.4 | 120 | 1009 | 19.1 | 40 | 50 |63.55| 24 | 33 | 18 M12*1.0Pp |10 | 2 1.3
=160 228.4 | 160 | 1409 | 191 | 40 | 50 |63.55| 24 | 36 | 18 M12*1.0P 10| 2 1.6
=200 268.4 | 200 (| 1809 | 191 | 40 | 50 |63.55| 24 | 39 | 18 M12*1.0P 10| 2 1.9
=SFS20- 90 158.4 90 70.9 190 | 42 | 52 |63.55| 26 | 32 | 20 M12*1.0P 10| 1 1.3
=120 188.4 | 120 | 100.9 | 19.1 | 42 | 52 |63.55| 26 | 35 | 20 M12*1.0P 10| 2 1.4
=160 228.4 | 160 | 1409 | 191 | 42 | 52 |63.55| 26 | 38 | 20 M12*1.0P 10| 2 1.7
=200 268.4 | 200 | 1809 | 191 | 42 | 52 |63.55| 26 | 41 | 20 M12*1.0P 10| 2 2
R 5 ER:

QLI £ Length (L1)
JIFFE 1 Diameter
IhEE{X S Holder type

AR I Taper size




HIZTIN

i&%ﬂiﬁﬁi”ﬁ%ﬂ

-SK50-SFS #4571 (3°4HISEY )  sk50-SFS SHRINK FIT TOOL HOLDER (3* SLENDER TYPE)

D

> FIG.1 SK/DAT

SK/DAT

: FIG.2
A / i .;Q LE4
| A st
. — g‘ I ‘ NI] : < -
: \ > ) T
é %ﬁ . 4 12
z 1% — - L1
c % L
|
SK50-SFS06-100 201.75 | 100 | 809 | 191 | 26 | 36 |975| 12 | 18 | 6 M5*0.8P 10| 1 3.8
=120 221.75 | 120 | 1009 | 191 [ 26 | 36 |975| 12 | 20 | 6 M5*0.8P 10| 1 3.9
=160 261.75 | 160 | 1409 | 191 [ 26 | 36 | 975 | 12 | 24 | 6 M5*0.8P 10| 2 4.2
-200 301.75 [ 200 | 1809 | 191 | 26 | 36 |975| 12 | 28 | 6 M5*0.8P 10| 2 5.8
-SFS08-100 201.75 | 100 | 809 | 191 | 26 | 36 |975| 14 | 20 | 8 M6*1.0P 10| 1 3.8
=120 22175 | 120 | 1009 | 191 | 26 | 36 | 975 | 14 | 22 | 8 M6*1.0P 10| 1 3.9
=160 261.75 | 160 | 1409 | 191 [ 26 | 36 | 975 | 14 | 26 | 8 M6*1.0P 10| 2 4.2
-200 301.75 [ 200 | 1809 | 191 | 26 | 36 |975| 14 | 30 | 8 M6*1.0P 10| 2 5.8
=-SFS10-100 201.75 | 100 | 80.9 190 | 32 | 42 |975| 16 | 22 | 10 M8*1.0P 10| 1 3.9
=120 221.75 | 120 | 100.9 | 191 | 32 | 42 | 975 | 16 | 24 | 10 M8*1.0P 10| 1 41
=160 261.75 | 160 | 140.9 | 191 | 32 | 42 | 975 | 16 | 28 | 10 M8*1.0P 10| 2 4.3
=200 301.75 [ 200 | 1809 | 191 | 32 | 42 |975| 16 | 32 | 10 M8*1.0P 10| 2 5.9
=SFS12-100 201.75 | 100 | 80.9 191 | 37 | 47 |975| 18 | 24 | 12 M10*1.0P 10| 1 3.9
=120 221.75 | 120 | 100.9 | 19.1 | 37 | 47 | 975 | 18 | 26 | 12 M10*1.0P 10| 1 41
=160 261.75 | 160 | 140.9 | 191 | 37 | 47 | 975 | 18 | 30 | 12 M10*1.0P 10| 2 4.3
=SFS12-200 301.75 [ 200 | 1809 | 191 | 37 | 47 | 975 | 18 | 34 | 12 M10*1.0P 10| 2 5.9
=SFS14-100 201.75 | 100 | 80.9 191 | 37 | 47 | 975 | 20 | 26 | 14 M10*1.0P 10| 1 3.9
=120 221.75 | 120 | 100.9 | 191 | 37 | 47 | 975 | 20 | 28 | 14 M10*1.0P 10| 1 4.1
=160 261.75 | 160 | 1409 | 191 | 37 | 47 |975| 20 | 32 | 14 M10*1.0P 10| 2 4.3
=200 301.75 | 200 | 180.9 | 191 | 37 | 47 |975| 20 | 36 | 14 M10*1.0P 10| 2 5.9
-SFS16-100 201.75 | 100 | 80.9 191 | 40 | 50 | 975 | 22 | 28 | 16 M12*1.0P 10| 1 4
=120 221.75 | 120 | 100.9 | 191 | 40 | 50 | 975 | 22 | 30 | 16 M12*1.0P 10| 1 4.2
=160 261.75 | 160 | 1409 | 19.1 | 40 | 50 | 975 | 22 | 34 | 16 M12*1.0P 10| 2 4.4
=200 301.75 | 200 | 180.9 | 19.1 | 40 | 50 | 975 | 22 | 38 | 16 M12*1.0P 10| 2 6
-SFS18-100 201.75 | 100 | 80.9 191 | 40 | 50 | 975 | 24 | 30 | 18 M12*1.0P 10| 1 4
=120 221.75 | 120 | 1009 | 191 | 40 | 50 | 975 | 24 | 32 | 18 M12*1.0P 10| 1 4.2
=160 261.75 | 160 | 140.9 | 191 | 40 | 50 | 975 | 24 | 36 | 18 M12*1.0P 10| 2 4.4
=200 301.75 | 200 | 180.9 | 19.1 | 40 | 50 | 975 | 24 | 40 | 18 M12*1.0P 10| 2 6
-SFS20-100 201.75 | 100 | 80.9 190 | 42 | 52 | 975 | 26 | 32 | 20 M16*1.0P 10| 1 4.1
=120 221.75 | 120 | 100.9 | 191 | 42 | 52 | 975 | 26 | 34 | 20 M16*1.0P 10| 1 4.3
=160 261.75 | 160 | 140.9 | 191 | 42 | 52 | 975 | 26 | 38 | 20 M16*1.0P 10| 2 4.4
=200 301.75 | 200 | 1809 | 191 | 42 | 52 | 975 | 26 | 42 | 20 M16*1.0P 10| 2 6.1

MRS RA:

E L1 4 Length(L1)
JIFFE 1R Diameter
b5}

BE{X S Holder type
FRAZ T Taper size



HIETINR

48

BETTHFES  [HEn

-SK40-SFK A 457148 (4.557KEBY)  cxa0-SeK SHRINKFIT TOOL HOLDER (45° SHRINK-FIT COOLANT TYPE)

FIG.1

D2

rﬁ 2-M3*0. 5P

l&j Ll LT 7o
P e e s aava ~
[=]

et o 5

L2

L1

#1& Model FIG =& KGS
SK40-SF03- 80K 148.4 80 60.9 19.1 12 | 63.55 14 20 3 5 1 1
=120K 188.4 120 100.9 191 12 | 63.55 14 20 3 5 2 1.1
=160K 228.4 160 140.9 19.1 12 | 63.55 14 20 3 5 2 1.2
=SF04- 80K 148.4 80 60.9 19.1 16 | 63.55 14 20 4 5 1 1
=120K 188.4 120 100.9 191 16 | 63.55 14 20 4 5 2 1.1
=160K 228.4 160 140.9 19.1 16 | 63.55 14 20 4 5 2 1.2
=SF05- 80K 148.4 80 60.9 19.1 18 | 63.55 14 20 5 5 1 1
=120K 188.4 120 100.9 19.1 18 | 63.55 14 20 5 5 2 1.1
-160K 228.4 160 140.9 19.1 18 | 63.55 14 20 5 5 2 1.2
AR ERA:
T @1 KE Length(L1)
JIFFE 1R Diameter
THEELS Holder type
SEFRFZ T, Taper size

o

SN 2%

(%)
e
=
=z
=
I
=
=
o
o
-
x
o
=
o
m
o
)
m
2
m
h




HIZTIN

c?%(%%s BLETI 5 FE 5

-SK40-SFK A48 JJ4R (4.5587KBY)  cka0-SeK SHRINK AT TOOL HOLDER (45° SHRINK-FIT COOLANT TYPE)

FIG.1 b
SK/DAT I T1 L5
X “—_:lu 2-M3*0. 5P
by 77 »
- N
g —— e _ .f-cT ol o
-
L
L3 ; 2
L
FIG.2 0
B SK/DAT I Ls
N \ L4 | 2-M3*0.5P
3 | |
R & ““ L= -_1-°f g a
‘  — nalisad
=
~ 2 L2
I E B -
8 7] L
= ZzIN
2 3l FIG.3
b D
i SK/DAT - L5
L4 | 2-M3*0.5P
- N
—_|<f 9 9
o= 3
\L
@ L6

L2
L1

L3

;& Model d T1 FIG E& KGS
SK40-SF06- 80K | 148.4| 80 | 60.9 |19 | 26 | 36 | - | 63.55| 21 |27 | - 6 M5*0.8P M6*1.0P | 1 1.2
=120K | 188.4 | 120 | 1009 [ 19.1| 26 | 36 | - 63.55 | 21 |27 | - 6 M5*0.8P M6*1.0P | 2 1.5
-160K | 228.4 | 160 | 1409 [19.1| 26 | 36 | 78 | 63.55 | 21 (27 |41 | 6 M5*0.8P M6*1.0P | 3 1.8
=200K | 268.4 | 200 | 180.9 [19.1| 26 | 36 | 118 | 63.55 | 21 (27 | 41 | 6 M5*0.8P M6*1.0P | 3 2.2
-SF08- 80K | 148.4| 80 | 60.9 |19.1| 26 | 36 | - 63.55 | 21 | 27 | - 8 M6*1.0P M6*1.0P | 1 1.2
=120K | 188.4 | 120 [ 100.9 |19.1| 26 |36 | - |[63.55 |21 |27 | - | 8 M6*1.0P M6*1.0P | 2 1.5
=160K | 228.4 | 160 | 1409 [19.1| 26 | 36 | 78 | 63.55 | 21 |27 |41 | 8 M6*1.0P M6*1.0P | 3 1.8
=200K | 268.4 | 200 | 180.9 [ 19.1| 26 | 36 | 118 | 63.55 | 21 |27 | 41 | 8 M6*1.0P M6*1.0P | 3 2.2
=SF10- 80K | 148.4 | 80 | 609 [19.1| 32 |42 | - |63.55[24|32| - | 10| M8*1.0P M6*1.0P | 1 1.3
-120K | 188.4 | 120 | 100.9 [ 19.1| 32 | 42 | - 63.55 |24 32| = | 10| M8*1.0P M6*1.0P | 2 1.6
=160K | 228.4 | 160 | 140.9 | 19.1| 32 | 42| 78 | 63.55 | 24 | 32 | 40 | 10 | M8*1.0P M6*1.0P | 3 1.9
=200K | 268.4 | 200 | 180.9 [ 19.1| 32 | 42 | 118 | 63.55 | 24 | 32 | 40 | 10 | M8*1.0P M6*1.0P | 3 2.3
=SF12- 80K | 148.4| 80 | 60.9 |19 | 37 | 47 | - 63.55 | 24 |32 | - | 12| M10*1.0P M6*1.0P | 1 1.3
=120K | 188.4 | 120 | 1009 | 19.1 | 37 | 47 | - 63.55 | 24 |32 | - | 12 | M10*1.0P M6*1.0P | 2 1.6
=160K | 228.4 | 160 | 140.9 (191 | 37 | 47 | 78 | 63.55 | 24 | 32 | 40 | 12 | M10*1.0P M6*1.0P | 3 1.9
=200K | 268.4 | 200 | 180.9 | 19.1| 37 | 47 | 118 | 63.55 | 24 | 32 | 40 | 12 | M10*1.0P | M6*1.0P | 3 2.3
-SF14- 80K | 148.4| 80 | 60.9 |19.1 | 37 | 47 | - 63.55 | 27 |34 | = | 14 | M10*1.0P M6*1.0P | 1 1.3
=120K | 188.4 | 120 | 1009 [ 19.1 | 37 | 47 | - 63.55 | 27 |34 | = | 14 | M10*1.0P M6*1.0P | 2 1.6
=160K | 228.4 | 160 | 140.9 | 19.1| 37 | 47 | 78 | 63.55 | 27 | 34 | 42 | 14 | M10*1.0P M6*1.0P | 3 1.9
=200K | 268.4 | 200 | 180.9 | 19.1| 37 | 47 | 118 | 63.55 | 27 | 34 | 42 | 14 | M10*1.0P M6*1.0P | 3 2.3
FA& 5 ER:
@_l K[ Length (L1)
T JJ#FE 1] Diameter
IhEEX S Holder type
$EAEAZ T Taper size

100



HIETINR

48

BETRES e

-SK40-SFK #4571 (4.5%@ K8 ) SK40-SFK SHRINK FIT TOOL HOLDER (4.5° SHRINK-FIT COOLANT TYPE)

FIG.1 N
SK/DAT b Nl L5
X - L4 | 2-M3*0.5P
i I :
[ - of = a8
Demmmm b i
T
L
L3 2
L1
L
FIG.2 D
SK/DAT T L5
L4 | 2-M3*0,5P

B -_{-of 35 8
Il“ T ek
@ T

E8

z
E
) =2
FIG.3 ) % i
SK/DAT T1 L5 .
L4 2-M3*0. 5P
- ——1—<3 8
WYW====3+ =
S Lo T
L3 g L2
L
#HE Model L L1 L2 L3 L4 L5 L6 D D1 D2 D3 d T T1 FIG &= KGS
SK40-SF16- 80K | 148.4 | 80 | 60.9 |19.1| 40 |50 | - |63.55 |27 |34 | - |16 | M12*1.0P | M6*1.0P | 1 1.3
=120K | 188.4 | 120 | 100.9 [19.1| 40 | 50 | - | 63.55| 27 | 34| - |16 | M12*1.0P | M6*1.0P | 2 1.6
-160K | 228.4 | 160 | 140.9 [19.1| 40 | 50 | 78 | 63.55 | 27 | 34 | 42 | 16 | M12*1.0P | M6*1.0P | 3 1.9
-200K | 268.4 | 200 | 180.9 [19.1| 40 | 50 | 118 | 63.55 | 27 | 34 | 42 | 16 | M12*1.0P | M6*1.0P | 3 2.3
-SF18- 80K | 148.4 | 80 | 60.9 |19.1| 40 [ 50 | - |63.55|33 |42| - | 18| M12*1.0P | M6*1.0P | 1 1.4
-120K | 188.4 | 120 | 100.9 |{19.1| 40 [ 50 | - |[63.55 |33 |42 | - | 18| M12*1.0P | M6*1.0P | 2 1.7
-160K | 228.4 | 160 | 140.9 [19.1| 40 | 50 | - | 63.55| 33 |42 | - | 18| M12*1.0P | M6*1.0P | 2 2
-200K | 268.4 | 200 | 180.9 [19.1| 40 | 50 | - | 63.55| 33 |42 | - | 18| MI12*1.0P | M6*1.0P | 2 2.4
-SF20- 80K | 148.4 | 80 | 60.9 [19.1| 42 | 52| - |63.55|33 [42| - |20 | M16*1.0P | M6*1.0P | 1 1.4
-120K | 188.4 | 120 | 100.9 |{19.1| 42 [ 52 | - |[63.55|33 |42 | - | 20| M16*1.0P | M6*1.0P | 2 1.7
-160K | 228.4 | 160 | 140.9 [19.1| 42 | 52 | - |63.55| 33 |42 | - | 20| M16*1.0P | M6*1.0P | 2 2
-200K | 268.4 | 200 | 180.9 [19.1| 42 | 52 | - |63.55|33 |42 | - | 20| M16*1.0P | M6*1.0P | 2 2.4
-SF25- 80K | 148.4 | 80 | 60.9 |19.1| 48 |58 | - |63.55| 44 |53 | - | 25| M16*1.0P | M6*1.0P | 1 2
-120K | 188.4 | 120 | 100.9 [19.1| 48 | 58 | - | 63.55| 44 |53 | - | 25| M16*1.0P | M6*1.0P | 2 2.3
-160K | 228.4 | 160 | 140.9 [19.1| 48 | 58 | - | 63.55| 44 |53 | - | 25| M16*1.0P | M6*1.0P | 2 2.6
-200K | 268.4 | 200 | 180.9 |19.1| 48 [ 58 | - |[63.55| 44 |53 | - | 25| M16*1.0P | M6*1.0P | 2 3
-SF32- 80K | 148.4 | 80 | 60.9 [19.1| 52 | 62| - |63.55| 44 [53| - [32| M16*1.0P | M6*1.0P | 1
-120K | 188.4 | 120 | 100.9 [19.1| 52 | 62 | - | 63.55| 44 |53 | - | 32| M16*1.0P | M6*1.0P | 2 2.3
-160K | 228.4 | 160 | 140.9 [19.1| 52 | 62 | - | 63.55| 44 |53 | - | 32| M16*1.0P | M6*1.0P | 2 2.6
-200K | 268.4 | 200 | 180.9 [19.1| 52 | 62 | - | 63.55| 44 |53 | - | 32| M16*1.0P | M6*1.0P | 2 3
A& ER:
T Wil £ Length (L1)
JIFFE & Diameter
If8E1L S Holder type
SEARAZ I, Taper size

101




HIZTIN

c?%(%%s BLETI 5 FE 5

-SK50-SFK A48 JJ4R (4.5587KBY)  os0-SeK SHRINK AT TOOL HOLDER (45° SHRINK-FIT COOLANT TYPE)

FIG.1

FIG.2 D
SK/DAT

\J 14 | 2M3%0.5P

T
2
=
&
z
e
518 L
s R
a5l D
2 FIG.3 SK/DAT 4
- L5
L4 ] 2-M3%0. 5P
B S 53 T Y AR 'UE S
all 4 =
L6 \r

L3

Ak Model T1  FIG B2 KGS

SK50-SFO6- 80K |181.75| 80 | 60.9 |19.1| 26 | 36 | - | 975 | 21|27 - M5%0.8P | M6*1.0P 2.8
-120K [221.75] 120 | 1009|191 26 | 36 | - | 975 | 21 |27 - M5%0.8P | M6*1.0P 2.9

-160K |261.75] 160 | 140.9|19.1| 26 | 36 | 78 | 975 | 21 | 27| 41 M5%0.8P | M6*1.0P 3

-200K |301.75] 200 | 180.9|19.1| 26 | 36 | 118 | 975 | 21 | 27| 41 M5%0.8P | M6*1.0P 31
-SFO8- 80K |181.75| 80 | 60.9 |19.1| 26 | 36 | - | 975 | 21 | 27| - M6*1.0P | M6*1.0P 2.8
-120K [221.75| 120 | 1009|191 | 26 | 36 | - | 975 | 21 |27 | - M6*1.0P | M6*1.0P 2.9

-160K |261.75| 160 | 140.9 | 19.1| 26 | 36 | 78 | 97.5 | 21 | 27 | 41 M6*1.0P | M6*1.0P 3

-200K |301.75] 200 | 180.9|19.1| 26 | 36 | 118 | 975 | 21 | 27| 41 M6*1.0P | M6*1.0P 31
-SF10- 80K |181.75| 80 | 60.9 |19.1| 32 | 42 | - | 975 | 24 |32 - M8*1.0P | M6*1.0P 2.8
-120K [221.75] 120 | 1009 (191 | 32 | 42 | - | 975 | 24 |32 | - M8*1.0P | M6*1.0P 2.9

=160K [261.75| 160 | 140.9 (191 | 32 | 42| 78 | 975 | 24 | 32 | 40
-200K (301.75| 200 | 180.9 [ 19.1 | 32 | 42 | 118 | 975 | 24 | 32 | 40

M8*1.0P M6*1.0P
M8*1.0P M6*1.0P

Sl

-SF12- 80K |181.75| 80 | 60.9 |19.1| 37 | 47 | - 975 |24 | 32| - M10*1.0P | M6*1.0P 2.9
=120K [221.75| 120 | 100.9 | 191 | 37 | 47 | - 975 |24 | 32| - M10*1.0P | M6*1.0P 3
=160K [261.75| 160 | 140.9 (191 | 37 | 47 | 78 | 975 | 24 | 32 | 40 M10*1.0P | M6*1.0P 3.1
=200K [301.75| 200 | 180.9 [ 19.1 | 37 | 47 | 118 | 975 | 24 | 32 | 40 M10*1.0P | M6*1.0P 3.2

-SF14- 80K |181.75| 80 | 60.9 |19.1| 37 | 47 | - 975 |27 | 34| - M10*1.0P | M6*1.0P 2.9
=120K [221.75| 120 [ 1009 | 191 | 37 | 47 | - 975 |27 | 34| - M10*1.0P | M6*1.0P 3

M10*1.0P | M6*1.0P
M10*1.0P | M6*1.0P

-160K (261.75| 160 | 140.9 | 19.1 | 37 | 47 | 78 | 97.5 | 27 | 34 | 42
=200K [301.75| 200 | 180.9 | 19.1 | 37 | 47 | 118 | 975 | 27 | 34 | 42

Sl
3.2

_._._._._._._._._._._._.

>r|p|P|v|N|(N|N|O|O|O|O|®|®|(® |00 OO O R

wlwlv[m|lw|lw|v[m|w|lw|N[mlww(N|[mww|N| =
w

A& ER:

T E L1 ¥ Length(L1)
Ih8

JJ#FE & Diameter
XS Holder type
$ARAZ I\, Taper size

102



HIETINR

48

BETRES e

-SK50-SFK #A457J#8 (4.55KE) K50-SFK SHRINK FIT TOOL HOLDER (4.5° SHRINK-FIT COOLANT TYPE)

FIG.1

FIG.2 D
SK/DAT
B L5|_4 2340, 5P
[ —— w£-__]<'58
L1 o @
\r mé
| L3 ULZ J]é
L %ﬁg
FIG.3 SK/DAT 4 Y
T L5
L4 | 2-M3%0. 5P
a B =) & ...} ol O
Lé\I
12
‘ L L1
L
Mg Model T1 FIG E& KGS
SK50-SF16- 80K (181.75| 80 | 60.9 [19.1| 40 | 50 | - 975 | 27 [ 34| - |16 | M12*1.0P M6*1.0P | 1 3.1
=120K (221.75| 120 | 100.9 |19.1 | 40 | 50 | - 975 | 27 | 34| - |16 | M12*1.0P M6*1.0P | 2 3.3
=160K (261.75| 160 | 140.9 |19.1| 40 | 50 | 78 | 975 | 27 | 34| 42 | 16 | M12*1.0P M6*1.0P | 3 3.5
=200K (301.75| 200 | 180.9 |19.1| 40 | 50 | 118 | 975 | 27 | 34 | 42 | 16 | M12*1.0P M6*1.0P | 3 3.7
=SF18- 80K |181.75| 80 | 60.9 [19.1| 40 | 50 | - 975 | 33 |42| = | 18| M12*1.0P M6*1.0P | 1 3.1
-120K (221.75( 120 | 1009 |19.1| 40 | 50 | - 975 | 33 |42| = | 18| M12*1.0P M6*1.0P | 2 3.3
=160K (261.75| 160 | 140.9 | 19.1 | 40 | 50 = 97.5 | 33 | 42 18 | M12*1.0P M6*1.0P | 3 3.5
=200K |301.75| 200 | 180.9|19.1| 40 | 50 | - 975 | 33 | 42 18 | M12*1.0P M6*1.0P | 3 3.7
=SF20- 80K |181.75| 80 | 60.9 [19.1 | 42 | 52 | - 975 |33 |42| - | 20| M16*1.0P M6*1.0P | 1 3.3
=120K (221.75|{ 120 | 1009 | 19.1| 42 | 52 | - 975 | 33 |42| - | 20| M16*1.0P M6*1.0P | 2 3.5
=160K (261.75| 160 | 140.9 |19.1 | 42 | 52 | - 97.5 | 33 | 42 20 | M16*1.0P M6*1.0P | 3 3.7
=200K [301.75| 200 | 180.9 [19.1| 42 | 52 | -~ 975 | 33 |42 20 | M16*1.0P | M6*1.0P | 3 3.9
-SF25-100K |201.75| 100 | 80.9 [19.1| 48 | 58 | - 975 | 44 |53 | = | 25| M16*1.0P M6*1.0P | 1 3.3
=120K (221.75( 120 | 1009 | 19.1| 48 | 58 | = 975 | 44 |53 | = | 25| M16*1.0P M6*1.0P | 2 3.5
=160K (261.75| 160 | 1409 |19.1| 48 | 58 | - 975 | 44 | 53 25 | M16*1.0P M6*1.0P | 3 3.7
=200K 301.75| 200 | 180.9|19.1| 48 | 58 | - 975 | 44 | 53 25 | M16*1.0P M6*1.0P | 3 3.9
=SF32-100K |201.75| 100 | 80.9 [19.1| 52 | 62 | - 975 | 44 | 53| - | 32| M16*1.0P M6*1.0P | 1 3.4
=120K (221.75| 120 | 100.9 | 19.1 | 52 | 62 | - 975 | 44 | 53| - | 32| M16*1.0P M6*1.0P | 2 3.6
=160K [261.75| 160 | 140.9 {19.1| 52 | 62 | = 97.5 | 44 | 53 32 | M16*1.0P | M6*1.0P | 3 3.8
-200K 301.75| 200 | 180.9 |19.1| 52 | 62 | = 975 | 44 | 53 32 | M16*1.0P M6*1.0P | 3 4
FA& 5 ER:
wﬁl K[ Length (L1)
T JI#FE 1% Diameter
IEEX S Holder type
AR T, Taper size

103




WRANFRE BIENSR  ALL RIGHTS RESERVED
PR, HINESSHEEN, HUEYIE, BARSTEMN

PRODUCTS ARE IMPROVED CONTINUOUSLY, EVERYTHING IS IN ACCORDANCE WITH
PRACTICALITY UNDER CHANGED OUTINE AND PARAMETER, AND WITHOUT STILL FURTHER NOTICE.

LR BN E B IE T BB R AFE

WAREFTHIKRRRERESE T —BCLA

EREE T4

TEL: 400-697-5558

E-mail: sales@ounuowei.com
ounuowei.1688.com
WWW.onwcnc.com

SNERSHE T4

TEL: 0086 537 6598237

FAX: 0086 537 6598237

E-mail: md3rd@ounuowei.com
ounuowei.en.alibaba.com
www.ounuowei.com




